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Introduction

Arabic Morphology (<2 .z (’_L‘) is a branch of Arabic

Grammar dealing with word-forms and patterns. It is
highly essential for the incumbent student of Arabic to
learn this science in order to be proficient in the language.
Acquiring an understanding of word patterns is of prime
importance in learning the language.

This is a comprehensive book dealing with all the
important aspects of the subject. If a student has to study
this book thoroughly, he would develop a very good
foundation in this science and it would absolve him of the
need to study any further books on the subject.

The Arabic names of morphologic terms have been
adopted instead of the Urdu forms commonly found in the
text books of Islamic seminaries. Thus I have used the

term (Z.«.LQ\ o) instead of (—edS™ (s, Similarly, instead
of writing (o—S ,>), the correct Arabic form of (i—S )
has been used while the term (u—a'pu*) is used instead of

(u—*b\") which is incorrect. This will enable the student to

learn the correct Arabic terms from the initial stages of his
learning.

Included also is a collection of rules of word-changes
which affect many Arabic verbs and nouns. The rules have
been clearly explained with examples and a step by step
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method as to how a word is changed from its original form
to its present one.

It is hoped that this book will be beneficial for the students
of Arabic Grammar and Morphology and simplify the path
to understanding the intricacies of the language. Amin.

For a detailed discussion on the name of this subject,
whether it is called Morphology or Etymology, refer to
Appendix A at the end of this book.

Some Useful Terms

Conjugation: A paradigm, class, or table of verb forms in
such inflected languages as Latin and French, where
elements are distinguished from each other by patterns of
inflection relating to tense, person, number.!

Declension: A term used to describe the case system of
nouns and other words.”

Inflection: The variation or change of form that words
undergo to mark distinctions of case, gender, number,
. . 3

tense, person, mood, voice, comparison.

Linguistics and Philology: The study of language.

Paradigm: pronounced (pa-ra-dime), in grammar, a set of
all the (especially inflected) forms of a word (write, writes,
wrote, writing, written), especially when used as a model
for all other words of the same type.”

' The Oxford Companion to the English Language, p. 256, 1992.
? Ibid, p. 281.

3 Websters Third New International Dictionary, vol. 2, p. 1160.
* The Oxford Companion to the English Language, p. 747, 1992.
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Arabic Terms

The following are some of the Arabic terms used
frequently in this book. It would be advisable to learn
them thoroughly as they are frequently used throughout
the book.

Term Meaning
doud A diacritical point _ denoting the sound
of ‘a’.
dow2 A diacritical point - )— denoting the sound
of ‘u’.
8 }«5 A diacritical point - — denoting the sound
of 1", ]
¢ Q )g-e A diacritical point - °— that serves the
. purpose of joining two letters in
0 pronunciation
C g | Aletter having a fathah, e.g. (&)
P Jo-h A letter having a dammah, e.g. (:Jb)

A letter having a kasrah, e.g. (&)

A letter having a suk(in or jazm, e.g. (:f)

is The three diacritical points, fathah
7 dammah and kasrah are each called a
harakah
g B A letter having a harakah, e.g. (&2)
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m\ cd

The first root letter of a word, also referred

to as consonant or radical, e.g. the (<2) of

-
s -

(=)

Z\.o.lQ!@.c

The second root letter of a word, e.g. the

(<) of (75)

LA e’ﬁ

The third root letter of a word, e.g. the (C)

of (=)

"

Word-form denoting the number, gender
and mood of the verb

g_.d\}gi

(<! #0) is the plural of (<) which refers

to a category of verbs belonging to one
class. The first verb of the perfect tense

(L;'p\l\) and the imperfect tense (¢ Ozl

are used to indicate the diacritical points of
the alphabets of the verbs.
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The Types of Words

Term Meaning Example
3 e word s
. -
2R o noun L .
(...»1 J->- D)
:},lé verb ;};-;
s 9o - | particle — it is dependent on either °
Jﬁ M . . . ‘:fﬂ
an (v_m‘) or (J_xﬁ) In conveying its -
meaning
With regards to meaning and tense, a verb is of three
types:
Term Meaning Example
Indicates the occurrence of |7 ¢
o\ N L
O an action in the past tense. It He
is referred to as the perfect | did.
tense in English.
Indicates the occurrence of | *-°- .
2. . . ledy -
&)L‘A an action in the present or : - Hels
future tense. It is referred to | doing or he
as the imperfect tense in | will do.
English.
fﬁ),‘ a command =~ You
do.
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Transitive and Intransitive Verbs

Term Meaning Example
U Intransitive —does | ° . He is
£ not require an object | & -
walking.
Transitive - requires | - A2 L .
) ) L s —
sl an object ' — =2 - He is
opening the door.
Positive and Negative
Term Meaning Example
L 2 o
<L) positive J=& — He is doing.
. 2 ° -
b negative J=& Y — He is not doing.

The terms (<) and ( &) are also used.

Active and Passive

Term Meaning Example

: tive tense — the doer | *-°.- ) )
B | X oe iy - .
J of the action is known 2 — He is doing

Js#

passive tense — the doer
of the action is not
known

2 o
P
J&ﬁ.&

done.

— It is being
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The Second Category of Verbs

With regard to the root letters (%-L\ai}“ =P &) of a verb, they

are of two types:

Term Meaning Example
G 3 root letters or o
< triliteral T
L 4 root letters or ce -
T quadriliteral T

Each of these two types is further divided into two categories:

(1) (>,5)—the (L;'p\l*) consists of root letters only, without

any extra letters.

(2) (4@ Ay ) - the (SJoU\) has root letters plus extra letters.

This results in the following four categories:

Term Meaning Example
5,2 ;;YW 3 root letters only ;;m,
4h A5 Ls’y\-’ 13ettr§:t letters plus extra L,,.E_; ‘/
52 gs’LU 4 root letters only ;;J
ad Ay 5o g;b) ?ettre(;(s)t letters plus extra ;}:J—;«f
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Exercise 1

(1) Determine whether the following verbs have 3 root-
letters or 4 root-letters.

(a) JST

s 0 -

b) z~>
© >
(@) 45
() a3
(2) What do the following terms mean:
Term Meaning
2l
S
,A;Y\
F
> &
ad A e
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Types of Nouns

(1) There are three types of nouns - (s&*)):
[a] jae, [b] G2t and [c] Aol
(2) The (y*a—s — verbal noun) is a word that indicates the

R0 &,
occurrence of an action and is free of tense e.g. ( ré—ij\) -

to assist.

(3) The ((3x%—=) is a word derived from a verb e.g. (i_¢U) -
helper is derived from (;-:23/).
(4) The (4—=>) is neither a (- a—=) nor a (Gis—s) e.g.

(‘_};.-;) — man.

(5) The (y»~——) and the (ri—) also fall under the
categories of (L;W), (69\—U), (> —=) and (4—2 A —; ) like
the (J—xé). The categories mentioned under the verb like

(C?up) etc. also apply to an (v-w\).

(6) The noun (4—=l>) with regard to its letters can either

have three root letters (triliteral), four root letters
(quadriliteral) or five root letters (quinquiliteral). It is
therefore of six types:

[11(>,2 SW) e.g. (J>3) —aman
[2] (4 k3 SO eg. (Jlo) — a donkey
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31~ Flyeg. (L}Zli«) — scorpion
[41 (s 3o 2o eg (BT - paper
[5] (2% L) e (i) - quince

[6] (4 Lo ol eg (5558) —a
spider

(7) The scholars of morphology generally deal with the
(J—xé) because most of the changes (<& .2—5) occur in a

(‘_)_xé) while few changes occur in an (v—w\) and none occur

ina (< ,>).

Page 19



The Scales of Verbs

The Arabic verb is constructed from a root which usually
consists of three letters called consonants or radicals.
These consonants form a kind of skeleton which
constitutes the verb-stem to which prefixes and suffixes
may be added.

Arabic verbs are mostly triliteral, that 1is, they are
constructed of three root letters. The simplest form of the
verb is the third person masculine singular of the perfect

tense (—>W =il (w5 SU_s 4 >)4). In most
dictionaries, all the words derived from a triliteral root are
entered under the third person masculine singular form of
the verb.

In Arabic, there are two main tenses, the perfect or past

tense (u—«b\l\), denoting actions completed at the time to

which reference is made; and the imperfect (¢ e L), for

incompleted actions, referring to the present or future
tenses. The present and future tenses are thus expressed by

the imperfect form (¢ Jlz_ll). The imperative ( J_A;Y\) may

be considered a modification of the imperfect.

To indicate patterns or type-forms of verbs, the

grammarians use the three letters of the verb (J_;-'%), where
the (<2) represents the first radical of the verb, the (C)

represents the second radical of the verb and the (J)

represents the third radical of the verb. This is the scale

Page 20



(O‘}_:ﬁ) or standard by which the root letters of a verb are
determined. Accordingly, the word (:.,—«:f) is on the scale
of (J;fe), (;—Ké) is on the scale of (‘_}—i-é;) and (;_éﬁ)

°
A

is on the scale of (Jxéf).

The letter that corresponds to the (<?) of the (O —r) 1S

called the (Ai—JSJI ¢L_3), that which corresponds to the (¢ ) is
called the (?\—;JQ\ :3;—/9) while the letter corresponding to
the (J) is called the (A oY),

Example: the word (:.,35) is on the scale of (J;fe):

D —

d ¢ <@
1]

o o
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Exercise 2

(1) Determine the scales of the following verbs and what
each letter represents. The first one has been done for you.

(a) (=) ,
d ¢ <2
y o ©

The (0) is the (2l £b), the (o) is the (A—olSJl s, the
() is the (21501 3Y),

b (@D

2 .

© (&
@ (=)
© ()
O G
@ ()

DR
O JL

G (E

Page 22



The Categories of Triliteral Verbs

(3,21 S & g
(1) The first and third letters of a simple triliteral verb in
the active tense is always vowelled with a fathah (i—><3).
The second letter or radical may be vowelled by a (i—>),

(%e2) or (5 —S). The active perfect tense ( —>W) |—=dll
=y J—xl\) of triliteral verbs (> —= 6_)3&)) is used on three

scales:

[a] J e.g. (559)

[b] Jsb .. (o)

] S eg ()
(2) The conjugation of the (;}—x;) and (;\_;;) forms is similar
to the conjugation of (;};;).
(3) The imperfect tense (<2 I sl of (;}—;;) is
sometimes (:}_;;-:) e.g. (}c:_a; /cf—';) and sometimes (i}_i:b:)
e.g. (;LZ }@{) and sometimes (:}_:i-:) e.g. ( /u;_:a
& ).
(4) The conjugation of the (i}_i:b:) and (i}_’;-g/) is similar to

the conjugation of (J:'-i;).
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(5) The (<2 9 ,—=s ¢ Jlas) of (;}—x;) is sometimes (:}—;ji;) e.g.

20 - - o - -

(g2 o) and sometimes (:}::i»:) e.g. (:_M&u o).

(6) The (<33 s ¢ Lia) of (J—=b) is only (i) e
)

(7) The (J 5= o2W)) of all three scales is (;}f.g).

(8) The (J 3¢ ¢ ,Lias) of all three scales is (Jw)

(9) Based on the above-mentioned facts, there are six

categories (< ﬁf) of (5 ,= 6’%) which are as follows:

28 o -

(raz »2)())

(© 12 25) (Y)

(75 75 (1)

(ot &) (8)

S )

(Gt T2 (V)

(10) There is no rule to specify which verb belongs to

which category («~l—). It is based on (é\_n”) — as heard

from the Arabs. One can also ascertain which
category a verb belongs to from a dictionary. There are
however certain guidelines which are as follows:

[a] If the verb belongs to the category of ( /c:_e
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°
- .

c:—é) the second or third letter will be from the ( <9 ,—>

0 Lo

ik’ e (3 033), (JU U0, (o 5.

[b] If the perfect (—>W |—=4ll) is of the form
(J—=3), the imperfect & Hle ‘_)_x-éj\) is generally from the

20 - -

category of (C‘“"“"’ c«-:ﬂ).
[c] If the perfect (Fﬁo\l\ J=a)l) is of the form (J—i-é),

the imperfect (¢ Jba— U | =dll) is generally from the
category of (é‘jgg/ %-jf)

Exercise 3
To which category («—\'—) does each of the following verb
belong:

-

(1) (Sry &)
@ &5 &
(3) (4 o4)
@ (s k)

(5) (3 fm 3 )

> The (4il> 24 ,~) are the following six letters:

('Ccicccicoc;).
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The Perfect Active Tense (— 3 ! LS“"LU)

(1) There are 14 word-forms (4=—») of the perfect tense

(o—>W =4l All three diacritical points or vowels

(wLS" >) can be used on the (Ai—ISJ\ <) as is apparent

from the above-mentioned six categories (< s1).

(2) The Arab Grammarians usually begin the Perfect ( J—=4l
L"5_.@\.&\) and Imperfect (¢ sba Ll L «dll) conjugations with the
third person (——\¢), followed by the second person

(<b2) and finally the first person (r&»).

(3) Unlike English, Arabic also has a dual form for the
second and third persons. As for the first person, the plural
form is used for both the dual and plural.

(4) Hereunder follow the paradigms of the perfect tense.
Note that the first three froms are for the masculine while
the second three are for the feminine of the third person.
The following six forms are for the second person, the first
three being for the masculine and the second three for the
feminine. The final two forms are for the first person.
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Sl Qg At oW Jadlh
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Exercise 4

Conjugate the following verbs in the perfect tense ( —>U!
<2 5 ~ll) in table form :
@ (L Ty
(b) (= o)

© (& %)

(d) (x5 &
(@) (JeX |53)
) (X LE)
@ (B o)
(h) (o= o)

(i) (o Ao

() (& I
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The Perfect Passive (J 5= 2U))

The (Js—¢=! rb\l\) is constructed from the ( rﬁp\l\
<y, =ll) in all triliteral verbs ( > ,—= gf“w) If we take the

first verb, namely the third person singular form, (J_;é), a

(e—>) is rendered to the first letter, a (& ,w—{ ) is rendered

to the second letter while the third letter remains in its

- A
original condition. The result is (J_x-;). No matter what the

(2\—< ) of the second letter in the active tense is, in the

passive tense it will always be () r&,«), Examples:

Active — (< 3 20) Passive — (J 3¢2)
& &
2l 0

Note that the intransitive verbs can be used in the passive tense if

they are used with a particle (=2 ~), e.g.

(4 &»3) — It was taken.

Py
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Cuidl J g gau‘ Jadlt

Word-form Verb

singular masculine 3™ person -

dual masculine 3™ person L

p s

lural masculine 3" person ot 7
p p

‘ j‘l”

singular feminine 3" person o T2

dual feminine 3" person P

p B las

o
Yo

plural feminine 3" person

B

o
‘o

singular masculine 2™ person

A
%
\

o
‘o

dual masculine 2™ person

\
%\
\

‘o
o
o

o
i
A

- d
plural masculine 2™ person

°
o

p T . d
singular feminine 2™ person

dual feminine 2" person T
plural feminine 2™ person s 5!
- . 5
singular first person s 00
dual and plural first person R
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Dy all ol fadl

Verb Pronoun
LT Py
J.e (A oA
LT P
Uxs G Lon
o}// - o &
\j.bo G .
o“ - L; :-SA
S0 . 8
Ll L
PR G s
P . of
e G ol
P A o 5of
s Le Lol
s G e
°/f _ z
cdxe G o]
P A . s0f
dxs G e
s .7 . & s0f
2das G e
s 0T £
e G H
/B/,/ - Lo ¢

The words (L;) or (:Y)

are used for the
negative sense. To use

) with (—>W), the
condition Es that the
(:Y) must be repeated
eg.

(e ¥ 5 GBI ),
The column on the
right indicates how the

pronouns ( Sle—>) are

used with the verbs.
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S 3! ool Jadl)

Word-form Verb
Sl Jx.: G
S e
5 52l s
L\ e U
Sl EREW
L) J:t.: G
bl e

Sl G G

5 bl e G
RRIY e U
Sl Gl G
ol “ e G
S e G
) e WSS le.e G

Note the Arabic terms used for the different word-forms in

this table.
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Exercise 5

(a) Translate the following sentences:

STA A ()

T
SALES LA ()
X dLEE.J\ (%)

£ of

G g,.lf\ Cy (®)
&J”“m .
V_u\ w c_,.S\ %)
JEESUNNEESET. RN

i G o> ()
vﬁy \"“‘?’ Lo (V)
(b) What is the (42») of the following verbs:
[1] (@ 034, 58 a5 e A 38 1 (5
2] (LS U3 )

3] (Sl o 1S 5 05
4] (OIS L)

[5] (42 & orod)
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[6] (50 Vst )

7] (Pl Sk »-5)
[8] (v-l—w0 539551 13]y)
[9] M—s 3 &b

[10] (WAE)) )

(c) Are the following verbs (<2 3 »s) or (J s¢2)?
(115

[2] (uu)

3] (w@a)

[4] (2=)

[5] (K23)
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The Imperfect (t)\-»fa&\)

The Imperfect (C HLal)) is formed by adding prefixes and/or

suffixes to the perfect tense. The prefixes can either be any of the

letters (;'J-:ﬁ). The suffixes may either be (O), (O3), (o) or just
().

After adding the prefix, the first radical or letter of the verb has
(Ojga), e.g. the (<2) of (J;-ig/) has a sukiin. The second letter
can have any of the three harakat, depending on which category

(<L) the verb belongs to.

In the indicative case (8 I dl>), the final vowel of the third

radical (3.«.&.3\ (}[) is (4e-2) in the singular form of the verb, e.g.

2 oz 2

(J;;i.;), (J;céf), (J;-%T) and (J;JJ/). For the subjunctive case ( >~
-2J)), this (4e?) is changed to (i=3), e.g. (Jx&), (J=d),

o
//.;

(J=3)) and (J;-éf); while for the jussive case ((,‘4.—* ), it is

replaced by a (Ojg‘w), e.g. (:};:i;), (:};-Zf), (:};;T/) and (:};-25). The

changes in the singular and dual forms will be discussed later.
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Sl g Al g gLl fadl

Meaning Verb
He is doing or he will do. ol
They (2 males) are doing or they will do. oUs :
Th lural mal doi th ill do. ;o’/i/
ey (plural males) are doing or they will do g ;
She is doing or she will do. 2t
They (2 females) are doing or they will do. U

They (plural females) are doing or they will do. -1t

You (1 male) are doing or you will do. 2t
You (2 males) are doing or you will do. oUass
Y lural mal doi ill do. o1t

ou (plural males) are doing or you will do g

You (1 female) are doing or you will do. oz
You (2 females) are doing or you will do. oUasf
You (plural females) are doing or you will do. - V-0
I am doing or will do. * ok

Sl

We are doing or we will do. 2l
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&;-:3&“ d}-éé‘ ﬁ)L;el\ J.'.éj\

S DAt g gLl fadll

ﬁ5‘5.-.3.\ Js é)l.;e.u J,usj\

Ol olass ¥ olak ¥
e SRR CRAN

TRV
du:uv Y

PR PR PR 14
Ql”-i ulﬂ-i M ulM-g Y
}/a.) }/a.:/ }/a.:‘/
o JaiE Y i Y

<% 4 c 0 - <o, -
OUads Ol Y OlUsss Y
- - -
/.aio} /.aio./ /.ajo.:f/
J i djl;tﬂjy djl;tﬂ.‘ ‘}!
/5/°} /5/0// /5/01/
. b . 5 Y R b y
*/ */ */

%4 < °_ s 047
OUass Olasi Olass Y
- - -
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Exercise 6

(1) To which category («~\—) do each of the following

verbs belong:
@ (G2 )
(b) (s o)
(©) (e Li5)
(@ (e el
© Gl )

(2) What is the (422) of the following words:
Oyl ¥ ol Uy (1)
SR L o Uy (T
s Ay Y o) ()
GMLJ OTREN IS
sstoi (o)
djﬁze ey i\fof N @)
IV LSBT (v,

-
0 S0 -

ol Ogmas 5 ()
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The Imperfect Passive Tense (dj-@-é:" i)\-«,'a“)

The (J s—g¢=! C)Lb—&\) is constructed from the (¢ Lol
<y ,—l) in all triliteral verbs (>,— ). If we take the
first verb, namely the third person singular form, (:)_;-:5;), a
(%e—>) is rendered to the first letter which is the ( a—sds
CJL?:—U) — sign of the imperfect tense. A (—>=2) is
rendered to the (i—adSJI s while the (A—elSJ) )
remains as it is. The result is (i}_;;:). No matter what the
(S >) of the (i—olSJ) ) in the active tense is, in the

passive tense, it will always be (C ss). Examples:

Active — (< 94~ Passive — (J )
t C -
L =
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Exercise 7

(a) Translate the following into English:

Oslt o2y oty Los Jer ¥ (V)
S S (T
oWy e S ()
e B S B ()
] 2 R 2 B ¥ 5.°%4°
SG b (sdibl oL i 2 (o)
(b) Translate the following sentences into Arabic:
[1] The door of the school is being opened.
[2] He is being sent to Madinah.
[3] The disbelievers will be defeated.

[4] The car will be left on the road.
[5] The book will be read today.

e e

(c) Conjugate the following verbs into the (& o= S—

Jse2):

(®) (9 (M) (M) )

° B

2 - 2 o - 2 o, ~ },}.o/ 2 o~
A ¢ fbx x|
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The (4ol 24 >)

The (2l <35 >) are: (OD), (), ((S) and (O3). When they

precede the (¢ ylas |x2), they render (=) to the following

five words:

S She sty ¢ JRE ()

2

-

gy ¢ R ()
Pl S oty ¢ B ()
Ko sty ¢ i ()

Mo g ¢ o (o)

The (&) J&\j\ O ) of the following seven words is deleted:

i Se s ol (1)
S S g O3 (1)
LI s a ¢ OURE (1)
ol Sie s ¢ oUad (8
ol S g OYE (o)
PP gy ¢ SRE ()

ol uywccu;ﬁ(V)

The following two words remain unchanged:
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S g CA\ ¢ :J.l;.a; )
Pl Eige ad Sd (Y)
The word (:'JJ) changes the positive imperfect tense ( ¢ Hlas

<) to negative ( ) with emphasis.

The paradigms of (<2 g =) — the active tense and (J ¢=) — the

passive tense — when used with the other particles, (1), (Z;) and

(03)) will be the same as was in the case of (:'JJ).

Examples:

Z I’ °

2 o ° g L L
Volady O Magy O Jri O

o & o - - ° - - ° -
‘/./Z; /./Z; /./:;

20 o
-

Volady 03] Sy 03] Jrd 03)

Hereunder follow the paradigms of td Hlas Jxé) when used with

the particle (ZA).
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Sl o o) o 45T
Gyl i)

s 0 -
)
‘Pw..‘rs

P -
s .7 0
- )

oy

s 0 -
/.:DS

s © I’
/.:DS

o o -
e s .7 0°
[¢ T"'::'L» ( )

' o '
s 2 0
J”"w uj

s © I’
/.:DS

Vol )

o -
I - e
6'““8 uj
.

el -
rd e
Urds uj

o o -
- e e
J"‘"‘L’w uj

EE

s 0 -
/../55

Jodlt o o) g 1 45T
Jsest Jenndl

L %ae T

-

“.° 5 :Jj

Jog

//D,:fo/

//o}:Jj

o o
- /,)‘5/5

//°,£o/

//o}:Jj

Volail )

°
O/"/'GO/S
.

//a,)‘ :Jj

- B/o.:f ° /S

ER

//a.:‘oz
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Exercise 8

(1) Conjugate the following verbs using (QQT/):
:}*4’” )
P ()
S
SNy

<A (0)

(2) Conjugate the following verbs using (;5-/{):
k()
B (M)
2 (T
ALy ()
S (2
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The (L)l 5 )
The (ajlr 3m) are (@D, (D, (&), Y1 AV and (53

g;@'fj‘)’ When they precede the (§ ,Las J=9), they render (p )

to the following five words:

S Sy ¢ RS ()
gy ¢ RE (T)
ol S oty ¢ R ()
o sty ¢ i ()
o g ¢ o (o)

The (& ,9})\ O &) of the following seven words is deleted:
e Sde aw o ol M)
S S g O (v
Lo ge 2 ¢ OURE (1)
Lol STUe a4 o OUnis (%)
P S e OYE (o)
PP i oty ¢ S ()

-

ol ujﬁmmu;ﬁ(\/)

The following two words remain unchanged:

S Else i ¢ hai (V)
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Pl S g i Sd(Y)
The word (;J) changes the positive imperfect tense ( ¢ JLAU

<-2) to the negative perfect tense (2l 2.

The paradigms of (<2 9 »») — the active voice and (J s¢=) — the
passive voice — when used with (O)), (\-&J), (}‘Y\ éY) and ( ¢V

g;@'fj‘)’ will be the same as was in the case of (;J).

Examples:
4—
o /5./ ] - /a./ 0. o /O./ o
Volagy O] Mgy O Jx.&i ol
o 4o a/’ SO a/’ ° o, @/’
| leiy SHEW Jair G
B -} - ° ° o

The word (\1-5) means ‘not as yet’. Thus (J:d; LfJ) will mean ‘he
did not do as yet’.
The ( ,:Y\ éY) enters all the word-forms of the passive tense

(J +¢=). In the active tense (< 9 2#), it is only used in the third

person (<) and first person (("&:”) word-forms.

If any of the (& jl> 24 >) precede a (CJL»Ja-A J=2) whose ( (Y
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Sy is a (Ala)) O3 >), the (3l <2 ) is deleted.

Examples:
—

(2 5 Example of Example of Example of

) () ) U
TR
W] Fudd o G e G

A | e Lo o

U FuN SN Y

Hereunder follow the paradigms of & Hlas ‘_}xé) when used with

the particle (;J).
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gl e o e
JJJA\

o ° -
s 0
‘PUU"H

s 0 -
s 0
..(’J

o ° s
/':OS

s 0 I
/':OS

o o -
I’ s .7 °
[¢ 7'""» -

o o -
sz 0
J&ﬁ’: (’J

s 0 I
/':OS

° -
o |- .,z 0
le&é:vj
s

s 0 P
pa s 0

o ©° I’
//’:DS

ER

o ° s
/"/OS

gotalt e o g 1 45T
Jses!

° /n.} ;j

//o};j

°/°~.’f;j

I ;j

- °/°,} ;'j

° /n.:f ;j

%3 ;j

° /D..,f;’j
s

%2 ;'_S/

o o
- /.3}5

ER

° /°..ﬂ;j
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Exercise 9

(1) Conjugate the following verbs using (;J):

N

£ 0 -

)
(M)
(M)
(Y
(®)

)
Q)
(M
(9
()
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The (V) and (05) of Emphasis

(499 S & éY) — The Energetic Forms

(1) To create emphasis in the meaning of (z slzae J:-'%), the ( éiﬂ
%/5%3‘) is prefixed to it and (& O ¢) or (44> O &) suffixed to
it. The (& O 5) is (30%2%) and is suffixed to all the word-forms
(éj”)- The (&> O ) is (oS L) and is not suffixed to the
(45) and (&5 3+ 22) word-forms.

(2) The letter prededing the (& O5) is (r se) in the

following word-forms:

R s S sy ()

LR sl g sy ¢ JE ()
w_,@u;x.\}\j@;ﬁm

°
4 7 %z7

:;,l;.éU_v.lgz.e Al ¢ J;.ef(i)
e (..K.,@ ¢ R (o)
(3) The (<! #Y O ) is deleted in the following words before

attaching the (&S o $):

¥ - o0 -

Olas) — Csle STk auw ¢ ollai; )
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S s sl e 0 ()
Sl _ L3 e s i ¢ Ollai (1Y
Sl _ ol S ags  olaE (8
o ol S a0 (o)
i ol e ety S ()

¢ o0 -

Oladd _ ol Eoge aa  OUsd (V)

(4) The (&) of the (4:%) is retained while the (A& O &) itself
becomes (Jngﬁ), e.g. (:ﬁ\j:zj)

(5) The () 3) of (S e &) and the (¢$) of (&4 3 4> 9) are also
deleted. The (4w2) before the (s 9) and the (s Jmf ) before the
(¢$) are retained, e.g. (Zj;;-j) and (Z,l;:iﬁ/).

(6)In the (<&- §» CA.*) word-forms, an (<)) is inserted between

the (O 5) of (22) and the (&5 O §) so that three niins do not

occur in one place. This will occur in the following two word-
forms:

¢ o o -~ o o
Olladd — 5 i ma ¢ lads (V)
¢ o o - o o
Ol — ol &ige ma ¢ olad (Y)

(7) The (& O ) itself is ( jw-{ﬁ) in these two words. In short,

Page 51



the (A& O §) is ()jmiﬂ) after (<)) and (CJJJU) in the other

instances.
(8) The (44> O ) is similar to the (A& O &) except in the

(4:5) and (&5 e &) word-forms. The (Aa>= O &) is only used

in those words where there is no (qd\) before (M Os) and
these are eight word-forms.
Once (A& O4) and (s> O ) enter a (C)L,'m J=3), its

meaning changes to the future tense.
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DA g el

\
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Exercise 10

(1) Conjugate the following verbs using (i—L& O s ) in the

active and passive tenses:

B }D

;

£ 0 -

- -
. S
\ o
o ° 1 .
E1SEIN sC o\

(-
b

(2) Conjugate the following

active and passive tenses:

m\n
o
\

‘o

N\

o \
\ k3

Su

e
o
©
\

1

-
-
AN
0.0
B
vt

)
(M)

(M)
(9
(®)

verbs using (A—&4> O s) in the

)
(M)
(M

(Y
(®)
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The Imperative ()

The (,—>o> J_AT — imperative second person) is constructed
from the (¢ La» J=3) in the following manner:

(1) The (C JL'@_U i_Me) — the sign of the imperfect tense -
is deleted.

(2) If the following letter is (& — =), the final letter is
rendered (Qf L+). Example: the verb (fbu:) changes to (lf).

(3) If the following letter is (-5 L—), a (J—e ol 6 ;) is
inserted at the beginning and the end is rendered (Qf L),

(4) If the (A—olSJ) x#) has a (Re—>), the (J—wo ol 5 ;) is
rendered a (4e->). Example: (;:425) becomes (;aff).

(5) If the (:\,,_&_5\ o) has a (—>=8) or (6 S ), the (& ;—
e o)) is rendered a (35 ). Examples:

(}cf;'f) becomes (ocf;l/).

(& 25) becomes (& 2.

(6) The (<) —=Y! O ) is deleted while the (3 sen—dl O 53) —
the ntin of the feminine plural - is retained. Examples:

(OUxsd) becomes (Uns)).
(:*,l;-éf) becomes (;');él).
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(7) The (Ai—al 2 ,—>) at the end is deleted. Examples:
(}}935) becomes (}CBT).
(;5/»:5) becomes ((31).

(gs‘}“;‘f) becomes (Z};—l).

(8) The imperative of the first and third persons ( J—AT

("K“ Ly C 5\l is formed by adding a (eY) at the

beginning of (¢ jla—s |—=3). This (»Y) has the same effect

on the verbs as (;J).

(9) The (-X_SU\ (Y) and (A_;U\ O +—) can also be attached

to the ( JAT) word-forms.

Hereunder follow the paradigms of (<24 —=l J—A%!\ - the

imperative active) and (J s—¢=! J—f}!\ - the imperative

passive).
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Exercise 11

Conjugate the imperative ( J—AT) of the following verbs in

the active and passive forms first and then conjugate them

using the eyt #Y) and (S O $):

b ()
= (M

2 o -

> (V)

2

Jee (Y
= (9)

The Prohibition ()
(1) The particle (:Y) is used before (C Gl - J—é) to denote

prohibition. It has the same effect as (;—5) in changing the
different word-forms.

(2) The (i—L& O &) and (i—aé> O+ ) can be attached to all

the forms of (g;@"J‘)-
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Exercise 12

(1) Conjugate the prohibition (. &—) of the following
verbs in the active and passive forms first and then
conjugate them using the (&S | eY) and (S 05

20 -

s QD)
A~ M
(M)
(o
— °)

HEAN ()
Y (M
AN
Y ()
d\.:.;;;.f N (®)
g2 Y (Y
SEEEY (v
SAY N
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THE DERIVED NOUNS (aizzll (V)

The following six nouns are derived from the verb:
il (8) Jradd ol (7) Jpmdll o (1) Jeldh o (1)
S BN eh (1) AV sl (0) Al

The Active Participle (=&l 1)

The active participle ( sl 1) indicates the person or being

i -
from whom the action emanates, e.g. (C»\-w) — a person who

listens.

In 3-root letter verbs (> 5 L“;)U), the (J;LAS\ v-w*) is formed by
adding an () after the first letter, rendering a (¢ f»f ) to the
second letter and (' s5) to the final letter. Thus, (L};-';) becomes
(Z}-G\-';). In the dual forms (%), (<)) and (O ) are attached to
the end, e.g. (OS’\&\-';). For the feminine form, a round (?) is
inserted at the end. For the masculine plural ( Jf Jo CA.*), (©9)is
inserted, e.g. (b;j./c\-';), while for the feminine plural (<5 §» Cé’r),

the syllable, (<)) is attached, e.g. (i*f)’\&\é). There are three

scales for the masculine form and three for the feminine form of
the word.
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LE S Joul ol
S e Al g :Lc\.e
e a5 DHels
S e ujx;u
Cige A :l.cu
Lige & odsts

In the indicative case (cé)\ U>), the (%) is used with an (&)
while in the accusative and genative cases (,&!y —wadl dl>), it
is used with a (¢$) preceded by a (4>3). The (O &) of the (%) is
() 5S9), g, (Oeld) and (o2l

For the masculine plural in (8 Al dl>), a () is used while in

(J’;T‘) \f"’gﬂ 2\-“-"), a (¢$) preceded by a (SJM{) is used. The
(O 5) of (&) is (7 52), e.g. (/dji./c\;) and (;r{./c\;)
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Exercise 13

Conjugate the (¢! o) of the following verbs:

e ()
e M
S D
o
B (9
LE ™
e
cA M
X (%)
Hao(00
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The Passive Participle (J 524l +)

The passive participle e fJ-U V-w\) is that entity on which the
action occurs, e.g. (&};;;) — the thing which is opened. It is
formed by adding a (C $las ¢) at the beginning, a (9) after the
second letter and (_y +5) at the end. The first root letter ( o S~

gsl"‘i) becomes (Qf L+) while the second one becomes (p o).

The additions for the dual and plural forms are the same as the

(Jeldl o). Like the (JsW) o), it also has six word-forms.

i)l J ) e
S e Al g J;iu
S as RN
S par B
RPN s
g A5 dufw
O LY
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Exercise 14

Conjugate the (J j*-él‘ v-w\) of the following verbs:

SN
S M
=M
(Y
a9
JRE
BN
L
J®
S0
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The Elative (-2l )

The ( Jevaid! ~) is a derived noun that indicates the comparative
2 P Df
or superlative degree e.g. (J«'ﬂ*) — more virtuous or most

2 oy

virtuous. The scale of (J;éf) is used for this purpose, except for

colours and defects. In the case of colours and defects, the scale
of (30) is used for (igeill 2iall) e.g. (3) - red, (osl) -
blind. Tanwin never enters the end of (24! 1. The ( (v-w\
Je28l) generally renders the meaning of the doer (_}<1) but

sometimes it can render the meaning of the object (J sm2s), .8

f2o0, z
(,¢>1) - more famous.

Hereunder follows the paradigm of the (_je24! =)
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S e A getl
S 4 oY
e el e
B o
i ol as s
Ligh peSe pi e
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Exercise 14

Conjugate the (J:#aiﬂ* v-w\) of the following verbs:

o)
LM
e (D)

()
a9
JRE
BN

(M)

L=

&0
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The (igiw d20)

The (igiw 42w) is a derived noun referring to the permanent
quality of an entity, e.g. (J;s.;.-) — beautiful. The (J-GU-S\ ("“‘) on

the other hand describes a temporary quality e.g. (&A\.;e) -
listening at the moment. A person will only be referred to as

(i,) )U>) if the quality of (q;b) emanates from him whereas the
attribute of (3‘:“';’) applies to a person all the time.The ( ixe
ig.i) is always intransitive ((j}[) even though it may be
constructed from a transitive verb (($-4=x). Hence the difference
between (&\:ﬂ) and (g.f.;) is that (&LL) indicates a being

listening at the moment while (2_;«:») indicates a being which
permanently has the quality of listening even though there may

be no object. Therefore one can say (Clus aﬂu), but to say
(clLls ’gc;,_;) is incorrect. The (4gwies 42.2) has six word-forms
like the (Jsl! o). For the dual and plural forms, changes are

made to the end as in the (J-GU-S\ ("“‘)'

Hereunder follows the paradigm of the (igwive d20):
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i, 1 inie 44

Cisedgs | OELE

The (4g~iws 420) is used on many scales for which there is no
rule. It is based on (t\ﬁ) — as heard from the Arabs. Sometimes
a ('), (9 or () is inserted after the second alphabet, e.g.
(é\}aiv) (3;-:)) (f.,a-s ,w) Sometimes the root-form remains
intact but a change occurs in the harakat, e.g. (L;:@), (q:.,,-f;.-),

°

o, .
(). Some of the more common scales are listed hereunder.

Scale Example  Meaning

Ha s handsome
J&Q Jﬁh}

2R 2 .

Ji; v!. ;U. 1mpure
28 A2

J\.;.'e «é 2 s, brave
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The Noun of the Instrument (V! )

The (&Y 1) is a derived noun that indicates the instrument

used for the action. It is formed by adding a ( )M&,, ¢) at the

beginning of the root letters. It has three scales.

Scales -°, nee, Oleie

Examples e ?\-;-}Jn CL"‘""

Meanings | needle fan key
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The paradigm including the dual and plural cases is as follows:

Scales Examples
R )

-7, )
OUnis OV izl
. . .
Jelis ol
ai:/o 1,‘:/ o
RIE O ks
. . .
J.GLA.; :,‘,p\.:.;
8 o

- L -]
OUlkds O Lae
; ° /: /)\o ///
Jeslis el

Sometimes the underived noun (4sl>) is used to denote an

instrument. Different scales are used for this purpose but there is
no rule for arriving at a particular scale. Examples:

28 2'/ ®o R : 2 og
(L) - axe, (p943) - adze®, (QSM) - knife.

® Adze: kind of axe with arched blade used for shaping wood.
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Exercise 15

(a) Conjugate the (JY/! o) of the following verbs:

By k@] M| S =B

SToo] @] &S| Bsm| LeEo

(b) Identify the derived nouns in the following sentences:

sy ol el 5 81y ol sl sl ()
el ) galadls 33, L1y 3L (Y)

i g Ol STy de g a ) e Ld Bl (e L (T)
0Vl g JLSU 525 Yy (8)

e liay lia Led oy (0)

- e s 5o 51(‘\)
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The Adverb (< L)) )

The (< L) V-w\) is a derived noun that indicates the place or
time of the action. If the word indicates the place of the action, it

is called (OL{.\\ 2 Jﬁb) and if it indicates the time of the action, it
is called (OLAJ'J\ d}a) It is made by adding a (Cj-i» ¢) at the
beginning of the root letters. It has two scales, namely (Z};:i-;) and
(z}fll). If the (§ L) is (Ul = 580) or (Upad) g 5oz or
(L23L), the (< L) 1) will be on the scale of (z};:fi-;), e.g.
(i), (rae) and (o). IF the (¢ L) s (sl 5 5Sa) o
(), the (<=2 L) ') will be on the scale of (sz':’)’ e.g.

(& 22) and (2555).

The paradigm including the dual and plural forms is as follows:

4—
c? dui 4>
S L0 P scale
J.C«Lu OM J:J.A
3 e L e » Lo example

The (<2 L) V-w\) is often constructed from the underived noun

(4sl>) on the scale of (4=é%) to indicate an excess of that object

in that place, e.g.
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(5255 — a place of many lions - derived from (31) — lion,

R
o 8

0 -

(4=ews)— a place of many predators - derived from (@:ﬂ) -

predator,
(s = f/) — a place of many ducks - derived from (g@) — duck.

There are certain words, which according to the rule should have
a (i=3) on the ()51 (1), but have been used with a (5 S

instead. These may be regarded as exceptions to the rule. The
scholars have written that it is permissible to pronounce these

words with a (4>2) as well. These words are:

Word Meaning Word Meaning
s o - place of s, 0 - place of assembly
ores . poner
. prostration .
“ °) - place of rising ”j .o - place of falling
"Le place of staying B,i; intersection
s e place of ® oo - place of slaughtering
P slaughtering o
# oo place of soo east
: germinating O
® .0~ place of resting Y west
d'ff the elbow e
5 o nostril ’f?). - place where one
7. . expects something

Sometimes the (J,EJ\ v-w\) is used on the scale of (Zl;izi), e.g.
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T e . Ho 2 .
(4_1,&,.) — antimony bottle, from (‘_}>5 ) - antimony.
B’ R

The scale of (J&3) indicates the place where a thing falls during
the action, e.g.

(JUus) — the water which falls during bathing,

(LsS") — the dirt which falls off the broom when sweeping.

Exercise 16

(a) Conjugate the = JEJ\ ("""‘) of the following verbs:

= 0
3 (M
oy (™
Gk (%)

s ©)
S )
B )
— (A
e %)
st ()
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The Intensive Adjective (il ix.0)

The (ZJJLA\ dx.~) is a noun that indicates excess in meaning of
the verbal noun e.g. (:»*;'p) — one who hits a lot. The difference
between (AL} 4x2) and (|evaid! ("‘”‘) is that in (AW dao),

the excess meaning is limited to itself without taking others into

consideration whereas in the (J:#aiﬂ* v-w\), the excess in

@ 2 o s .o £
meaning is in comparison to others. Hence (dwo> '+ < 21) or

(¢ j.d\ <« »2!) is in comparison to others while (< 2) is not in
comparison to anyone.
In the (?\JJ\.A\ dx.»), there is no difference in gender. Sometimes
2R @ 2R
- . . . w/ - g
a (8) is added for excess in meaning, e.g. (sUs J’TJ) — a very

s @

Ry
S 17 WEeo
learned man, (4sUs 31 4)) - a very learned woman.

When (J;é) is in the meaning of (Jﬁ\é), or (J};é) is in the

# e }00/ . . . .
meaning of (J s=&s), a differentiation is made between the

masculine and feminine forms. Examples:
(ke ), (Bke ()
(e Jo), (@ 60),

The following scales are the ones most frequently used for
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(@ 20):

Scale | Example Meaning

3}; 3 . very cautious

3:;; 41{"‘)‘/‘ very knowledgeable

’:J }/i; ’:J °;§T/ big eater

BLi.; 3 L:.L shedder of blood

BLZ_: j\.f.}{ very great

3;3 3;% very truthful

3;;,; %« ;}; one who cuts a lot
3&; F‘ L;.:,: one who awards many prizes
* : o f};jﬁ{ﬁ chatterbox

BL;.':/ : \:;;; very strange
3;—2\-; 3;3\-9 very decisive

’gj”af ’;&}:ﬁ one who habitually laughs
’:J }i; ;;fé eternal

’:J }i;‘ :ﬁ}&‘ ; most holy

z}z‘ L‘E very agile
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Exercise 17

(A) Translate the following sentences into Arabic:

Y]
2)
3)
“)
&)
(6)
(7)
®)
€))
(10)

He is very agile.

This book is very strange.

The principal awards many prizes.
Abti Bakr is very truthful.

She is a big eater.

Allah is very knowledgeable.

The king was a shedder of blood.
The student is very cautious.

His mother is very patient.

The mujahid is extremely brave.

(B) What is the scale of the following (4Ll &2

=M
i (1)
Ble (M)
LG (8
S5 (9
S ()
)
FIEENC
@)
L% ()
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The Categories (q\ﬁ\) of Verbs

The (<1} of (2 J30)

You have already learnt that the verbs of (> = LSDM) —three root-

letter verbs — have six categories (<! ﬁf) — plural of (<L).

28 o

The First (<L): (=2 =)
(Jriz o) — the (ST 122) of the (o2\W) has a (3>5) while
the & ,Lz2s) has a (4e2), e.g. (3:21@5\) — to help. The abbreviated

paradigm’ of this (<L) is as follows:

S8 Zo . 8. o8 . s m U//;fra P R P
3 R Y PU 5P R R R
- P
Z, 80, 8 o0&, o4 aé S0 80%° mo 3 o

iffi);b;ja‘ifng@\jﬁmwgfmwm

° g,ﬁ )/?5/ B, o 0 - f// o .~ M. o S0 f/~°/ -
M\Jﬁ\)JWJoW)WMAJUUW

2
~o & S0 G- 35 - 8. of so

S 2 s Eogelly el s

7 The abbreviated paradigm is where the first (iz—=) of each paradigm

of the active and passive tenses is used.
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o L

The Second (--L) : ( uﬁm & 2)
(Juz %) — the (&S 122 of the (2 has a (2=35) while
the (CJL'AA) has a (5 ,5), eg (:,)5;'25\) — to hit. The abbreviated

paradigm of this (<) is as follows:

uﬁmyi\i;;w”jbﬁ\iiﬁjmb}’w’ AV
}é;@»}b;@ud\)\ju}a}f&dﬂ\

&Jﬁpuuﬂ\juﬁo\u \J,«.@\)u\ﬁm

The Third (L) : (C“’ @s)

(:)M Jﬂ) _ the (:L;J:ﬁ\ =) of the (s> has a (233) while
the (CJL'AA) also has a (i), e.g. (}cﬁ‘) — to open. The
condition for this (<) is that if the verb is (@M)S, the ( ee
a;l//ﬁ\) or (Z\;l:ﬁ\ é‘}!) must be from the (&> 4 ,>). This

does not mean that every verb which is (c?w) and whose ( :;:G

8 (zz=—~) is that word which has no (i)l & =), two letters of the

same type or (s ;) as its root letter.
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2SN or (2K éE/) is from the (&> 24 >), will be from
(=% <°L). The abbreviated paradigm of this (<L) and the
remaining (<! Ju,f) is similar to the above-mentioned examples.

B o 87 2o 8 %8 Pt T a7 LT s S

2, . °. <. R F g o] 2, -
{rmsemmpreyr e o ore
4 '°ﬁ. ° /a.,{ {, S0 8 oGy o /? 30 80£%7
gie ar BBl i Y e gy 8] e U

°
R, - R0

o _ 2 og o a8 ° o

e Jad) Jaily =l 5 1tie 5 =ike 25e AU

o /}. g,,°,/;/f£ P
gawu}d\)cu\

2 0

EEN El
.0

2

3

The Fourth (cU) : (e xov)

(J:w J»)  the (31 ) of the (_~2W) has a (5 ~S) while
the (C)LJQA) has a (i), e.g. (8«1-5\) — to listen.

87 Zo . 8.0 A. 8 . 98 .

540 o gy g g pabs 58 Lo oy o
::f:);u$a/°5y&w\}o/a%%;n‘éo}e/
J;jf/jé/ //)*//o//jﬂ/o/:\ifajUr)ﬂ/a/

P o
WMQ}A})}C‘S‘NT&M‘
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The Fifth (w) : (/55 775)

(Jm 45) — the (&L{/ﬁ\ ) of the (_~2W)) has a (4~>) while
the (CJL'AA) also has a (dw2), e.g. (é:-{j\) — to be noble. The
verbs of this (<\) are intransitive. In this (<L), instead of the
(JsW! 1), the (ig+2w 342) on the scale of (:}%;) has been
used, e.g. (;-Z;).

S LS SRS S e U ER RS
L ORIy & g s
o Jally 3% 5 K K i 1 15
B AN

o

The Sixth (<) : (Cmeini L)

(Jw ) — the (ST 2 28) of the (o\l) has a (5 ") while
the (&)L'm) also has a (5 ,5), e.g. (;-:m;j\/) — to ponder.
Besides (:.,M/M;-), no other (c?up ‘_)xé) has been used in this

(<L). Acccording to some scholars, the verb (;.,J; {'-’u'/) is also
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from this (—L). However, verbs that are (J L':ﬁ)9 or (Qa-;ﬁ)lo have
been used, e.g. (& 2 & ,’9) and (Z;L: 59). The verb (<~>) has
also been used with a (&>=) on the (AdSJ| :3:9) of (¢ L=,

B s 0 -
that is (—ww>w).

2~ 0 & . L o - - -

vii;;}ﬂs}iwsi;jm\”dw’“};sw

s &~ 0 o/}e

&_,:}A.S\/) i_,.:.m;j j:ﬁ J«ﬁ-b}\ J;.J} LL\W ) w

P

o 8
;MM>—.° 4_:._,4

® A word having a () or (($) as the (dSJ1 s ).

"% A word having two (da)) 2 5 ).
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Exercise 18

Conjugate the following verbs as done above:

A0
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The (<) 5]) of (42 430 L)
The Derived Forms of the Triliteral Verb

Arabic is extremely rich and copious in derived forms
which extend or modify the meaning of the root form of
the verb, giving many exact shades of meaning. This is a
common feature of Semitic languages and perhaps it
reaches its pinnacle in Arabic.

Derived forms are made by adding letters before or between the
root letters of the simple verb. Accordingly, (;;43/), which is the

root, means to help. From this verb the following verbs are
derived with differing meanings:

Verb Meaning

o to support

ﬂ\-’

L to try to help

B

;;L;/f to render mutual assistance

s to come to someone’s aid
cooom to ask for assistance

Another example of derived verbs is (Jﬁ) which means to kill.

When extra letters are added to this root, the following meanings
are achieved.
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Verb Meaning

‘}g to massacre

;};é to combat, battle

- ::fi to fight with one another
- :°<°/T to risk one’s life

Very few verb roots have all the other derived forms. Some have
only one (like — ;5 to drive away) or two (like Ciw> — to sink),

while others have four or five as in the above examples. There is
often a good deal of overlapping of meaning between the forms.

Sometimes the root form is not in use while the derived forms

are used, e.g. ( ;5; - to arrange).

The (<)) of (4 ;e ) are twelve in total. They are
formed by adding extra letters to the Qs‘bm ‘_}xﬁ\) of ( 67345

> ,5). Upto a maximum of three extra letters can be added to a

verb, thus bringing the maximum number of letters of a verb to
six (root letters plus extra letters).

Seven of these (<! Ju,f) have (-2 sJl & ;%) at the beginning while
five do not have. Besides (> = L5?3&5), every letter with a as )

will become (p sov24) in the (J 5= gs‘"m) except for the

Page 92



penultimate letter which will be () ;-§A). The (Of L) will

remain as it is,

e.g (), (aizll),

When (%) or (:Y) are used in the (k;al‘l\ g«b\l\), the (o sl &)

will not be pronounced as will the (Qd\) of the (L;) and (YY), e.g.

(L) ), (;)/453\ :Y).
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The 12 (<1 50) of (43 4 3o S are as follows:

ol Example | Extra Letters J-'p }“ 3 ,}

Jwy | st T il 552
”']o iz ;}i,:p wc no hamza
2.1.5/@ ;}5\; | no hamza
Jedl | L ool | Lo
Jud | ks o Joo gl 352
Jusdy | Sk Jof Joo gl 352
Bi;if ;}25 wz C o no hamza
3’2@4 ;}:L:Sf e no hamza
Juits | e | oo f | dosdisge
= O

JWady [ 25y Joredl | o

;3.1;1 34? J&}\S}:‘”
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Construction of the Derived Nouns

To construct the (_s! 1) of any (<L) besides (s % gsbﬁ)’

the (<2 9 2s CJL'M) is modified by adding a (p s~~2» #) at the

beginning and making the penultimate letter ( jw-{ﬁ) if it is not

already ( jw-{»).

Examples:
PN -

e -

The (J s=all ("""‘) is like the (J-‘UJ\ V-w\) except that the

penultimate letter is ‘e §ias),

Examples:
= -

L2 8

:}ﬁ -

aa/°;}
® O B

s

The (<2 L) 1) of these (<! #0) is used on the scale of the

(J s2all ). There is neither (WY =) nor (e 1) in

these (&) Ju,f). In ordert to express the meaning of the (ZN\ v.w\),
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the words («%) are added to the ( “w2») for this purpose, e.g.

(LLI}Q\ 44 — the means of refraining.

P P

To express the (J-:Jaiﬂ* ("“‘)’ the word (:\:fj) is used before the

(& 2 yhas) e.2. (\j\;;-i jﬁj) — more refraining. Words like

s, (Jﬁ) etc. can also be used.
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The Abbreviated Paradigm (.~- < ,») of Each
(<L)

Jud| <\

P R SRS IS ey
- ;v N ;’@,ﬁg ; ;T u

The sign of (JL—8l <L) is a (=—k&ll 5,—*) ' in the
(—>W J—xdll) and () while the (¢ jLa—d) le) is
always (¢ se2—s). The (a—dedll 5, *) of the (—>U)) is
deleted from the (¢ ,La—s). Thus (3,5 L) becomes (:,—J).

The remaining word-forms follow the same pattern.

The detailed paradigms of this verb are provided
hereunder.

""" A hamzah that is not deleted in pronunciation when prefixed by any
letter.
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Gy Al g

Sy A

t)\-{a\\
J}j’l‘

K

e

LY

ol S

S

55

GEY

.
ol

SXS

N

55

p
s oo
P

-]

LY

oL S8

2

GEY

G st

SRS

25

251N

A

=

i
3

-

i

cz_;)iicbgj_i;{icdujkic?)& :J_S—Lé.s\r_w\

w . oos L o
Cob ook G
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Exercise 19

Conjugate the following verbs:

ey ot (8) et () A () ST ()

J...v.é.’iub

fo s0f% . 8

dﬁmyi:;;ur q;;au,;mg

The sign of (Je=& L) is the tashdid of the (2 cx¢) in the
(»2U) and (o= ) without a (<) preceding the ( <
2. The (t)L&A\ aSle) of this (<L) is also always
(p 322,

The (;-u2») of this (<L) is also used on the following scales:
(3&;) e.g. (ruw : ;Uﬂf);

(U5 e.g. (LIS

(:L«l) e.g. (45 i

U5 e.g. (5159

The detailed paradigms of this verb follow hereunder.
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Gy Al g

Jj}d\ J.A:ﬂ\

t)\-{a\\
J}j’l‘

s .¥. 2

o . ¥ )\/ o .z &

SN | Clal | G | Ce
e, s Y. s P P

LGz L OB,z | L s

o:“}‘/ 2l o:“}‘/ ,: :ofﬁ/ 2 o:‘@/

Vs Y | iad | Osbar | Vs

o LY. 4 ¢ 2 .¥. 28 P

Ty Y. s ¢, s >
L2 Y L2 oL 25 | s o
PRCIEE I¢ o %, 2 . %, 2 . %%
Fra¥ | Gead | Gea | e
o . ¥, 87 o LY. s .¥. 3 . %%,
e s ¢ <P .o . L5
o:“}‘/ 2l s:“}‘/ :o:‘ﬁ/ 2 o)‘?@/
1B N Ve | 0P | b e
o ¥ :f/ o Y. s 0% 2 . ?&/
v, s <P ICPR . L5
LY | L | ob | WS
PR PRI PP %L s &ff@/
P Y PP PR PP
o L. 27 o Ly, £ s .y £ s %a.
dﬁa\ N dﬁaU dﬁa\ e
2 .¥. 3 Lo

s 2

caérp_/a

Lo 2

¢ dﬁ;a_i ¢ /ubila_i ¢ :}i;a_; ZJ_&\.&.S\ (..M

P
Y. s

s (Y. 2 .
Cob s Ol

J..\,éﬁ
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Exercise 20

Conjugate the following verbs:

GA (o) 538 (&) S () B (1) ()

Aslde U
S0 ,«oz"/“’:i} /}ff/:f,,« }51;/"9,’;/ ”":; /ﬂff/ziﬂ }*2}/::
aae Ul Jlae g5 dilae Jlay 58y Jilie 5gp dblie L2 P56

WY L 5

The sign of (Aelis L) is the (3515 L&)y after the (2SI <13)
in the (2 Jad)) and (oUW =31 Jsd) without a (<)
preceding it. The (¢ Hlall @dle) of this (<L) is always
(p yom22).

The ()2s) of (dslas L) is also used on the following scales:
@@ngdéx

(JLed) e.g. (J3).

The detailed paradigms of this verb follow hereunder.
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Gy Al g

Sy A

t)\-{a\\
J}j’l‘

SEY

° -
u‘ ")
L}) -
- -

i

S Y | WG | ol | Y
LB Y | LE | OE | ne
BEY | B B | Ll

s Y

PEY | e | pE | o
WEY | W6 | owE | L
GEEY | ke | oybE | R
SEY | s | B | el
WEY | owe | ol | ude
Y| ks | b | L
poly | el |l | sk
PEY | BE | pE | dw

QS)U@ ¢ Z}:Ll;; :J&L&.S\ v..w‘

s s
L oMas ¢

Page 102



Exercise 21

Conjugate the following verbs:

S (o) S (8) @15 (1) WL (1) L ()

Jladit Sl
R 5 iy i 3 1

L Y 5, e

The sign of (Jlxs! <L) is the (O) before the (.JSJI ¢). This

(<L) is always intransitive (p V).

The detailed paradigms of this verb follow hereunder.
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Gy Al g

Jj}d\ J.A:ﬂ\

t)\-{a\\

- -
o’ o- y
-

- - - -
' /0/ 4 - /5/ - /5/ // /5
oy Y | kad | OV ke | Vi)
- - - - - -
o 2 /'s/ 4 o 2 /'s/ “ B /,o/ 0 87 /,9
\)}}za.;i N \)}lza.ztj d)j)a_‘z:i \j})a_bl
- - - - -
- - - - - -
° .oz ° Jor 2 .oz o - .0
£
- - - - -
oy Tes oy e oy Tles 7 T
Vead Y | kad | OV ksl | G led)
- - - - - -
- - - - - - s -

Vi Y | kil | ofkdd | G L)
| ||
SN | ol | G | i)
Vi N | Vks) | ofkdd | G ki)
FHEAAEE
by | ool | owEt | oL
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Exercise 22

Conjugate the following verbs:

Ul (o) ) () B () L) () 3L ()

Jldl Sl

g - -

° -z J, S0, S o0&y o -0 30 3085w .0 3

The sign of (Jled! L) is the (<) after the (S ¢ ).
Rule 1
If the (2dSJ1 £B) of (Jled) L) is (), (3), or (), the (<) of

(J) is changed to (). If the (2lSJI ) is a (3), then (pled) -

assimilation) is compulsory, e.g. (%531) changes to (6/931).

If the (edSJ) ¢B) of (Jlazdl L) is (3), then after changing the
(<) to (), the following three changes are permissible:
(1) The (3) is changed to (>) and the rule of (al3)) is applied,

e.g. ((S53)) changes to (:531).
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(2) Sometimes the () is changed to (3) and then the rule of
(pe3]) is applied to the (2SI :b), e.g. (S53)) changes to

53D,

(3) Sometimes the verb is left as it is without applying the rule of

(L)), e.g. (;/53551).

If the (A1 ¢B) of (Jlad) L) is (), then after changing the
(<) to (), the following two changes are permissible:

(1) the verb is left as it is without applying the rule of ((L'Fbl),

s 20

e.g. (23D

(2) Sometimes the () is changed to () and then the rule of
(ple2)) is applied to the (S <), eg. (=) changes to
3.

Rule 2

If the (AalSJ1 £13) of (Jlxdl ) is (2), (L2), (&), or (L), the
(<) of (Jlel) is changed to (). If the (JSJ1 £B) is a (&), then
it is compulsory to apply (#l3)) e.g. (;,AL:LL/) changes to (;.J-Ll/).

If the (&S ¢B) of (Jlad) L) is (L), then after changing the

(<) to (L), the following three changes are permissible:
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(1) The (&) is changed to (&) and the rule of ((Lbbl) is applied,

e.g. (;»-15}&1/) changes to (;jal/).

(2) the verb is left as it is without applying the rule of (al3)),

e.g. (}-ﬂzibi/).

(3) The (&) is changed to (L) and the rule of ((\-'931) is applied,
e.g. ((;-lﬁbi) changes to ((;-Ubi).

If the (2SI sB) of (il L) is (2) or (L2), then after

changing the (<) to (&), the following two possibilities are
permissible:

(1) the verb is left as it is without applying the rule of ((L'Fbl),
eg. (o)) and (L),

(2) Sometimes the (&) is changed to (_») or (_») and then the
rule of (#le3]) is applied, e.g. (o)) changes to (;:ai/) and
(& 72) changes to (&),

Rule 3

If the (2adSJ) ¢B) of (Jladl ©b) is (<), then it is permissible to
change the (<) to (<) and apply the rule of ((u‘-’l), e.g. (;\:/51)

changes to (,U1).

Page 107



Rule 4

If the (2dSJ1 (a9) of (W) SL) is (), (&), (7). ). (3).
(), (s (), (L2)s (LP)s (), or (), then after changing the
(<) to the same letter as the (W\ ), the (?\ff-) of the (<)
is transferred to the preceding letter and the rule of ((Lbbl) is
applied. The (=) &;®) is deleted, e.g. (&-@Af;-l) changes to

((;-iz;'-) and (95:\5;1) changes to (Qsi\i).

(4.2) The (ijbﬁzn) of these verbs - ((;.ia-;-) and (gsfl:h) - will be

(o) and (5 3%2).

(4.3) Tt is permissible to have a (5 .5 ) on the (xS <b), e.g.
(;-qu/ ;'-iaf-) and (gsi\-é giﬁ). The words (;’)}ijaﬁq/) and
(2*53-@/) which have appeared in the Qur’an are from this (<L).

(4.4) 1t is permissible to read a («-2) on the (2SN ¢ ) of the

(JsW! o—1). Therefore all three harakats are permissible, e.g.

sY . 2

( . )’ (ax# /.)),(qﬂ‘}‘ ,ﬂ.;).

Some of the detailed paradigms of this verb follow
hereunder.
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Gy Al g

Jj}d\ J.A:ﬂ\

t)\-{a\\
J}j’l‘

-
o 0 - o 0 - B o - - ~0
ver ver ver ver
3 - 3 - 3 - 3 £
- - - - -
-
) S ore Oliony oo )
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- -
o & 0 /y o & .0 - Lo 80 o A0
‘ - ‘ ver vor ‘ v ‘
J ﬁ”"‘f) O gaiory o)
- - - - -
-

o 0 < ° 0 - 2 0 < o o0
NSNS ‘y ‘e ..S NS . ew
e > e (VP
3 3 . " <

- - - - -
-
R s 0 - - s ®
‘ o < ‘y ‘ o .-S d\ o < ‘.- o ‘
. * . * . * . M s
- - - - - -
-
s 0 0 - s 0 0 - s 0 0 - ~ 0,0
% N o o e
w.m?.r_l ~ s M w.m?rs
- - - - -
-

° 0 s o -0 B 0 s - o0
o - . .o - - .o
(WSO 5] o (WP =] [
3 3 £ 3 g £

- - - - -
-
L s 0 7oz » Sorr0
‘ —_— y \ v ‘ d\ —_— “ v ‘
. > A g - > g
- - - - - -
- -
o &0 -~ o & 0 Lo 80 -~ o Sforr0
‘ v ‘y ‘ ver ‘ d vonl “ e ‘
M W‘ M W‘
- - - - -
-
o 0 < o -0 s 0 0 o0
—— ‘y oo ‘ o “ e
SM-\-". '7-M-\>¢-’. (VP
" " < e " s
s s - e - -
-
R - 0 R e ~ Sorr0
‘ o ‘y \ oo ‘ d\ o \ “ e ‘
. * . * 3 . . . * s
- - - - - -
- =
0 0 - ~, 0 -0 s 0 0 - ® So-0
- ‘y . e ‘ L el o e ‘
. .; J. * J . .;
- - - - -
z - z z
o 0 £ o 0 £ B 0 £ 2 or-0
ver vor ver “ e
[(EPOVe o (WP T
3 3 3 g £
- - - - -
-
o o ¢ y o 0 - 2 Y ~0- 20
ver ver .S ver e
> > [EOSC=} vam?.—‘
3 3 3 " £
- - - - -

i -
- 0 &
CAoms (O

o 20 2

pizmen ¢ O

s 0 8 L

-

vl AN
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Exercise 23

Conjugate the following verbs:

JE5L(0) @5l (1) ¢ (7) S (9) 3L ()

R s 0
£ e
P
o
o -0 R0 208078 o }/},/ Z - o

-

° s 0 -~
&

DN e Y e Y ae

The sign of (JM=é] L) is the repetition of the (2SN #Y) and
four letters after the (25 3 ;%) in the (L;b\l\ J=alh). The ( Y

2SI of this (<L) is always (3Lis) except in (L23L)."

Some of the detailed paradigms of this verb follow
hereunder.

12 The rules of (=%5) will be discussed later.
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Jj}d\ J.A:ﬂ\

t)\-{a\\
J}j’l‘

2

& :y g0 - .0 - g0
e rA-’LJ" M J..q;-‘
- -
G.0 - .0 - L @0 - ‘@/o‘
\ja}q N \}axzj d\j«}q o>
- - -
‘5\5/5 // ‘5\5/5 - io.%/o 4 ‘5\5/5 ‘
s Y| e | Oy | Ty o)
- -
[P 5/ G0 - (5/9: ° @/0‘
- -
&0 :/ [ -0 - P 0

Oy Y | O ed | O oy | O 0]

~ ~ - -
@0 ::y @0 5/0: - e//c‘
-

Dot Daat Dot &.)JJ.A}-‘
- -

.0 ¢ &0 L Fo0 o s S0 -0

Uw}! \ja:-i d\j«}u L«.:)J.«:-l
- - -

od.0o [ o.%/o /.of/o/ o fo o0

SN | Gl | e | e
6.0 - G0 R s Hoso0
\PJY b.«:-i db.q}u L«.’)J.qp-l

& S0

Juv'l/

2 o0

-0

Ll

G0
-

>
&

i s

- 0 & .o . ~ 0 &
coj_m,ocd)}_axﬂcd‘}wwc

2

¥

-0 &

s G0 8 .
.C)\chd

A :J_ﬁu.“ (,.MJ

G0 &

UJ.A}:.A
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Exercise 24

Conjugate the following verbs:

sl (2) A2l (8) L (T) 2 (V) 35l (V)

3.;.93 -y
i.;j.:U 1G5 L Mﬁ} G e U J,MJJJ
J,,u N ax :;;3\3 M
The sign of (Jx& ) is the tashdid of the (2SI} (x£) and (<)
precedes the (2l ¢ 5) in the (L;«b\l\ e,

Some of the detailed paradigms of this verb follow
hereunder.
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Jj}d\ J.A:ﬂ\

t)\-{a\\
J}j’l‘

¢ ol :1%

o _- - o _- 2 _- T
&, y &, &, &,
- - - -
raacd [ }‘.“L“.ﬁ" () [ L.“D
-
- - - - -
&, y &, . &, &,
- - - -
Ny piH Oty piW
- -
2_- - 2_- - 2. 2.
‘a &, y ‘a &, Lo F o F, -
- - - ‘ "
-
o _- - o _- 2 _- o
&, &, &, ° [
<3 ‘y e <3 - 25
" " 5 "
-
. - - - P o
&, &, . &, AF -
>A 2%“ y o djh 2%“ - :"
" " 5 "
- -
o_~- - o_~- o_~- o_~-
o \F o \E o \E Pt
- kS i "
-
o _- - o _- 2 _- o_-
&, [ &, - &,
“ y < “ - <
. - - - - o_-
&, y [ &, o AT, .
: s : < d:‘ s . 4
-
3 P 3 PR o_~
o W,z ° W, Lo P o KW, -
‘ s ‘ d . -
- ' - - o_~-
o &,z o | F, - o0 F &L
“ sy 4 ; jcd - 4
" " e "
< = P -
' - ' ' - - - o _-
&, &, . &, o AT, .
:\ “ sy 4 dtl “ oY s
5 " 5 "
-
°o_- - °o_- °o_- PR
RN y - Pz P [
. - . . Q”’ -
o - 2 - o _- ¢ 2 _ °o_-
&, &, £ &, A 2 &,
J,AS\ N J,.&SU J,.AS\ cLas
-
o _- - o _- 2 _- o_-
&z y &, &z R~
- e - . :"
-
- cwr -
3 . ]
LA ( 4 14"/: ¢

.

| "ﬁf/) L Ys s .
Ok ¢ O o Jeie el

)
<o

(..w\
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Exercise 25

Conjugate the following verbs:

i (o) Lo (8 IS8 vy 23 (vy s ()

aﬂ}/
24
J.a\.m <\
.
P S ° }/ -8 8

&m}pmw&uﬂ& &w}@smw&m&w
S Y Le Gy s

The sign of (¢ <L) is that the (<) precedes the (S £ 13)
in the (gs”bu‘ Jxﬂ\) and there is an extra (_)) after the ( ¢b
1),

Rule 1

In (J:u'J <L) and (J¢W L), when two (<)’s are adjacent to

one another in the (¢ Jlzs =), it is permissible to delete one,
e.g.
L2

g Fug
(i) — 5 (&)
"o 8.

Ol (Ol
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Rule 2

If the (2SI £1) of (J2&5 <L) and (Joli5 b is (&), (&),
@) 3 (3, O () (M (2 (A () or (), it is
permissible to change the (<) into the (oS! ¢13) and apply the
rule of (pL&3)). In this case, the (2l Jadl) and (1) require a
(25l 85 at the beginning. The (J'e\ <L) and (J}?U* <L)

have been created due to this rule.

Examples:

Cel——» (ekab) —» ()

oo R ]

() —> (PE) — (5

P
@
b ] =

sy ab e TRl s il Rl T3k 4 o

sells B0 w0 B g B e B Jed) o

Some of the detailed paradigms of this verb follow
hereunder.
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Gy Al g

Jj}d\ J.A:ﬂ\

t)\-{a\\
J}j’l‘

° e /// ¢ ° e /// } e /// g 7, -

BEEY | | s |
g

T -7 R -

Selan ¥ | dulad | odulay |
i

LLEE Y | G | o | s
g

-

s Y

PR
P
-

o - 4 o - = o - o -
RPN e - }//// . %
Ly e JeLas W
- ///// 4 // - //// /}0//
WEEY | OWE | oWeE | WA
LLEEY | s S | s

o djb - -

- - - - °o_-
LEY | LE | LG | I
; ; el ,

- = - 4 4 = 4 // e = o 4
A
WEEY | WE | oweE | wdw

-] e - ] - - -] e @ }0 -

TEY | e | e | e
g

Fad P - L - - B -
¢ d\:ila\.ifi ¢ ZLUL; ¢ djl)u.; ¢ 05}\4\.25; ¢ J»Lifi :J&L&J\ v.«ﬂ‘

-
2

e
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Exercise 26

Conjugate the following verbs:

ol (0 i (8) GO (1) U (Y) 35 ()

J\.i:i:::»\ <

L., o0 2 - 0 So ‘/ 28 o0 & & 00 ~ - 0,0

sJ@L\WW\)W}P\JW\WW\

P ’

o0 ~ R’ o0 K A&

WYM&JUW\MJJY\W}@;
The sign of (JL;&:»\ <L) is the extra () and (&) before the
(el ¢ 3),
It is permissible to delete the (<) from the verb ( /tsz-wi
}é}af:é). The verbs (*}}GUQL\ \:«5) and (Dcﬁa-i»f (J \:°) mentioned

in the Qur’an are from this (<2L).

Some of the detailed paradigms of this verb follow
hereunder.
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Dy A ) Sy Al BV | Oy el g gLl Syl ol
° o0 -~ ° o0 - 2 o0 -~ s - 000
U ‘y 5 «S 2y 5i i
- o0 - - o0 - - o0 - - 0.0
[JOPTCONER Vziad | OV i | )
o 2 o0 ~ o & o0 ~ o & o0 ~ o &, o0
° o0 o < ° o0 -~ 2 o0 -~ o -~ o0
5 ‘y 5in ..S 5:n < 5 l
- o0 { - o0 - - 00 - zr s 0.0
s Vaznd | OV i U i)
o 00 - /. ° 00 ~ "o 00 ~ /, o~ o-0
° o0 o o o0 ‘ B o0 ~ - - ) ‘
W ‘}) ﬁa-‘-‘-""; W ufa_..wu‘
- o0 ~ - o0 - o0 ~ S0 - o0
‘5 2 o0 ~ ‘o B o0 ‘ /, o & o0 ~ o fo .~ o0 ‘
9 s Y] | O i (= s
° o0 ~ { o 00 ‘ ) 00 ~ o~ o-0 ‘
- oo o { " o0 - o0 -~ - S0 - o-0
) o0 - . "o 00 ‘ "o o0 - G o~ o0 ‘
° o0 £ 7 o o0 £ B o0 £ £ o~ or0
° o0 o { o o0 - B o0 ~ 0~ 0.0
5 y 5 .S 5 b 5 i
f/ o0 A& /, o 2 o0 A . - o0 A& 2R o0 A N
cawcojwcowcw:yw\ﬁ\
s 7 o0 A <d o0 A
C)\W ¢ dbﬁa_&w
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Exercise 27

Conjugate the following verbs:

(W\ (°) m%(z) (,Lw\ (%) L}M\ Q) ;J;hfdi/(\)

L °
J/O 0‘ b
led) U
;-
-
Lo, 0 X2 A8, Z o0 0 Lo 0 £ s s 0 - 0

‘J'::”/"l/uj“y‘q;‘* }PU‘;”/:..%L}:;..."J;...%

The sign of (Jamsl L) is the repetition of the (¢) and the
appearance of a ( 9) between the two (t)’s. This ( 9) has changed

to a (&) in the (,-24) due to the preceding (5 .S ). This (<L)

is mostly intransitive (V).

Some of the detailed paradigms of this verb follow
hereunder.
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«—

J),d\g@_ﬁ\ Gyl @Y | Dyl g lall Gyl oWl
5/5/ o o o - L, o0~ o0 - s s, 0 - 0

o 0 - s, 0 - 0 -~ (7,0 0 - L)
L.MMY L o | Ol sl L gl
‘ ::/::/‘y ‘a}:'o/'o./ /.o}:'a/_a./ ‘o}/"a/ a.$
W00z ° .o/'o.: }:'o/:.o.z a"f/:'o/:'o.
[ D/D/y & o0 - [ o o - w/b/b‘
° o o o ¢ ° o o° B o o - s 0 0 - 0O
s, 0 - 0 =« " o~ © R I s Sor 0 - 0
‘o}"a/a:‘y ‘a}:.o/'o.‘ /.o}"a/_a/ a}a/"a/a$
SN L | e | et
D/D/ - o o s ,0 - 0 ~ S0~ o0
&"D/D:/y &:-0/'0.‘ /”o/o./ @}5/*5/5
° °o - 0 £ ° o o £ }.o/'og L& or 0 - 0
..\‘y ..U | ........i

° o0 o o ,0 .- o - s o 0 - G- 0 - 0

-
/o/o)‘ Lo & o0~ o & o~ o & ,0~- 0 2

wwcdrﬂwcdbwcww J&L&S\ﬁ‘

o o 2 o 0o 2

.uuwcdwﬁwc
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Exercise 28

Conjugate the following verbs:

F] (1) kel () S35 ()

The sign of (JWss U) is the repetition of the (J) and the
appearance of an extra (_&!) before the first (J)) in the ( Jxﬂ\

sta'p\l\). This (&) changes to a (S) in the (,4wzx).

The (pL&3)) in this (<L) is similar to the (pL&3)) of (JUx3| L),
The verbs of (JUx3l U) and (JWss] ) mostly have the

meanings of colours and defects and they are intransitive ((j}[).

Some of the detailed paradigms of this verb follow
hereunder.
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CREY | By | obky VA
Fpolald Y \31&31/ Oyl lS o as;/
SBNEY | IBY | LEBN | ek
Y | GG SLGAE WIS
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Exercise 29

Conjugate the following verbs:

U1 (8) SUSL (1) SUST () Sl ()

i)
Y as ¢ JJJ:-‘ FVRSAN] Zjls JJ@ \2\31;1 bjlx Jjb_‘

w

3l
The sign of (J‘;x-@i <L) is the (9) after the (1dS) cne),

Some of the detailed paradigms of this verb follow
hereunder.
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oAl | Gyl B | Dy el slal - Dy
FSERAN T B R B )
RN I P T TP 3505
s ¥ | 035 | 0 Py
Gy | B | Sk 50
BN e | o A
OB Y | ol | odle 035
SEEY | S i O
N O Py I B I AN
PEEE R I WER R B A S N
SRS | i | Ll S35k
By | B | ol WA
O Y | 03 | ol gy
Sy | SR | ST S|
PYESEAN 33.1;.3 ;;.l.;;: U;;,I.;i
DU G ¢ OB ¢ oG ¢ SR el
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Exercise 30

(A) Conjugate the following verbs:

Ly ()
L (v

(B) What is the (4=.2) of the following words:

093 ke (V)
053 (1)
oY ()
iby e (8)
5 o)
oA (Y
B ()
Sl (M)
Rtk )

SRV (1)

®
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Four-Root letter Verbs

The (<) 1) of (L)

b L — 3,2 sl

2 2
aﬂb/)/) /o/}c/}/o)/aﬂb/}/} //a/;e/}/s/

WYWL;MJ;AJ

R -

The sign of (ZLU:L'% <L) is the presence of four root letters in the

(L;'pu\ J=al)). The (d sl 2ke) of this (SL) is (p senzs).

The rule for the (35 >) of the & sball aadley is that if the ((Jxd))
L“;Jo\l\) has four letters, whether root letters or extra letters, the
(t JL'A\ Me) will be (( se22) even in the active tense
(o e (G (G, (FE), CED. I the ( Jad)
L“;Jo\l\) has less than or more than four letters, the ( &

£ bk will be (7 ssie), e (o), (), (SIS,

Four-root letter verbs are of three types:

(1) those of genuine four-radical origin, e.g. ((;-;.-:5/) — to translate.

(2) verbs formed by the doubling of a biliteral root, e.g. (;-5;'9)
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— to gargle, (/ 3 :) — to stammer.
gargle, (p—e

(3) composite roots taken from a familiar phrase or combination
of roots, e.g. (Jl’«;—) — to say Al-hamdulillah, (J;Lu,/) — to say
Bismillah.

Some of the detailed paradigms of this verb follow
hereunder.
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Gl g Gyl @Y | Dyl g lall Gy Al 2l
o 0.8 o o2 2 o8 Y
o o8 . 0.8 L~ 0.8 Y
Vi Y i Ol | Jixs
o8 0.8 o & o8 Lo o8 o}jo/
A Y| e | O |5
o 0.8 7 o o8 2 o8 o 7o
s Y f) Fad &
Y I s 0 -8 s 08 Y
| Y | ad O s U s
is.o/)/ /.O.D/} .0 08 /.b./O/
O g Y O jixd O iy O iz
5.0/3/ o o~ 2 08 /"e./c/
S N S S i
o o8 Y L~ 08 Y
SN | jins Ol s WS
‘a }La/{f/ ‘a )‘:.c/ ,a}:.c/:f o:fo:c/
9 9 O s gy
o .D/f/ o o~ s 0 o-8 "o./s/
S frs Y S S R o
Y I “ e 202 Y
Vias N | oms O joad L famsy
/5.0/3/ /.o.s/ /'O.D/f &3075/
O iz Y O O B
a.o/g a.o/g }.czg 2 o./c/
Y iU il & iy
o 0.8 7 o o8 2 o8 070
fas Y ) Fa L

A< R f/.o/)‘ o8 o8 (7o B o 8 .

cdecchdjwcd$chlJ&w\ r.,w\

Page 128



Exercise 31

Conjugate the following verbs:

z/> )
S
S5 (N
o ()

L5 (o)

(B) What is the (4=.2) of the following words:
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The Derived Forms of Four-Root Letter Verbs

ad by o Sy
Has o

e oy 5 o 0 e s 0 s

° o -~
JJ.J.AM.AJ

The sign of (Jlfdf <L) is the extra (<) before the four root

letters.

Some of the detailed paradigms of this verb follow
hereunder.
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DA g el
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0 s o
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e -] e
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P P
A2 A A2

o re
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Ja s Y

°
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) .-.-S

2

0 oz
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o P . o A0 s g
“ wer s \..
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° e o ° °
PR s PR I PR I TR
. N - . .
-
° - o 2 °
o o oz 0 g - ooz
- “ -

- /
- s -
MY

P
<

2 -
VL Y

PR
Lo (0 g
Uj.l.?f.w'b

s 00~ o
Jwe -

-

= >
WS Y

-

-

}k:b//
“J

0 s oo

OV

° -
R

* W) y
3 i

Rl

o Z
0 - £
J; ,.MJU
.
o

R
J !

=

0 s s
) .-.S

-

2 e
o
J et

1’/5/ -2
¢ il e o

/,5}0/ R
O sy e

Z o .8
}’\.gﬂ.:ﬁc

-

O

s .
.M

JJJ,.M’; el o)

-

o~ -8 e
f...:.»cd\.:.l.g

o -8
“
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Exercise 32

Conjugate the following verbs:

S (2) Jo (1) BNF (7 S (1) A ()

@ o

JM\ <\

}/}, Z -0

bj.;;,.a.:y K YMYA_&L;@_J\

@

The sign of (Uil L) is having four root letters, the repetition
of the second (J) and the inclusion of (‘_}-»o o 8 3*) in the ( Jxﬂ\

2 and (4.

Some of the detailed paradigms of this verb follow
hereunder.
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o ° 5 ° o
P P P
[ "/y [ oL [N
B , . = 3|
M « M M‘
- - . - B
o - o o o
s - % s . °. s . °. G. .
s . . "
| i Y | O =i | 2
o % e A
. B . . . B
o - 2 o 2 °
‘OW . y ‘OW - - o w - - OW// -
S S ‘ 3 ‘
)M 3 c O 9 358
B B B B
o 4 o o o
& . s . °. 3 . °. o G-
. & sy - s wa o
B P I3 - =3
M M uM;
. . . . .
-] e I o -]
& - .z & oL R S L
\ none ‘y ‘ E d‘ e . b ‘
M M M;
- - . P .
e -] e - - ] 4 °
d o e y db o/" “ Ob o/" “ Oo R "‘
DR J “ 2R J .
- - - - .

w/.,././ ﬁ/‘i /‘i/ }a///:
sz//‘i// aﬂ//‘g :oé//° a}a///:/
GAEBN Ak | alE <) ,w*
s - %< & - ° g . %z dooov,
) 5/.‘1:/ "o o/:‘: “ o/”i: @ So -
QJMY dJMi QJM u.:ij.M.S‘
& /D/ o (2 o

/0///

O %

McQJMcd‘jf:mcif;ZiAJ&w\rﬂ‘

x @ . 08
Lo i ¢
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Exercise 33

Conjugate the following verbs:

el (0) i (1) Sendl () ol (1) I ()

J\.&é‘ <
o ey B e BT Bl e )

0/ 0/

e Y
The sign of (JWix3] L) is the inclusion of (25 ;) in the
(oW J=dll) and (1) and the extra (O) after the &)

Some of the detailed paradigms of this verb follow
hereunder.
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Gl g Gyl @Y | Dyl g lall Gyl oWl
° .9/0// o":.g/oz }*:‘9/5/ s -, 0,0

G Y G e G e dwf‘

{ -"9;;:3} \ L?;;;J d °;: ‘/ °;j$

- o-0- o; o/a: /a} o- 0~ / o-0

o  orog 0..:.9/0: }“:'9/0/ T o0
R B T vﬁm’f‘
Gy | G | omery |
r AV (U S o PR Mﬁ‘
o":.o/oz o":‘o/s }*:‘9/5/ °/ o-o0
G o Y G4 0 G A
""a;::y *o;:l O**o;;; /}/o;j‘
a{‘a/o/ o{ o/a/ ;a{/‘a/o/ a}/ or 0o
‘MJ'?" Y ‘)M""J'fl d‘}»ﬁ.&:ﬁ WJ.’\
I ] R R g
*“o;::y "“O;i O"“o};/ /}/0/})5‘
/i:.o/oz /i:‘ozs /i;?/b/ @)‘/ o-0
a“:.a/oﬂ o*&a/oU )‘.':'o/as D/ o-0
o  oro0y 0..:.9/07 }“:'g/a/ / “ o-0

A
Wﬁﬁ ¢
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Exercise 34

(A) Conjugate the following verbs:

()

-

gk (M)
SSEL(
Cm.ﬂ\ €3)

J=>1 (o)

(B) What is the (4=x2) of the following words:

-

b= ()
Skilah (Y
LS
R POt A (%)
L (o)
B
ou.,mjxi V)

- o
o8 o,

|32 2 (M)
ST (1)

PRTEEY (0
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Other Derived Forms
The (&) #0) of (Foeke 43 & 30 )

There are two categories of (<! Ju,f) here:
(1) (3% b gl
(2) (R 3r Fln 3=l

The first category (> % U » 3>ls) has seven (<! )%

(D) (Z\_U}é) — the (J) is repeated, e.g. (3—;;15.-) — to don a

shawl.

°. o Soos a7 7 00 4 S s 0L 22 2

Ll.;rj N oas
2) (3\_3/};5) — there is an extra () after the (¢), e.g.
&y %) — to don a trouser.

. 7 2
0 - 27,0 0o ~

Jge an Y g e 588 Wy J g Sy 0 0k pad
J):.:..j N as L;@.JU

3) (2\-15-:5) — there is an extra (($) after the (<), e.g.

(3;)4-::.@) — to command. This word can be used as (;)a-::w) as well.
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z -

a/j i/ MJAY$¢/) i/ }_@_g*/j )o/ /]c ao z
et S y et g@j‘)
“) (‘U.;é) — there is an extra (¢$) after the (§),

[

(3@/:}») — to trim the extra leaves of a plant.

s Zo

: ,wuf‘y\w°w”}§_eu};@:;ﬁ;.ﬁ}; imf,m

®) (3-1:935)— there is an extra () after the (), e.g.
(2\6};.-) — to make someone don socks.

2

z
o/}/}, 0 - o~ & - o0 - f£,0 0 ~

S a0 560 W) ol D) 1 4k
U;j‘}J Y ws L;@-‘j‘)

(6) (w)— there is an extra (O) after the (é), e.g. (2\;&15) —to

make someone don a hat.
P w&uﬂswui}g}wwww m,,m
UM;.LEJ ‘}! s

]’ L

@) (OM)— there is an extra (($) after the (J) e.g. (o\-mlﬁ) - to
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make someone don a hat.

g -
A o2

DN S APIIeF SR T2 % e s % st o .
j@jobmbﬂwb)wmj@jaww@wb:wﬁaj
- - z * - -z

/ LY e s wb ) L

-

(u-:«l}) was originally (Ls:“l';)- (l;w-lif) was originally
(:swu-f). (5Ud3) was originally (43). These changes will be

discussed later.

The second category - (4234 (U » (3><ko) has three groups:
(1) (i Lo

@ (Wl b

(3 (Uil 3=l

The first group (e >ls) has 8 (<! :l):

(1) (JJMJ/') — the extra letters are (<) before the (<) and the ()

is repeated, e.g. (q:.,,-:l;.u:) —to don a shawl.

2) (J}};Uf) — the extra letters are (<) before the (<2) and the ( 9)

between the (t) and the (J), e.g. (J}::m?/) — to don a trouser.

3) (J-i-;ﬁ) — the extra letters are (<) before the (<2) and a @y
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after the (<), e.g. (:})a-:if) — to be a satan.

€)) (J-é}éf) — the extra letters are (<) before the (<) and a ( 9)

after the (<), e.g. (i,)j};.d/) — to don socks.

&) (Jj;-ﬁ) — the extra letters are (<) before the (<2) and a (O)

after the (t), e.g. (fjmﬂlf) — to don a trouser.

(6) (J-i&:»f) — the extra letters are a (<) and a Q) before the (<2),

e.g. (zm) — to be poor.

@) (W) — the extra letters are a (<) before the (<) and a

(<) after the (J), e.g. (iv;i;f) — to behave like a devil.

(8) (J-;Uif) — the extra letters are a (<) before the (<) and a @3

after the (J), e.g. (u-«lﬁf) —to don a hat.

The conjugation of these (< Ju,f) should be done like

(;}i/;-‘j), while the last one, namely, (J;;if) is like (°“ Dl /aj, ' :,).

The second group, (JMLJ G><ke) has two (<! jj)l

(1) (:3\-1:-%31) — The second (J), the (0) after the (¢ ) and the ( 3a
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Lo ) are extra, e.g. (:»ml) — to walk with the chest and

neck protruding out.

o
0/)/) o0r - s ~ Or }bo/

ufyxwwuw\www\- ﬁm
) (:\L’a;g) — The ($) after the (J), the (O) after the (¢ ) and the

(25 3 2) are extra, e.g. (s\&Ll)) - to lie on one’s back.

w\ufwuiu,};.e;w\w@u i
W/"?a/ng@d‘)

The ()as) of this (L) — (sW&ks)) was originally

(Zﬁml). The ($) was changed to a (5 ).

The third group - (JU=él; 3>ks) has one (<L):
(JU:O}Q!) — The (9) after the (<2) and one (J) is extra, e.g.

!’ -0 °
(3142 S — to strive.

Ba i e a0 SIS G800 87 B B0 ¢ 4 433 2af
K5 Y KT Y Y e e 35560 M;fi

Page 141



In all the word-forms of this (<\), (#l£3]) has been applied and

the changes are similar to those of (:-;:231).

Exercise 35

What is the word-form (4z.2) of the following words and which

(<L) are they from:

Okt (V)

D35 Y ()
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Eﬂanvu%vﬁzumdumaya%<94uu&cf%Wa@pﬁa&%%¢

The Seven Categories

With regards to the letters of verbs, they fall into seven
categories, namely:

it ¢ Caslian ¢ G sege o 280 o L}jprL<JUh N
Definitions

—
Term Meaning Example
A word whose root letters do ooz
T~ 2

not have a (3 ), (il & —>)"?
or two letters of the same type

Jis | A word having a (i) &, >) )

in the () <)

24>l | A word having a (ida)l &, >) JB
in the (AJSJI cne)

o230 | A word having a (i)l & =) s
in the (Zu.lgj\ fY)

js~¢* | A word having a (6 ,—*) as a A
root letter — a hamzated verb

C - A word having, as its root g -
Las i Je
= letters, two letters of the same
type

il | A word having two (Sy—| 3

d=N) as the root letters

B The (i 4 ,~) are (5), () and ().
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1) The term (J_:M) refers to any verb that contains a
(Al S ).

2) If there is a (il 2 >) in the (i—dSJl cL_3), it is called
(U1 % or (Jee), eg (455,

3) If there is a (ida)l <2 >) in the (i—edSJI s, it is called
(‘;;;j\ 35;.1) or (Jj.z-f), e.g. (:_J\.:e).

4) If there is a (A=)} 3 ) in the (A—alSJ) 2Y), it is called
(f\.ﬁ\ i}.&i) or (_=3L), e.g. ().

5) If the (i—edS\ ¢L_%) has a (9), it is called (3l 9 J—24) eg

R

(4= 9).

6) If the (Ai—elSJl <) has a (&), it is called (Jl— JL—2s). eg
Creed).

7) If the (i—odSO) o¢) has a (), it is called (¢S 5 <3 5>1 )
eg (JU).

8) If the (Aol (19) has a (), it is called (SL— & s—>1)

eg (¢ L.

9) If the (i—olSJ) #Y) has a (y), it is called (33 ,25L) eg
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(3.

10) If the (2531 #Y) has a (), it is called (Fl— 23L) eg
()

11) If the (iedSI) 1) has a (5 —), it is called (—&)) § y—oge)
eg (4.

12) If the (A—eJS\ ) has a (5 ;—), it is called ( ) s—oge
oy eg (JE.

13) If the (SJ) oY) has a (532), it is called (D) j s—ogr)

eg (13).

14) (Ca—dl) is of two types: (3 9 —4s i) and ( i
Q9 80).

15) (8 9,—4s ca—4)) is when the two (i)l <2, _>) are
separate, e.g. (gs;/))'

16) (O3 ,—2s Ca—4)) is when the two (i—sl (2 >) are
adjacent to one another, e.g. (L“;}L),

17) If the (oSl (a2 and (oSl eY) are the same, it is

called (@‘)’b sl eg. (i\;).
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18) If the (<) and the first (J) and the (C) and the second

(J) are the same letters, it is called (g\—g) sl ») eg.
).

Exercise 36

Classify the following verbs according to the seven categories:

2 08

gy ()
(M
B
053 (1)
Sk (@)
SN (Y
&f vy
25 (M)

o= (1)

e (O0)
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The Rules of () so¢*)
Rule 1:
It is permissible to change a (6 ——"), that is alone and

(.S L) to correspond to the previous (& ).
That is,

(a) after a (4>=2), change the (5 ) into an ().
Example

( :,v @ )(head) becomes( :,»B )

(b) after a (Ae>), change the (8 ) into a ( 9).
Example

:»5: (destitute) becomes (rf}:).

(c) after a (8 .S, change the (3 ;&) into a ().
Example

°

u > (wolf) becomes (ub).

- -

VVVVYV
Rule 2

If a hamzah mutaharrik (&) ,—>s 5 ;) appears before a
(6 —=") that is (Of L), it becomes necessary to change the

(.S L) letter to the corresponding (sl 2 >),
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Examples

Sl becomes (ol
!l becomes 3!
Sl becomes ULl .
VVVVYV
Rule 3
(3.1) It is permissible to change a (5 —") that is (T s—2)

and is preceded by a (e2) to a ( 3).

Example

:;2;— becomes :};-

:;2;— is the plural of 25;2;- which means a perfume holder.

(3.2) It is permissible to change a (¢ —") that is (T s—=)

and is preceded by a (¢ ,wf ) into a (¢$).

Example
»” Y
~ becomes .~ .
VVVVYV
Rule 4

(4.1) If two (5;—>")'s are (2 —>) and one of them is

O fM—{ﬁ), then it is permissible to change the second (& —*)

into a (¢$).
Example
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LR ®_

is)) can also be read as o) .
If there are two (¢ —=")'s which are (4 ,—>») and none of
them are () jw—{»), then it is necessary to change the

second (8 7®) into a ( 9).

Examples
i) W1 will be read as #V

ii) +l1 will be read as J+’)

(¢\>) originally was (¢e—>) (J—1 a—ul of ¢L5). The
() which comes after (+—!; a—J)) will change into a
(6 —="). It becomes (G—?L;.-). Now there are two ( & —=*

4 . >s) and one of them is ( fM—{ﬁ) . The second (8 —®)

changes into a (¢$) becoming (25?;;.-) (according to the

rule of isl - rule 4.1). (Z;\—;.-) can also be written as
‘el The (e—>) on the (&) is J—® (difficult to
pronounce). Therefore it is removed and (Z,:—?\-;.-)

remains. Now due to ((S \ . t\ ~>-|) (the coming

together of two [:,S L—w] letters), the (;,S \—w ($) is deleted.
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We are left with u—f \> which can also be read as ¢\> .

z

Step by Step

el = G > (J5) (e s
—> (g sl) —> S
VVVVYV

Rule 5
If a (5,—") comes after the (3) or (¢$) that are s/—- and

81 or if a (5 —) comes after the () of (rea— V_w\), it is
permissible to change the (6 ——=*) into the letter that
precedes it and then (sl—%3]) (incorporation of one letter

into another) is made.

Example of () 85 sls

The word (35 /i) is the (J sade wwl) of (5 T3).
Example () sV oks

ey 8 P
I ' -0 e w -
. . P
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Example of p=.2’ r.w‘

3

The word (_ i) is the (a3 a—!) of (_s—50) which is

the (Ca’.*) of (:,i@) - meaning axe.

VVVVYV

Rule 6
If there occurs a (5 —?) after the (<a—J) of J—=\4s and before

a (), the (5 —") changes to (i—> si4» L) and the ()
changes to (_&J)).

Example

The word (UUs3) is the plural of (5ka5).

The word (\_3/\54-;'-) was originally (;5,,\_54-;'-). The (¢$) which
comes after the (J—S\) of (H) as the second last letter,
changes into a (o )—ﬁ"’).m It becomes (:9\—)/@;‘-). Now we
have two (3 —>s 8 *)’s and one of them is (JM").
The rule of (2—;\/) applies, whereby the second (8 —)

R <
changes into a (¢$) and becomes u-’\_b Now there is a

" This refers to rule no. 18 which you will read under the rules of . .
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(3 ,—") after the (ca—Jl) of |—<lis and it is before a ($). It
changes to (i—> 52+ L) and the () changes to (). The

word becomes (\J:Ua-;'-).

NOTE: This law is compulsory (U s> ).
Step by Step

2R - 28R - - -
- - £ - - )
VVVVYV

Rule 7
If a (5 ;—) is (4 —>=) and it comes after a (:,S L—w) that is

not a (64— ods) nor is it (skea— ) , then the (Ai—S ) of

the (¢ ) is given to the letter preceding it.

This law is permissible (*3* 5.
Examples
1) In the word (_%w—2), the (A—S >) of the (5 —*) is given to

the () and the (8 ) is then deleted. It becomes

().

2) In the words /C—L;T 26 the (S~ ) of the (5 —") is given to
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the (>) and the (¢ ;) is then deleted. It becomes

(b )

3) In the words sL_>{ "} the (.S >) of the (5 ,—) is
transferred to the (¢$) and the (6 —=") is then deleted. It

becomes (;\-;'- LSA:;)

VVVVYV

Rule 8
The rule of (Jﬁ:M_g/) is compulsorily applied to all the

(JLl) (verbs) of (55— and (& —) (23—l ¢ Lol

Jse29).

Example
In (') the (3i—><) of the (5 —+) is given to the () and the

(5 5) is deleted. It becomes (c5 ).

NOTE:
It is permissible to apply this rule to the (<livi—s ¢L_o*)

(derived nouns) too.

The ( s~ s-24) can be read as (Z;‘;-;) or (Z;,;).

The (U1 ("‘”‘) can be read as (31 ) or (8 ).
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The (=—=3) of the (6 —") of (S\T;_A) is given to the () and
then the (5 ;+®) is removed leaving (3! ).

The (J sxie v-w*) can be read as (;;1-;) or (Z;,;).

VVVVYy

Rule 9
If a (& ,—>=s 37 is preceded by a (4 ,—>=») letter, then

both (—— # (v— ) and (—= (— ) are both

permissible.

9.1 (—® Jn Ov) is to read the (5 —") between its )
and the (C &) of the ( ddl & ) corresponding to its
(hamza’s) 45 .

9.2 (—= (n— v) is to read a letter between its (C ,—>) and
the (C —=) of the ( - P | ,—>) corresponding to the
preceding (35 >).

(v Om) is also known as g

Examples
When (v () is made on the word (Jt»), then in both
(=22 On Ow) and (A—w) the (CJ—;) will be that of (8 }—*)

and (C&Y).
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In the word ((;-f—:w) if (—2 2 (v— (+—) is made, then the
(z &) will be between (6 and (). If (d—m Cn— ) is
made, then the (C &) will be between (8 ;*) and

().

In the word (635/) if (2,® U2 Ow) is made, then the

(G}) will be between (¢ ) and (). If (- — —) is

made then the (z #) will be between (6 ) and ().

(9.3) If there is a (i—S s 57— P) after (Ca—J), it is

permissible to apply (<= ov On) only. (A—ms (n— () is

not permissible in this case.

Examples

[1] In the word (;\jg), the (¢ ;2°) is (Cj:.i»). Therefore the
(6 ") will be read between the (z ) of the (s *) and the
().

[2] If (:\i.g) is read with a (4e-2), the (s ;) will be read
between the (z *) of the (s =) and (4 9).

[3] If (5C§) is read with a (5 ,~5), the (5 ;<*) will be read

between the (z_*) of the (s ) and (c$).
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VVVVYV

Rule 10

If a (plgiws) & 3#) comes before a (¢ ) as in the word

(;-55 ﬁ), then it is permissible to apply the rule of

(313 (Rule 4). Thus, (:ET) will be read as (:Z3) .

It is also permissible to make (Ja"-@-m_?), whether (—— ,®) or

(L)

It is also permissible to bring an (_a)l) between the two

(5 *)’s and read it as (}ﬁfﬂ),

VVVVYV
Exercise 37

(1) Apply rule no.1 to the following words:
Ro A »°, PR %
S () B M Y ()

(2) Which rule applies to the word (J\->'-T) and how?

(3)Analyse the changes to the word (;\.:'S:).

z

(4) Apply the rule of (j yo¢=) to the word (35 'see).
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(5) What can (::,jﬁ) also be read as?
The Orthography'® of the Hamzah
The following rules are general guidelines with regards to

how a hamzah is written:
(a) Hamzah is invariably written over or under an alif at

the beginning of a word, e.g. (J.»\) (J.»\) and (de.’\)
(b) When the initial hamzah is followed by an alif of
prolongation (long vowel _a—J! ), the latter is replaced by a

madd over the initial alif, e.g. (;J) for (jﬁﬁ).
(¢) The hamzah tends to be written over the semi-

consonant (4 Iall 2 >) corresponding to the vowel

(5" ) of the preceding letter.

Examples:

SRONGIINEMNEHED

(d) Where the previous consonant has a (O jg—ﬁﬂ), the
hamzah tends to be written over the semi-consonant
()l & >) coinciding with its own vowel (35 >).

Examples:

Jygen. @A, ¢t

This rule is applied for (L;—Jo\l\ J_mi-“) instead of (c) above.

Thus, (_»5—) is written with a () and (e—=) with a (&)

" the correct spelling
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without dots.

Page 158



The Paradigms of () 5¢+)

.\rU\ f.mubuﬁg\.d\)}o.e.p
I EES SN A S N S A S A S G S I DU
selo el oy Gl Bt s i a2k &

u\uuuuuupsbby&;}rﬁg' 2 Bl

-
[ 20 2

db.,\_>=~4 o.,\_>=~4 ) .l_>-\.,o d‘w A}uﬁ dwo AJUU J&-L@

;\_;Ti_dd,qa_u\ - Mu um}w ;wj,\}u

/

.~

_’y.\h

Lg.ﬁ;? i g.,.:}‘;.“j .x;-\)\j L)jv\J-\ u\b\

Soe 2
- |

Ll

g

Analysis of the changes

(1) The ( J_AT) of this («L—) is (-l_;'-) which is an exception
from the normal method of constructing the ( J—AT). (J_;‘-)
was originally (-l;'—gﬂ)

ia/

(2) Similarly, the (,—=) of (JJ " J_< ) is (JJ ). Tt is

o &

necessary to delete the (s ;*) from both (~\->-) and (Jf ).
(3) In the verb, ( J-AT—’: ;_;T), it is permissible to delete the
hamzas and to retain them. Therefore, both (3—}4) and

A2
° fo £
(——=9l) are correct to use. If the verb is used at the

beginning of the sentence, it is more eloquent to delete the
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0 f o2

(33), e.g. it is stated in a hadith, (oMb S0 ).

(4) If the verb is used in the middle of the sentence, then
most often the hamzah is retained, e.g. The Qur’anic verse,

c}g

Uiy BB,

(5) In the word-forms of (<2 s =l CJLﬁLL‘) of this (<L),
besides the singular first person (Hﬁz—» J—>4), the rule of
(:j}) has been applied. The same rule applies to the
(J il vesl) and (2 LI o),

(6) The rule of (3;-3) applies in the (LY ("'“‘)'

(7) The rule of (:»}4) applies in the (Js—g=! t)\ 5 Ly
except for the singular first person (r&iﬂ A1 9).

(8) In the singular first person (V'&:_A —=lg)of (¢ Sl
<2 5 ,#l)) and the (_e2ed! o1, the rule of (1) applies.

(9) In the plural (A—=) of (Jea—4id) o), the rule of (#13))
applies.

(10) In the singular first person of the (J s—g=! t)\ 5 ),

the rule of (&»}T) applies.
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Exercise 38

(a) Conjugate the following verbs:
ST

A

(b) What is the paradigm of the (Js+—¢= ¢ Jla— ) of

)
(c) What is the paradigm of the (<2 Py — J—»T) of
#)?

(d) What is the paradigm of the (<23, =l rﬁo\l\) of

P

(e) How has the word (;»*}T) changed from its original?

- T Sl s e

ALt b e i S et S
ool Gl b Y e 0
s T O e 5l e O e e 22a WU,
Byl O T T i a8 W T o

2

z
s £

8 oo B o 2L L or0 £ .o 2 50 j. ?/‘}g/}
Sl 5 el g Ol ] (gl e 550y T
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Analysis of the changes

(1) The changes of this (<2\—) are similar to those of ( Ji
J—;\g) except for the imperative ( J—AT) - (:-w—:l) — where the
rule of (O)) applies.

-

(2) The other (<! j—fi) of (5,—= u—?w) follow the same

pattern.

Exercise 39

Conjugate the following verbs:
A

(M

(b) What is the paradigm of the (¢ e 2y, =x0) of
(:-J,:f)?

(c) What is the paradigm of the (J s¢= 1) of (f)?

(d) What is the paradigm of the (J s¢22! >U) of ()2

(e) How has the word (\3;««;\) changed from its original?
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o
2 - 0 .
)\.a.q\;\ — Jld) ou o s\l J5og0
P
$0EY w08 o587 2z . o 5. 08 . s0f w08 .57 2. ..

AU e 5 Dlanl S el i se ler] L el
S 08 S0 £ .o o A, 7, 30, 808, o .o Ko
Nﬁ@d#‘ﬂuywwj\jﬁlm

Analysis of the changes

(1) The rule of (EJL;-ZD applies in the (<24 ,—=l r@u\),
(S22 and (jeas).

(2) The rule of (&f}f) applies in the (J s¢=! L“;,b\l*).

(3) The rule of (:j;) applies in the (<2 g =L t)b’z&\).

(4) The rule of (_»3—) applies in the (Js—g=! ¢ Lal),

(Jeld) o), (il eosl) and (2 L1 o),

b or
T z2% 60 Jf;/O /..°°g/ vf.gﬂ - ,/ 2 00 J..g/c //.fg/o
Teed U1l 03U 03Ty 03ELS T B 03ty 03B
“ffg/o b )‘/o }.oﬁ. 5.,;/9 :/ }:/ £ o Gy - °,,2/c/ S0 /}050/”,72/0 ,:
O3l ae O LI O3S Y ae g;@'d‘ﬁ O3] as LUl O3Gus
Analysis of the changes

(1) Conjugate all the verbs of (4—2 d—; ;e er)’u K—,”“}-,’T) like

the conjugations of (JL;T) and (;—;5;1).
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Exercise 40

Conjugate the following verbs:

(b) What is the paradigm of the (¢ Jla—s 3 ,—=s) of
(:-J,:f)?

(c) What is the paradigm of the (J s¢= 1) of (f)?

(d) What is the paradigm of the (J s¢22! >U) of ()2

(e) How has the word (\}:M-zl) changed from its original?

Discussion of (¢! j segs)

(1) The rule of ((— (n—) or (J:«-M—F) applies to all the verbs

of (L;b\l\) of (3 —= gs—’% sl J 3~¢#). Note that this rule

is optional.

(2) The rule of (J;laa:) applies to the (t ,la—s) and ( J_»T) of
(5 oW ol seg).

3) G5 55 s from (< ,—> L), (s JLZ) is from

Page 164



(3 ), (£t ) s from (& L), (3 #5) is from
(¢S <L),

(4) In the imperative ( J_AT), after applying the rule of
(J.M_:) the (J—2 s 8;—*) is deleted. Therefore (,—))
becomes (39), (LL;_LL) becomes (Z}_:w), ((;-;_:»T) becomes
(;v-:») and (;,_:jf) becomes (;'J}).

The conjugation of the imperative second person ( J—»T

3 9,28 o) form is as follows:

-
5 | 5y [ | B |5
e | e [ e [
SR AR

Discussion of (22U ) sex)

(1) In most of the word-forms of ((M—“ ) s—¢*), the rule of
(U ) or (i) applies, e.g. (L& 173).
(2) The rule of (j;ﬂ) applies to (J s—¢=! L;—Jo\l\ L>l9), eg.

)
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(3) The rule of (&S _w 5, 4w 5, ), that is the rule of
(:j;) applies to all the word-forms of ( J_AT) and (¢ Sl
#95%). Accordingly, in the words (f;—gi) and (%/J—:"v: ;.—g), the
hamzah can become (J—S\), in the words (;gjf) and ( ('_}/
;3:_3/), the hamzah can become (9) and in the words (:u_u,?f)

and (@Z ;J), the hamzah can become (($).

Exercise 41

Conjugate the following verbs:

u‘iﬂ/ (N
o (%)

3T (%)
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The Rules Of (_ixs)
Rule 1
(1.1) The (3) which appears between (¢ Hlall oldleyte

which is (7 s4#) and the (A—olSJ) (r—e) which is () seSs),
falls off.

Example

The word i\&}; becomes ika; .

Every ( 9) that comes between the

(7 50 ¢ Jlas <ldle) and the (Al ¢ ) which is

(C +—w»), the () falls off, on condition that either the

(3l ¢ ) or the (elS™ J) is from the (&> 29 ~)"".

Example

2 -

The word i-»:@j; becomes .

Note:

Every (& 3ls JL—%+) on the scale of (— ,—>) follows this

rule.
VVVVYV

0 ¢ Jlas ©Ldls are the following letters O ¢s < all

" The dil" J)JP- are the following letters: C C T&oes
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Rule 2
If a ()A2») is on the scale of (J;-;) and its (2l ¢ B) is a

(9), that ( 3) is deleted and the (A t) is given a

(5 ~5). A (5) is then added at the end of the word.

Step by Step Example

®
B! o - 8 o 2

-

Note:
If the (¢ Lz s) has a (—><) on its (i—edS~ ¢ ), for example

in the word (’C;;), the (A—elSJ) ¢L_5) of the (,2—=) can also

be given a (4>3).

Step by Step Example
The word (3\;) the (y\2») of (}C:'“; /Cw/))

28
L) L) 2’ - s s

&) — & &

Note:

8

28
It is also permissible to read (=) as (4zw).

VVVVYV
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Rule 3
3.1 Ifa (‘;5\# 9) is not (J:\Jw) and is preceded by a

(5 S)), it changes into a ().

Example

R’ 0

The word ZL/F;» changes to 3=,

Exception

The word (3\3_1;1) will remain unchanged, because the ()

is s (30iws).

(3.2) If (S L— ) is not («*4—=) and it is preceded by a

(4-2), the (¢$) changes into a ( 3).

Example

The word (i-m:;) changes to (;«v}i).

Exceptions

The word (E:i) remains unchanged because the (($) is
)
(3.3) If an (i) is preceded by a (ie—>), it will change

into a ( 9).
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Step by Step Example

Ju > S >J{}5

(3.4) If an (<)) is preceded by a (o JMJ ), it will change

into a (¢$).

Example
The plural of (;*}u) is (;* \><%). This changes to

(:—»—;JL;G;) because the (') is preceded by a (5 .S ).

VVVVYV

Rule 4
If the (AedSJI 1) of (Jxd) Sb)isa (@L@\ 9) or

(L2l ), the (3) or () will change into a (<) and

((;'93\) will be made, that is, both the (<)’s will be

assimilated.

Step by Step Example of (S 3 s Js)

-
]

W) — > e — i)

- -

Step by Step Example of (5L J)
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VVVVYV

Rule 5

(5.1) If at the beginning of a word there is a (¢ o2 9) it
is permissible to change it into a (5 ;).

Examples

(:}—;3 — plural of :;;-}) changes to (23—;\}). (This is an
example of an x1).

(1:,5_243 — the [J s¢=! L“;,b\l*] of & %) changes to

¥
(<=3l). (This is an example of a |=3).
5.2) If (, jw—ia 9) appears at the beginning of a word, it

is permissible to change it to a (8 ;).

Example

(&Lﬁ 9 — swordbelt) can be read as (%Uil).
(5.3) If a (é 3,4 9) appears in the middle of a word, it is
permissible to change it into a (8 ;).

Example

(533)) can be read as (; 33)).
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Rarely is a (- 54 ) changed into a (¢ <%).

Examples

(3-;-/) - one) can be read as (3>1).

(U5 — a lazy woman) can be read as (5U1).

VVVVYy

Rule 6
When two (& —><» 3)9) come together at the beginning of

a word, it is compulsory (——>!3) to change the first ()
into a (8 ;).

Example

(:)'P‘/)/j) is read as (:}w‘/)*/) (This is the plural of ::\Lp\})_

(f}mf}}) is read as (f)@}f). This is the (—*a—5 +—) of
(33»6).

VVVVYy

Rule 7
(7.1) If () or (¢8) (ﬂj—xrﬁ) is preceded by a A>3, the ()

or () is changed into an (&)
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Examples

Example of a (£} = 4) in the middle of a (_}=?):
(J}é) changes to (ZJ\;).

Example of a (i\ < ($) inthe middle of a (Jxé):
(/é-z/) changes to (E\-,:).

Example of a (5 == 9) atthe end of a (Jx-;):
(}33) changes to (L/F/J).

Example of a (&) ;> ($) at the end of a ( J=8):

(;5;;) changes to (gs;;)'

Example of a (4 > s) in an (("“‘):
(i,)jﬁ/) changes to (LQ).
Example of a (£ s ($) inan ((v-v“‘)i

(’:..«;5) changes to (LU).

Conditions for the above rule
This rule only applies if the following conditions are met:

[1] The (3) or (5;&» ¢$) must not be in the place of the

(i—oJSIV ¢ %), Therefore this rule will not apply to the word
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Q575 - the () is in the place of the (edSJ) ¢15) and the
(C2) is a (Cikes 2 ). Tt will also not apply to (&)
because the ( 9) is in the place of the (oSl cL8) of (ol

Jei),

It will also not apply to ;fm:f - (¢%) s in the place of the
(@S £ By of (ats ).

[2] The (9) or (¢$) must not be in place of the (?\—A-K C) of
a word which is (ca—a)). (Ca—4) is that word which has two
i_ls)l &, _>). Therefore this law will not apply to the word
(L;}_L) . Here () is in the place of the (i—lS" ¢). The
law will also not apply in the word (;5_3-;-). Here (¢$) is in

the place of the (delS” é).

[3] The (9) or (¢$) must not come before the (J—S\) of
(4s——= 5). Therefore this law will not apply to the word
(\'5—=3), since there is a ( 3) before the () of (u—=%t )
and in the word (\—;»;), since there is a (¢$) before the

() of (i),
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[4] The (9) or () must not come before a (64—} ol—»).
Therefore this law will not apply to the word (J_Z jb)
because the (9) is before a (¢$) which is not a (< —

WT). It will also not apply in the word (j}—:ﬁc) because

the () after the () is not a (L“g\_»a\ <2, >). Also in the

word (A—$), the () is before an (a—J) which is not a
(o) < ).

Objection
In the words (‘;:G/J), (OM), (d}:&;;j) and (M)’ the
(3) and (¢$) were not supposed to be changed to (c—)

because they came before a (64—} oi&d), but yet this rule
has been applied.

Answer

The (¢$) in these words is a separate word and it is the
(J#B) of the (J—=3), while the (s4—=) is not (+—!}), therefore
the (3) or (¢$) changes to (Qd\) and then falls off due to

(S Lo ¢ Loz ),
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Step by Step Examples

o & o -

FPCE (\31;;) — \3(93 — 156>

- - 2 0 - -
,5)‘/:.5./ T . ° /Lo./ ,5/:.5./
J ,(djlx-ﬂi) ’ O)L...\}u » O gy

- -

-
0o 8 0 ~ -

- 2o - -
O«...“(O '") ) OJ\:.." ) O PRy

s 0

o
L. 4 7017 . > o0« » - o0 &
(et ((ehr) RS e
- -

[5] The (5J—>=Iﬁ $) or (ﬂj—xuj) must not be before ( ($
Jl&—»), for example, the word (:; j—l-/c’). The (¢$) or

(& —><2» 9) must also not be before (A—S U 0), for example,

the word

)

[6] The word must not have the meaning of a colour or
defect, for example,

(%) (to be one-eyed),

(A22) (to have a crooked neck).

[7] The word must not be on the scale of (OL—k3), (_—L=2) or
(31;5), for example

(01733) — (OUsd) — example of ( 9). [meaning — rotation]
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[

(OUZw) — (OUse) example of (($). [meaning — flowing]

(&) 3—2) — (—I=2) example of (). [meaning — name of a
spring of water]

(6:*—;-;) - (H;-;) example of (¢$). [meaning — to walk
arrogantly — from A% 5>
and (i—S~ };-) - (?\—l;é) example of (). [meaning — weaver —

plural of S5 >

[8] The word must not be from (Jl—=:3| &L ) having the
meaning of (¢\& L_). For example, the word ,s—%>) (in
the meaning of ;}\_;J) and ;/j—:}i (in the meaning of

;}L;f). Both words mean to take in turns.

(7.2) If after such an (<)) (which has been changed from

a 9 or &), there is a (S L) letter, the (&) falls off.

Examples

[1] In the word (s s—=3), the first () changes to (CiJ). It
becomes (\3&«3). Here (_x—J!) has come before a ()5 — 9).

The () falls off and it becomes (\}33).
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[2] In the word ((pe—> 7), the first ($) changes to an ().

Due to the (_a—) coming before a (Qf L), it is deleted. It

PP

becomes (2 7).

(7.3) If such an (c=—)) has come before a (“—sU &) of

(—2L J—=9), even if the (<) is (&) ), the () is
deleted.

Examples
1. The word (oc)}_;/b) changes to (L"J\_ES). Now we have an

(<) before (—l &) of (—>ls |—=8). Therefore it is

deleted. It becomes (L}«S),

2. The word (U 's&3) changes to (Gle3). There is a ( &l L
4 > after the (_a—J!). Therefore the (_a=—1) is deleted. It

P

becomes L.

(7.4) In the ( &wo ) of (23,2l oW, from (& se o
L&) until the end, if the word is (S 9! 9 <2 s—>1), whether
the (oSl (1) has a (Ae—>) or (Ai—>b), after deleting the

(), the (2edSJI ¢ 1) is given a (Zow2).
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Example in which (i.lS" ¢ ) has a ()

(2,5}—5) changes to (;,5\—5). The (1) is now deleted because
it is followed by a (-, L—w). It becomes (;,—3). The (3) is
now given a (ie——>) because it is (S99 <2 s—>)). It

becomes (:*,E). The word (;'JE) is from the (<L) of ().
Example in which (lS" ¢ ) has a (e2)

S A R

The word (,1b) is from the (L) of ().

(7.5) In the (3o 25—l —5W), from (& 3o i
L&) till the end, after deleting the (a—J), if it is ( < s—>!
L;ﬂaﬁ) or there is a (SJMJ) on the (Z\_A.lf z) in ( Jj_z.\
S 31 9), the (2SI £15) is given a (5 wS).

Example in which (4eJS” ¢) hasa (5 S

In the word ((,2—), the (&) >+ (S) is preceded by a (A—>3),

Therefore the (¢$) changes to (c—). It becomes (:;;9\4).
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The (J_S\) is deleted. It becomes (:;,—:u,/). Now the (<) is

givena (5 .~5). It becomes (‘:';:u,).

Step by Step Example of (S 3 s <2 1) with (5 uS)

G e e s
The word (2;5-5-) is from the (s,J\-g) of (CC“).

VVVVYy

Rule 8

(8.1) If the letter before () or (&) is (S —w), the (i—S )

of the (9) or (¢$) is transferred to the preceding letter.

Example

[1] In the word (J's—&), the (i—S ,>) of the () which is a
(%e—2) in this case, is given to the (3). It becomes (J}_E-Z).

(This is an example of (S 9! 3 3 g l).

[2] In the word (}@3;), the (o jw—< ) of the (($) is given to the
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(<). It becomes ()@;;). (This is an example of <* j—’-‘f

<sL).

(8.2) If the (3—<,>-) is a (—==2), the (3) or () is changed

into an ().
Examples

[1] In the word (J's—4&), the (3—>3) of the () is given to the
(&). It becomes (J's—=2). Now due to the (i—>=3), the () is

changed into an (Qd\) becoming (J \-3;).
g — S — Jw

[2] In the word ()@;;), the (A—=®) of the () is given to the
(<) becoming ()@;;). Now due to the (—>=) of the (<)
the (¢$) changes into an (JJ\), thus becoming (}CL;,)).

2 048 2 o 8 2

Remember

The conditions applicable to Rule 7 apply to Rule 8 as
well.
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(8.3) If such a (9) or ($) is followed by a (Ofl—w), in the

case of (4e2) and (¢ ,wf ), the (9) or (¢$) will be deleted.
Example of (s 5l s <3 5>1)

In the word (Jj—b: ;J) because of (@5\_u tLA_::-l) the ( 9)

is deleted. It becomes (& FJ).
Example of Sl b g

In the word (aﬁ;; ;,_X)’ the (8) is followed by a (oS L—w),

therefore the (($) is deleted. It becomes (acy: ;J).

(8.4) If a (9) or () is followed by a (Qf L) and preceded

by a (i—>), the (_a—Jl) (which was originally s or () is
deleted.

Examples

(J}ij FJ) changes to (J\_E-j ;'_5). After the (<)) is deleted,

it becomes (J-E: FJ).
(oé_: ;'J) changes to (E\_: ;'_5). After the (c—)) is deleted,

. o 807
it becomes (@g (J).
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Important

This rule (Rule 8) does not apply to the words (:l_/f«} Z)_;)

because condition number one has not been fulfilled.

In the words (s j—)a;) and (u_;;;), the rule is not applied

because of condition number 2 - (Cid) (x8).

The words (J‘/j-z-ﬂ), (J‘}—;ﬁ) and (j;—;of) remain unchanged

because of the fourth condition - (651§ e J.,E).

However, the (9) of the (J y—=as V—w\) is an exception to
condition number 4. Despite there being a (64— ) ed—=), the

(3\5 ) of the (9) or (¢$) will still be given to the previous letter.

Example of (9 9 < s>))

In the word (3}}32) which is the (J s—=ds vu) of (JL3), the
(Ae—>) of the () is still transferred to the (B). It becomes
(3}}_32). Due to (S Lw ¢ L_az]), the first (3) is deleted.

It becomes (J;i; ).
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Example of (b O3 gr)

In the word (} “e2%) which is the (J s—sis v of (F L), the
(3—< ) of the (¢$) is transferred to the (<). It becomes
(¢ ). Due to (xS L—w § L)), the () is deleted and it
becomes (ﬂ@::;). Since the corresponding (3_< ) of ()
is a (5 5), the (<) is given a (5 S ). It becomes (2;2;).

Exception

In the words 3}—;; (to be one-eyed), i\iu: (to have a

crooked neck), QE—MT (black), :J.a-;—)f (white) and Sg}w—:

(black), due to condition number 6 (i.e. having the
meaning of a colour or defect), no change occurs.

The aforementioned rule (Rule 8) does not apply to (('_“i

Jsa—45), that is those words on the scale of (J}—ET); or

s oz

(o) JWasl), like (=81 U and 4 J »—31); and words that

are (b Gke), like (L% and ) 54).

VVVVYV
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Rule 9

(9.1) If there is a () in the (S &) of (J s—=) —>U),
the preceding letter is made (Qf L_») and the (—S~ ) of the
(9) 1s transferred to the preceding letter. Then the (9)

changes to (($).

Example 1

(9.2) If there is a (&) in (J s—g=! —>W) in the place of the
(Z\_A-K é), the preceding letter is made (Of L) and the

(2\—< ) of the (¢$) is transferred to the preceding letter.

No other changes are made.

Example 1

In the word (&;) the (<) is made (‘;5 ). It becomes

(/C;;)' Now the (35 ) of the (($) is transferred to the
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(<), thus becoming (é:;.).

s 2 s 0 -0

& — & —

~ -

Example 2

In the word (;ﬁf—;i) the (<) is made (‘;5 ). It becomes
(};;—;T). The (—S ) of the () is transferred to the
(<). It becomes (;;:_;T).

/)‘of /oof - o}

(9.3) It is also permissable to retain the (3—< ) of the
preceding letter and to make the (9) or the ($) (Of ). In

this case the (¢$) changes to ( 9).

Examples
Jf 5 J5

- }o.f /o}o.f s 0 R f
72— T )
2 2

(9.4) It is also permissible to pronounce these words with
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((Lf‘l). ((\—5“1) means to pronounce a (i—S ,>) in such a way
that it has the effect of another (2\—< ). For example in

the word (‘_}—:3), the (¢ ,m—< ) of the (&) is pronounced in

such a way that it has the fragrance of a

(2).

Similar is the case with the (<) of (&;). The (5 ,—S) of

the (<) will have the effect of a (4e—2). The condition for

this rule is that changes must have taken place in the

(<23 =) form of the verb. Therefore, the word (;s—)
will remain unchanged because the (<2 3,—=s) form of this

word, namely (;}fci) was unaffected by any change.

(9.5)In (S 315 < 5, if the (alS™ ¢ ) is (= 5244) in

(<2 g 2l L”;bﬂ\), after the ($) is deleted in the

(J 5= gs‘"m)’ the (2SI <) is given a (4e2) from the

(3ap2) of (—3& &5 5o &) until the end (ie. ~—=~ 3 )

e sige s S,

Page 188



Step by Step Example

s 92 2 90 2 % . 2 .
I — g — I o G
p . p P
/‘"..

(9.6) In (Sl— FT), whatever the (:—S ) may be, or that
(S3ly S 5—>) where the (—elS™ ) is () 3—S%) in the
(29—l L;;p\.\\), after deleting the (c$), the (Ai—JS) sL3) is
given a (5 S ) from the (dxw2) of (& & 5 &) until

the end, that is, (WSas Cige 5 Sde x5 43),

Example of (5t < s>)

- -

Example of such a (< 9 s szj) wherein the (&elSJ) (ne)

is () 3)

/.,}. l/,'°~ l/,'°~ I/
e P

- - - -

Note that the forms of (<2 9 —=+) and (J +—¢>7) are now the

same. However the (J_aaT) - original form of each one will

be different:
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Original Form | Changed

Form
(S5l 2 qf e
(Jse=) 2 - j; SE
(Dol ol A e
(J ) oW o oy
(Sl ol s P i
(el ol L L

Note:

In the (Js—¢2) of (Jlei ol L), the
(3\—< ) 1s not according to this rule i.e. rule number 9, but
is due to rule number 8 (the rule of :j;_:;_,:) Therefore the
rule of (;J;—Z) and ((Ls“l) will not apply. For example

(Wo' y T) becomes (/pw»i XY T).

VVVVYy

transferring of the
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Rule 10
(10.1) If the (2\—«-&5\ (Y) of the following (4&—2)’s is (9) or

(&), it becomes (S L—w) if it is preceded by a (ie—>) or a

Examples

(5502) becomes (31,) — example of (¢§ 5l 5 23L)

(:;*oj:) becomes (Zs”of:) — example of (gg =Y

If the () or (¢§) of the (A—alSJ) aY) is preceded by a (i),

it becomes (<)) in accordance with the rule of (JB).

Examples

(;M.w) becomes (M) — example of (L“;\% o230)

(}};b:;) becomes (Lg:b::.:) — example of (¢S o9 23L)
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(10.2) If a word has a () preceded by a (4e——>2) and

followed by another ( 9), that ( 3) falls off.

Example of ()

In the word /d)}}f«-i_g/ (— S &—=), before the ()
there is a (4%—>) and after the () there is another ().
Therefore, the first (9) is made (Qf L) and the second one

falls off due to ((S Lw t\-«b-l) It becomes (d}}f«tb:).

If a () is preceded by a (¢ jw—< ) and followed by another
(¢$), the first (¢$) becomes (Qf L) and the other ($) is

deleted because of ((sS Lo CL“-*"D

Example of (($)

In the word :J-g-gﬁj: (—2l>= &S 5e U 9) there is a (8 —S)
before the (¢$) and it is followed by a second (($).

Therefore the first (¢$) becomes (‘;5 L) and the second

() falls off. It becomes ((ys 7).

(10.3) If a () is preceded by a (4e—>) and followed by a
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(¢$), the preceding letter is made (Qf L_.) and the (3_< )
of the () is transferred to the preceding letter. Then the
(9) changes into a (¢$) and falls off due to (t@i
oS L),

Example

In the word (Zyj j—éa—’:) the (9) is preceded by a (4%e—>) and
followed by a (¢$), therefore the preceding letter (t) is
made (S L—w) and the (i—S ) of the (3) which is a (5 xS )
is transferred to the preceding letter, the (C). It therefore
becomes (&;}Gu). Due to the preceding (¢ jw—< ), the (9)
changes into a (). Now due to (S L é\—«-o-i) the ()

is deleted. It becomes (&;&35/).

(10.4) If a () is preceded by a (¢ JMJ ) and followed by a
(9), the preceding letter is made (‘;5 L) and the (i—S ) of
the () is given to the preceding letter. Then the (i)

changes into a ( 9) and falls off due to (oS L tL».b-\)
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Example

In the word (;’)}—;ﬁoﬂ/), the (¢$) is preceded by a (e jw—< ) and
followed by a (). Therefore, the preceding letter (p) is
made (S L) and the (:—S ) of the (<) which is a (ie—>),
is transferred to the preceding letter (p). It becomes
(/dj—nijg/) Due to the preceding (4e—>), the (($) changes to
(9). It becomes (Z)}}J:;) Now due to (xS L—w C\_“':""D’

the ( 9) is deleted. It becomes (C)}i;;).

Further Examples

‘fw (‘Oﬁl’f’g_ 29 ALl L;-~'a‘~U) becomes ‘j,a.j

‘_}-3-/") (‘}1::-'9 - J 5= o2UW) becomes Voo .

Step by Step
T I W
., ‘ﬁj

Vsry T sy TP g, P le

> s,

VVVVYy
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Exercise 42

(a) Identify the rules or changes of (J_:M) in the following

words:

2 oA

L33 ()

Rule 11
If a (9) appears in the place of the (LAJ-Q\ (Y) after a

(5 S)), the ( 3) changes into a (8).
Example

In the word (}_G}J) the (9) appears in the place of the ( (Y

i ISy after a (5 «—S). Therefore the () changes into a
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(¢$). It becomes (;593).

The same change occurs in (\.;93), (OLs13) and (4s13).

-

. 2 2
P e
- B s 4
ooz —> Leo
Ol gels—> Olels
;/ // ;/ //

5 &> > iels

Rule 12

If a () is in the place of the (2l (\!), preceded by a

(4-2), the (¢$) changes into a ( 3).

Example

In the word _& , which is (—31& S d>19) of (Sl
6;_/{) from the masdar (2}\_/@_;/), meaning intellect, the (¢$) is
in the place of the (LAJ-Q‘ (Y), preceded by a (4e—2). The

g

(%) changes into a ( 9). It becomes (}-@-3).

VVVVYy
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Rule 13

(13.1) If a (9) comes in the place of the (Z—A-lf t) preceded
by a (Sjm—ﬂ in the (y)*a—=), it changes into a (¢$), on

condition that (J-;lx-? — a change) occurred in the (Jx-;).

Examples

1. The word C’L:B (which is the ;A of %\_5) was originally
G,
2. The word Ll—» (which is the gz of 6\—2) was

originally \;*}«o.

However, the word (L;\}E) which is the (22») of (%}\3) of
(i—Jelas L) remains unchanged, because no (J—:l:u")

occurred in the ( J=2). The (=) is (%}\;).

(13.2) The same (J—:l:u") occurs if a (9) comes in place of
the (Z—A-lf t) of a word that is (H), on condition that ( 9)
is (S L) in the (d—we A—>13) or (J—=\=5) took place in the

(9) of the (3ape 4> 9).
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Examples

1. The word :p\}—f- (the ~—=~ of the word :,oj—;-) changes
to up\_.> This is an example of a (=) in which the () is
(S ).

2. The word 3*}—/2- (the H of the word 3—:;.-) changes to
3\_:-?- This is an example of a (H) in which the () is

changed in the original (from 3 );-;- to ﬁ ).

VVVVYyV

Rule 14
(14.1) If a (9) or (¢$) which are are not changed from any

other letter, come together in one word, which is not

(69\—9 2 é—xl-ﬂ) (on the scale of :C;—;-:B) and the first of the
two, namely the (9) or (¢$) is (Qf L), then the () changes
into a (). Then (pl—5]) is made and the preceding (o—>)

is changed into (5 S).
Examples
1. In the word 3 ﬁ—:ﬂ , (9) and (¢$) come together, and the

first of the two i.e. the (¢$) is (Qf ). Therefore the ()

changes into a (¢$), thereby becoming (t-kﬂ—:w). After
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A

((L'csl) is made, it becomes (Huw).

2. In the word (Zsoj—i;;), () and (¢$) come together, and
the first of the two 1i.e. the (9) is (Qf ). Therefore the ( 3)
changes into a (¢$), thereby becoming (:5—:;:;). After
(pLl—=>)) is made, it becomes (is—::;). The (4e—2) of the ()

is changed to a (¢ jwf ), thereby becoming (:5»3;).

3. In the word (($ sva—s), (which is the ,dwa—s of 2
:544—;;), the (9) and (($) come together, and the first of the
two i.e. the () is (Of ). Therefore the (9) changes into a

() becoming ’:;Li After (pL—*>]) is made, it becomes

3 os 2

(L;M). The (4e—2) of the ® is changed to (BJMJ)
thereby becoming (;Li). It is also permissible to read the

() with (s —S) corresponding with the (i—S ,>) of the

(), that is (i;,b-ﬁ).

(14.2) The (—sl= ) of (L2 sl — 5L — &) - to take
|

refuge) is (4))). The () changes to a (). It becomes j—;‘, .

-

Because this (¢$) has changed from a (6 —="), rule 14.1 will
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not apply.

Another example where this rule will not apply is the word

(O};b). No change occurs because it is (u-f*\-u-.’ G>e).

If the (9) and (¢$) are in different words, no change will

occur.

Example

(1) &y (5] — the () will not change into a (S).

(2) @ =l 5y (51 - the (&) of the word (L)) and

the () of the word (,—: ;) are in different words and will

therefore remain unchanged.

VVVVYyV
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Rule 15

If a word is on the scale of (Joj—ié) and it has two (9)’s at
the end of the word, then both the (3)’s are changed into
() and (pl—*3)) is made. The (4e—>) of the preceding letter

(el ey s changed into (5 ,«—=S) and it is also

permissible to give the (2l £ 5) a (5 5.

Example

The word (3}—§3) - (H of ;—§3) is on the scale of (:Joj—i;).
Therefore, according to the above rule, both the (9)’s are
changed into (¢$). It becomes (;—jg). Then (pL—$5]) is made
thereby becoming (Zs—fg). After changing the (%—2) of the
preceding letter into (3 ,w—S ), it becomes Zs—Sg It 1s also

3
permissible to read it as 65-3.

VVVVYyV

Rule 16
(16.1) If there is a (3) in the (—=SJI pY) of an  (r—))

preceded by a (4%—>), the (%—>) will be changed into a

(Sj«~—() and the (9) into a (¢$). The (¢$) is then made
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(S W), Due to (S e § Laz)), the (9) is deleted.

Example

In the word (;—fﬁ) - (—= of 3—33), the () is on the ( ¢V
Z\_A.KJ\) of an (v—m*) preceded by a (4e—2). Therefore the
(.a—>) will be changed into a (¢ ,m—< ) becoming (S—Sj).
Then the (9) changes into a (($), thereby becoming (:5_53/),
which can also be written as (Z,;—m/). After (($) is made
(S L—w), due to (xS L—w C\—«-?z-l), the () is deleted. It

becomes (ZABT) which can also be written as (JBT).

Step by Step Example

(16.2) The law of (16.1) will also occur on a yea—»  which
is from (J;ui-? <L) and is (¢ 913 =2L).

Example

The word (3—1;5) undergoes the following changes,

eventually becoming (J;f ).
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w ¢ ¥ ¢ ¥
TP M T g T g > e

\\i‘

(16.3) The law of 16.1 will also occur on a (y*we—=s), which

is from (& L) and is (s 9 =30).
Example

The word (35\—;5) undergoes the following changes,
eventually becoming (J 5).

-

— &

(16.4) If a () comes in the (el eY) of an — and is

preceded by a letter which has a (4——>), the (4——>) is

changed into a (5 5).
Example
The word ((s1) - (& of +—b) changes to (—1) , which

can also be written as (Z,:_be). The (¢$) is made (Of L) so
it becomes (Z);—')LT). Due to (S L_w é\_«.b.-l), the () is

deleted. It becomes (:;n—m), which can also be written as
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Step by Step Example

A
SRRV N

‘,...\
‘,..\
«-n\
——-n\

—
b

"y.\
,’y.\

VVVVYyV

Rule 17
(17.1) If a (9) or (¢$) comes in the place of the (Z—A-lf C) of

a word which is (J—ﬁ\é v—w\), the (9) or (¢$) changes into a

(¢), on condition that change took places in the (‘_}xé).

Examples

1. The word (J sL—3) changes to (). (Changes took place
inits J= from J’s% to JB).
2. The word (é\_;) changes to (ﬁcﬂé). (Changes took place
inits J® from /C: to EU)
(17.2) Sometimes the (i—a} 2 ,—>) is deleted as in the case

of (j\_l) which was originally (25\_:h). This word is used in
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the Qur'an: (,Ls d;— W Loy

Exception

In the word (Z;’)\:j\) the ( 9) will not change into a (3}}’) because no

change took place in the Jz-é (;S ):; LS};).

VVVVYy

Rule 18
Ifa (X)) 9)or (X)) &) or (V] i) appears after the () of

2 -
(J—‘Lé-‘), it changes into a (5 ;).

Examples

1. The word (3 /)\_;.;/9) changes to (35/\_;.;/9) - (H of the
word j}}x/ﬁ) This is an example of ( 9).

2. The word (i)/)\;_:i) changes to (f_,h-’i\;_:fv) - (—=> of the
word 2_.,1 J:») This is an example of (($).

3. The word (ZJ\/C»;) changes to (:}{\—;;) - (H of the word
ZJ/L:-U). This is an example of (X1 _al).

Exception

The (H) of the word (?\;;a—i) is (;J‘L:a—;). Although the
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() is original, it changed into (s —®). This is an exception

to the rule.

VVVVYyV

Rule 19
If a () or (c$) comes at the end of a word after (+—51; ),

they change into a (8 —"). This rule applies to all kinds of

words, namely jdwzs, > 4s, &=, e and Jalsr,

Examples of jJ2s

I * - 2 * - 2
1. )\PJ —>  cled (example of 9) — (;ub means
supplication).

® 8 * - & * - 8
ii. S'9y —p sl9y (example of ($) - (s)9, means

pleasing appearance).

Examples of &
i. ey ;L/Pf (=~ of /C\S)

e s o
—> cloud (CA.* of Hl’ which was originally

o £ * e £
| |

i T BT (e of .

Page 206



Examples of s> r_w‘

i EL:»{ —_— :L:»«f (example of 9)

ii. :5\3) — :\3) (example of ($)
VVVVYV

Rule 20

(20.1) If a (9) comes in the fourth position or later in a
word and it is not preceded by a (4%—>) or a (Qf L ), it

changes into a (($).

Examples

1. The word (OGE1) was originally (O/s$2—). The () is
in the fourth position of the (J_xé), thus it changes into a
(5).

2. The word (&) was originally (2’0, The (9) is in
the 4th position of the (J:é), thus it changes into a (¢$).

3. The word (i) was originally (&seia)). The ()
is in the sixth position of the (J—xé), thus it changes into a

(&)
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(20.2) The plural of (:Lél_») is (;9\3_2), which originally
was (};9\3—;). In this word, the () is in the sixth position.
It changes into a () and (pl—=3)) is made. It becomes
(;9\3—;). The rule of (3:—;) (Rule number 14, example 2)
is not applicable here because the (¢$) has changed from
an (ca—)). The (> —4») of this word is (). In Rule 14,

the condition was that the (9) or (¢$) must not be changed

from another letter.
VVVVYV

Rule 21
(21.1) The () that comes after a (4—>) changes into a

(9.

Examples

1. The word (& ,s——>) was originally (&,—) - (the
[J s¢2 2] of ;)\/b ; < L—5>). The (i) is preceded

by a (4ew2), thus it changes into a ( 9).
2. The word & iy - (e o) of (& ) was
originally (& J;\—io) The (—a—Jl) is preceded by a (fee>),

thus it changes into a ( 9).
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(21.2) The (<)) that comes after a (5 ,m—< ) changes into a

(C5).
Example

The word L—; % (plural of i,)\;;;u) was originally
;b\—;a;. The (<a—)) is preceded by a (5 ~—S), thus it

changes into a (¢$). It becomes (i..,-; )\-;a;) .

VVVVYy

Rule 22
If there is an (X5 ca—J)) before the (<)) of (i—% 5) or

(é L &5 Cé’r), it changes into a ().

Example

i.  The (&5) of (U_I.f;) is (OL>). The end of the word
(LSI':;.) has an (Qz_“) which does not accept a (3—<,>-).
Therefore, the (&) is changed into (cS).

i, The (&) of () is (DUES). Here also the the (i)

of (le‘:;) is changed into (($).

VVVVYyVv
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Rule 23
If (($) appears as the (2\—«15 t) of either a plural on the

2R 2
scale of (J_xé) or it appears in the feminine adjective on the

scale of (u‘&’)’ the preceding letter is given a (¢ jwf ).
Examples

1. The word (:'4:—9) (plural of ;L:a—g; and :JA:—)T/) was
originally :A_)} The (¢$) appears as the (—J5 ¢) of
(3—;;), thus the preceding letter is made ( jw—{»). It
becomes (:b-;,).

2. The word (Lr/i;" — meaning ‘to walk arrogantly’) was
originally (u—/ﬁ;—). The (($) appears as the (Z\_A-K C) of the

feminine (H;-'é), thus the preceding letter is made

() 3-58). Tt becomes (o).

Note:

This rule is like an exception to Rule 3 where the (($)
changes to (). Instead of changing the (¢$) to (), the (8)

is maintained and the (4%——2) which is the preceding

(& >), is changed to (5 ).
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The (Jsa—& ) falls in the category of (<15 a—l), that
is, a noun not having any descriptive qualities.
Examples

(3—b) - the (&—38) of (bl ). It was originally
(gi;b) - purer. The (¢$) is changed to ( 9).
(gs—:"aﬁ'{) — the (&— %) of (:Jm:—< T). It was originally

(u:»:f ) - (more intelligent). The () is changed to ( 3).

Step by Step Examples

2

s T sk

VVVVYy

Rule 24
If a (,Jva—=) comes on the scale of (2\—3}&9) and the (A—JS

C) isa (), the (3) will change into a (¢$).

Example
1’/0 207 1’/0 S0~ -
The word (Z\-Sj\gf) was originally (3\-3}3;), the (A—edS” &) isa (),

] -
-

thus it changes into a (¢$) thereby becoming (4-3/}25).
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VVVVYV
Rule 25

The rule for words on the scale of (:}9\-;?) or (:)—9\-:5-;), is that if
they end in (($), and are (e ,<J), [that is, they are neither ( . A
(\“J,) nor (2L2»)], then in (,—=! 4 HJJ\ il>), the (&) is
deleted. The (M C) is now read with tanwin.
In (2! Wl>), the word will remain e $idn),
Example of (¢ ,<J), that is, they are neither ((\“—3 2 ,=4) nor

(Sl (:‘5)‘_/};7) changes to (J“/j—;‘).

il | cadldl | 2y a8 J) Al

~
L2 o0 e £ ok

If they are (& ,x2), the (S) becomes (S ) in
(A @8 ) and in (cead) A, the (¢5) will be
(T 5429

Examples: (25)\}5.4) changes to (25)\}%\) or (S, 1)

il | cadldl | 3y a8 ) Al
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Sl e | Gk el | Gl e
All words having (5 = ($) preceded by a (e ,«»5 ) follow this

rule. Such words are called (e 32 V-wl).

Examples:

St 9~ &la

a5 jxa
Zst;.fl\ o ol 3 d.pw\ Jﬁj Zsfu\ o

= =R

P R 235 &2
Step by Step
5SS
ST el Tl Tl
W
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2

Lﬁf\jjs — ;f\jjs

VVVVYy

Rule 26
(26.1) If a ( 9) comes in place of the (M\ (Y)of (u_l;';) ina

word which is either (Lsl>x o)) or (Jo—s5 o—=1), it changes

into a (¢$).

Examples

i.  The word (L;jg) was originally (\}33). A (9) comes in place
of the (W\ (Y) of (61;-:). Thus it changes into a (). It
becomes (53). This is the (2l ps]) from (555 57 U3)
—to be near, [ ~2 U]

ii. The word (\_j-é) was originally (\/j—i}). A (3) comes in
place of the (W\ (Y) of (Lrt":)- Thus it changes into a
(). It becomes (Lj-é). This is the (Jwad V-wl) from ( Ue
\jji jjx) to be high, [ ~2 <L].

Exception

2
If this word is a (4&—»), it remains unchanged e.g. (S 9 J—f— (a

female warrior).
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(26.2) If a (¢$) comes in place of the (R—J-Q\ (Y) of a word on

the scale of (le:é), it changes into a ( 9).

Example

The word (6}25) was originally (L;fzf). A (($) comes in place of

the (m‘ (Y) of this word. Thus it changes into a ( 9).

Exercise 43

(a) Apply the rules of (J:M) to the following words:

-

S ()
=2 ()
&\:\f M)

= (8
3{\3 (©)
;LM )

St (V)

W ()

0 &

Oliw= (1 1)
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The Paradigms of (J Lis)

Baally 2 — T e sy e

g0 Lo . . 27 2 0. 3 o8 . AL 8 . 87 zZo. 8 . ...
S e e L Bl Y 4 0 e

B <0 < -0 f/ -0 2 ] ® 0 Lo f/~°/ 2 i
J\ L SO OL;_,\ A o\ KA J\_C«‘j,ﬂ d‘.’s&:ﬁ J\&:ﬁ e JU‘) J\.;“j.ﬂ

P

T o8 P Lo f s Lo £ s ° o.g,é J/TZ/ S0 o s 0
OJJ\_C«)\ OU_GJ\ .X_Gj\ e JM\ J&BU .L:.F\j.ﬁ Ololes

0 8 L R R o0 & 0 &2 So

q:.")L_{.,\.C«j B JJ«) d\-_{-z\&j L"S-Lf'j 4Ll C_',\j}fi.“} 3\9‘3?}
Analysis of the changes

(1) The verbs of (s 99 JL_2s) are used in all the (g)‘j—ji)
except (2 ).

(2) The (3) of (23 ,—=ll ¢ ;La_l)) has been deleted due to
rule no.1 — the rule of (ika-g).

(3) The (3) of the (y*~=——=) has been deleted due to rule
no.2 — the rule of (’s’:\f),

4) In (J s—g=! r.‘p\l\), the (9) can be changed to (6 —")

according to rule no. 5 — the rule of (23—;-6. Accordingly,

(1—93) can be pronounced as (:l—fj). The same applies to the
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feminine of the ( jw2—2adl —) - (L"S:X—of«})) can be
pronounced as (¢$ :Locf).

(5) The broken plural - ( ,«M—iﬂ =) of the ( J—elall —!
<— §») which is (3—9\/)?) was originally (3_9\}}). The first
(9) is changed to a (s —") according to rule no. 6 - the rule
of (3.

(6) The (9) of the (Y V_w\) has changed to () according
to rule no. 3 — the rule of (3\-;;»).

(7) However, the () is unchanged in the dimunitive ( ('_"'“‘
o) of the (V) ) - (il_ifQ}i) and in the ( —a
,-—<ﬁ) - (3—:9‘};), because the reason for the change is not

found, namely the (3) and a preceding (¢ ,wf ).
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end) — O Ol e S Jle

-

0 )56”,“; oo 3] 2z o 8. 08 . 3 & o372 oo 8 oo oo .
o pUN ) gt 948 ) st s o ety pooly 543 | et s o

-
° S0, 8 0By - o

J"""‘:.f Y as L;@-d‘) J""“;l
Analysis of the changes

(1) In this («L—), the only change that has occurred is in

the (J s—g=) C)‘ 2 1) where the (<) has changed to a (3)

according to rule no. 3 — the rule of (;»3;).

o — e L e s g1y e

S v e s e e e 5 '
Y S el

Analysis of the changes

(1) In the imperative (,—ol> J—AT) - () , the (9) has
changed to a (¢$) according to rule no. 3 — the rule of
(3Ws). The same rule applies to the (iJY! 1) = ( g 3—;%*"
(2) In the word (i}_>.\}\£), the () has changed to a (5 —*)

according to rule no. 6 — the rule of (J«o\/ﬂ).
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(3) It is permissible to change the () to a (5 —*) in (J_z-})
— the (Jj—@—é\ L;—»b\l\ & Sds u>l9) and in (J_;.-})) -
the broken plural of the (5 §» |evaid! o).

There is no other change in this (<U).

B i — s Sl o AT 51 Jl

s 7 s 7
R R Zo - & . o & - E R I w7 zZo ~» & . - -

580 Aoy by p gy g g oy 588 Brey Ly s g

2 b e 1y

p
30807 oso0. .37 7. 5 _os. 2. @ PN e S e

PRURSIVIVETS RGN YRV AF VD SEVIRErY

L‘-’Z::y“-&gé-d\)w“

Analysis of the changes

(1) In both the above-mentioned (< j—gf), the (9) of the
e ,L2—=) has been deleted due to rule no.l — the rule of
(fl—xa/). The changes in the other words are similar to ( :l_/f«}
dad).

-
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B 5 — G Ol o 5515 Jte

.z
rr 303 . 3 . 08 o 3] PR R

s dany ey G Gy 9 Goly sg2 Aoy Lany Gau Gy

G5 Y e gy e ae AU Besa
Analysis of the changes

(1) The changes in this (<\—) are similar to those of ( :X_/ff/)

A2 -
).

-

P

2 w

Y — Jlad] CU e (S 91y Jie

o L& so 20ES" wlds .2l s T2°s7as . M. e e s 2 2% 6 .8
Mime\mﬁsbu;imm\)mﬁbuim.u;l
a"&././ S0, 8 o0 Gy -

s Y oae gl

s 2t . .

Sl = Jld) S e Jb e
808 w. g8 .87 2 . 2°s. @5 . gﬁﬂ/ s g8 .87 2z . 2°% @ .. g
AU e s ] ety Sl g e g8 L] ey ]

° [

LN e T
Analysis of the changes

(1) According to rule no. 4 — the rule of (1_551), the (9) and

(¢$) have changed into (<) and have been assimilated into

the (<&).
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A2 .~

Sy d\a&\ubuﬁsj‘jd\.ﬁ

\\»r:.o

o}/oizaﬁc}/}, w0 £ - o

o ,«of/i\éo} . 8 \SLRJi .,Uj.: .,\.9)‘ M},}e}b\m\ -U)J Mj‘

an AUl B ge g
WEN G

AELa) — Jm\ gg‘y@\)dm

P
-
éaoo }s/o}/ e}a‘/ a/o}/} e/c// e/a
P -
S0, 8 0B - o L0 0 Sfo 20 % /o/b}/},

M;JYM&J\)MW\MJAU\MWW

Analysis of the changes

(1) In both the paradigms, the () has changed into (($)

according to rule no. 3 — the rule of (ZL;;').
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Exercise 44

(a) Conjugate the following verbs:

Page 222



The Paradigms of (sz-‘)

JQ“\ ubu.a‘_;j\)d}r\

P
fo 50 % o - -

&MfU‘wa YﬁJ@&)J’UW Vi Ik Ji
JWMJU‘)J)LMOUWJU;& M\Jﬁ'y&i;@:j\/

J;AT} J;)Lu QU‘)_LG J\j.u J)Lu duj.u A.Sj_sbé J)Lu QU).R.A

=

oﬁ}gyuqy\w}m)ogjﬁ\ouf\stu 2 )

S, U

°

There is no change in the words (J j—‘U’) and (4—5 j-U)
because they were originally (J* j—u). No change occurred
in (J\}—fu) because of the exception in rule no. 8, namely

that the ( 9) should not be followed by an (Qd\).
Hereunder follow the paradigms of the (Hu\) and
(¢ sla—=s). All other verbs which are (¢35 JL—+) from this

(<L) follow the same pattern.
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J}@\é)\.{&\\ JJ,’.\\&)L{L‘\ c(lc#gﬂ.:-‘\ cécﬂ&‘.‘\

A Ol pe | B O ae Jse S Py
i S il Syl
e B iEd | sy
| FA | &S | A
g SA | Ed | B
WA | SRAid | Wesg | Bisy
g = RRE
WEd | ShAid | desg | Gisg
JE | g | ded | g
W | A | il | whsd
gLy gl s CE
[P S Ji i Ji

L ST L s 08 o Syl
S SR

S I ¢ I D i) 0l e J el ¢ jLall
ywcyGUcyLﬁcyLﬁc
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J gl

U3 Ja | U |
oUks UG o olsts
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Ui

OUN e

Analysis

(1) Rule no. 7.1 applies to the words from (ZJ\;) till (\J/j\;).

(2) Rule no. 7.4 applies to the words from (:;,_E) till (LZE) in
the (<2 3 1! z)\.#al\).

(3) Rule no. 9 applies to the words from (;};5) till (\51/;5).

(4) Rule no. 9.5 applies to the words from (;,_I-g) till (\_{E) in
the (J s¢= ¢ L2l

Page 228



(5) In the paradigm of (Joj—ﬁé), rule no. 8.1 applies to all the

v&jords, while rule no. 8.2 applies to all the words of
(J3E).

(6) The imperative ( J—»T) is made from (:}3—:35). After
deleting the (¢ Jla L a_aMe), the last letter is rendered

(S ). The (5) is deleted due to (S bl ¢ L_wzx]) — two

sakins coming together.

(7) Where the (S Ll C‘ ~2>-) no more remains, the
deleted letter returns as in the paradigms of (il&dl 04 J),
e.g. (f;j}g).
(8) Rule no. 17 applies to the paradigm of (|}—s! —),
e.g. (z}{\é).
(9) Rule no. 8 applies to the paradigm of (J j_x.él\ (._w\),

e.g. (J}ﬁ;).
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Exercise 45

(a) List the detailed paradigms (j—SJl 2 2 1) of the

following verbs:

85x 35 ()
Flm E B (Y)
23}35 315 (7
Ui UG (8)

Lo 8. .~ -

eor e (9)

(b) Name the word-forms (é«a) of the following verbs:

e (V)
e (1)
SV
0 (8
o)
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The Paradigm of (_JL < s>)

G — S Sl e Gy Sl

@“fﬁu‘@*f}@#’ ‘-&e@‘-z@g)@i\e}@#’ ‘-&e@;atb.

® 0 fo f/~°/J - L -0 - Bo . S0 }.a"' o:/ ﬂ:.:/ £ o By -
4 °£/ O// ' ~0 -0 - Ll ”//0 ' s 0
J;-’*U&Leﬂ Oleles éw’cu dww}cu Olryee
,L:;o;/ /;,«;g ’:‘ _&;;"\/ ; U;/ fo;/of/,\-;::f;:af;; o/. °f‘
Ve 3 (F i an Sgally bl 5 Ol Ol ol e |2l

0 B R 8

Ly g

Analysis

The (J =4l o~!) and (<2 bl r—-!) have become similar

after changes were made. However, the original form of

each word is different. The original form of the ( v_m\
J +—=all) was (on—;:;) while the original form of the ( v_w\
< bl was (2?:;).

Hereunder follow the paradigms of this (<L).
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DY ol | QB | gl | el gl
d}aail‘
& & & X
Olagee Olxin Olsen ol
Olixs Olix REATH
"@L’; Sl Sl
s
Ol
el
Analysis

(1) Rule no. 7.1 applies to all the words from (¢ L—) till

(Gay).

(2) Rule no. 9 applies to all the words of (J s¢=! g«b\l*).
(3) In the (< 5 =l CJL'&U), rule no. 8 has been applied.

(4) Rule no. 17 applies to the (! ).
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o 20
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o U

To distinguish between the ( J_»T) of () s—e¢+) in which the
(6 —") is deleted and the ( ,—AT) of (&2 s> T), one will notice
that in (<2 5=, besides the (ke 4>13) and (& jo i),

the (aedSJ) (4) remains in all the words. Examples:

(e e sl i G 3 3 0 e (e
Z\—A-KJ\) returns in the words attached to (A& O s ) and

(444> O &) as well. Examples: (:.9\.;- :.;; :J;_B)

However, in (n—) +—g»), the (2\—«-&5\ —=) is deleted

from all the words. Examples:

- A - &
(ufl‘”‘gs{"”‘ﬁl”u‘”‘d)f‘g;ff‘)jfbf)

Hereunder follow the detailed paradigms of (L),
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Analysis
(1) The forms of the (_}—s\! 1) and (J s—=all ~—-=) have

® SL.s L
become the same, namely (3L—:2s). However, the original

form of each word is different. The (J}—s&) - #1) was
(3 5224) while the () s=all —1) was (¥'s—%2%). Note that the
(2 L wsl) is also the same as the (J s—=dll o)) as in all
other (<1 521) of (3,2 SN 1#).

(2) The verbs of the perfect tense (L;—Jo\l\) in the form of
(S8 She L) and (—8 S0 (—=) are the same as
the (—&l> S 4 45) and (—>> Sd s x~2) of the
imperative ( J—AT), that is (3\—521) and (\33\—:&1). However, the
originals of the (—>W)) were (\3}_51) and (\}3}_251) while
the originals of the (—=l) were (I3 j—fgl) and ('3 j—:gi) The
( J—AT) is constructed from the (t ,L2—») which is (/Q\S ?_535).

Therefore the ( 3) is () sws).
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R’ 0 £ So Lo, K 0 W - o0 .0 So fo %

)wud,u\;:;;/yug@s),}\ufm

This (<L) is similar to (SU3]) — (5 s 5 <2 s-1).
:\;L/E:.':»\j;_dm.‘a\ -l 055)‘) d}rﬁ

- Mw‘ /e 2 0 }aT/ ® o /5 A Mw‘}o -0 //L;'L‘M‘

-0 & R0 Lo, R oWy - o -0 So So %

C-Mud,w;ﬁwyud,jsjwsufm(m
Analysis

(1) The word (%L/Ef_:»i) was originally (6}:3:—4) Rule no. 8
is applied and it changes to (%é‘:‘”l)

(2) Rule no.8 and rule no. 3 have been applied to (;-:15;—3/)
which was originally (é jz-:-w-;)

(3) The word (Li\}-:"&—:»i) has been changed due to rule no. 8
to (Z\;L:L:.»\)

(4) The change in (;-255:-“;) is similar to that of (;.ZEELQ)_

(5) The (—aISJl x—#) is deleted from the (,—0), (—*) and

(p5% g obaa), eg (e ol ¢ (BTN (),
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(6) When (3 O ) or (Ai—isi> O &) is attached to the (—»l)

or (L;ﬁ) the deleted letter returns, e.g.

& 0,0 - @ -0, -0

(M ch\)

..//

é)b:....» — Jledzn) ubuﬁdb J}?\

A\Y

2 - 0 & o }aszaﬂo 0 &2 2 //o ]

55| )MW\)M}@ UW\,}MJW\

P

J//

This (<L) is similar to (PLEZ)).

Z\;\é\j;_d\.ﬁ‘ SL oo S99 d}ri

095‘5 }59 a/bﬂ/aﬁo}/} o 2 -

v.a\ujoU\(u,oj.@_eub\(Lmv,ﬂjr_u}@.emb\rm(b\
C-Lnimdj)aj\ "":Yf\::oi;@ﬂ\/

The changes of this (—\) are similar to those of (6\‘53'“1)'
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Exercise 46

(a) List the detailed paradigms (j—SJl 2 o2 Jl) of the

following verbs:
Sk 015 (V)
ErELM
Can (M)
e P (8)
uM AL (°)
(b) Name the word-forms (é«a) of the following verbs:

0o 8. -

V95005 (V)

Page 242



The Paradigms of (_=3l) and (et

M}Z:U\j 9\9..0\ J...m Sl 0 S99 uaﬁb
palin U el S £ e b LB5 e s
Ay A.SU\) C\.u Ol S JJ.}:J\ & N gy

u_;\.u ub\.;.u ;L;.u @W uL.c.u o\.;.u C\.u uL.c.u G;.u

z 2 oz

Ls:;iiiﬂu,g\) a}’é@é 5f ol T/Ls;‘sii.; wﬁ~°'fsd;3?3

o0 & 0 8

uLM.c«: 3 693 olees
Analysis of the changes

(1) The verbs of (Sl ,a5L5) and (Sl <& s—>) do not
come on the (<L) of (-29).

(2) The () in the (<2 b)) vwl) — (FA—%) and in the ( m—
1l - (F4—) is deleted due to rule no. 7. If these words

are used with (JT) or as a (J\«b_») the (J—“) is retained,

(3) The ( )) in the word (;LPJ—») has changed to (6 —") as in
the (yAas).

(4) In the plural of the (< k)l v l) - (;\2\_;) and the

Page 243



plural of the (w2—ad) —) - (tg), rule no. 25 has been
applied. )

(5) In the word (;;\’44) which is the plural of the ( p—-!
3-531\), the ( 9) has changed to a (¢$) due to rule no. 20.

(6) Rule no. 26 has been applied to (6:33).

(7) In the words (Q\_;:pf:) and (i”»\—;:cé), the (=) has
changed to a (¢$) due to rule no. 22. This applies to all the
words which are (¢— §» 45) of the (_feva—ad) (’_“”‘) and the
(e L &ige a2) of the (s ~—-), whether the words
are (). (a3L) o (Jins).
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Analysis

(1) Rule no. 7 has been applied to (\:03).

(2) If an (al) is changed from a (), it is written in the
form of an (1), e.g. (L—=3). If the (_=) is changed from a
(¢$).it is written in the form of an (($), e.g. (;;"’;)-

(3) If an () is deleted due to ((nS Ll C\—«-&-D or

((ps—=), if (J)) is attached or the word is (2liz—s), the
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() will be written in the form of a () in all three cases
— (—H g cwr iy Ce)\ dl>), e.g. If the word (él_;) has
(ZJ*/) attached to it or it is (<2lia—us), the (<—J)) will be
written in the form of a () e.g. (;:{;93—; g g*-ﬁ‘ l»),
((._<,‘;,\_» [ u.‘p.x_d\ L) and (G L;;A_Au &
;gﬁlca—z). According to the grammarian, Sibawayh, in
(e i J>), the (5, sa—2e i) will be written in the
form of an (_))), e.g. (;-%\33& ::,-;\/;)

(4) In the dual form (\}—33), the (9) remains unchanged

because it appears before the (Qd\) of (4.5).

(5) From (O}_/PS) till the end, all the words are in their

original form.

(6) In the (J —g=t! L;—Jo\l\), rule no. 11 has been applied to
all the words whereby the (9) changes to (¢$). In the word
(5£3), the (($) is deleted.

(7) In words like (}23—3/), the () has become (S —w) due
to rule no. 10.1. Tn (05523, (05525 and (a5, the (5)
is deleted due to rule no. 10.2 and 10.3. Besides the ( =

& — %) and all the forms of (4—x%), all the remaining words
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are unchanged.
(8) The plural masculine word-forms are the same for the

masculine and feminine, namely (/dj-}“-)\;) and (/Q}}f«tlf).

(9) In the (J s—¢= thb—k\), the ( 3) has changed to ($) due
to rule no. 20, e.g. (L;/Pil;).

(10) The (2> &S5 J>l9) and (—p> &S 5e &&) have
the same word-forms, namely (b:;u). However, the

original form of the (, o> & 50 I >19) was

(&;—; j:‘w) while the original form of the ( —»l> & — 3s —
was (O}/ciﬁ)_
(11) In words like (£3— ), due to the (Ci—J) at the end,

the effect of the (:;,5) is not visible.

(12) If at the time of (xS Ll ¢ Laz>]), the first sakin
letter is a (s4—=), it is deleted. If it is not a (8/—), the () is
rendered a (4e—2) and the (($) a (3f~—<), e.g. (d;@u) and
(o).

(13) Rule no. 11 has been applied to all the words of
(J—sW! —!). Rule no. 10 applies to (6*3). The rules of
(L2 sod ("‘A:“) mentioned previously apply to it.

(14) Only (pl=3)) has been applied to the (J 52l ).
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Exercise 47

(a) List the detailed paradigms (j—SJl 2 2 1) of the

following verbs:

o Bl ()
i 36 (V)

2

o 0~

san e ()
S ()
S Y (o)

(b) Name the word-forms (é«a) of the following verbs:

S ()
A RIe)
JEENLS
(8
250 (o)
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Hereunder follow the detailed paradigms of this verb.
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Analysis

(1) The (<3 pal) — (72 is () = s—=4s) if the verb
is (La3U),

(2) When the word (—%) is used with (J)) or as a
(C3Lias), the () reverts, e.g. ((orad) , (+San ).

(3) Rule no. 25 applies to ((\};) and ((*j).
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(4) Rule no. 7 has been applied to (u—Lj) whereby the
(<) has changed to an ().

(5) In the broken plural (6—23), the (¢$) was changed to an
(c—)) and was thereafter deleted due to ( twi
oS L.

(6) In the words (LTL;) and (\3_;;), the (¢¢) was changed to
an () due to rule no. 7.

(7) In the words (—2= ) and (L)), the (ca—J)) was deleted
due to (oS L) tL».b-\)

(8) Rule no. 10 has been applied to (\};3).

(9) Rule no. 10 has also been applied to (:5—/#:;), (:5_/::5),

(s () (03— ). (O3—= 7). (wr ). After changes
were made in the singular feminine second person -

(&,:»:5/) — it became like the plural feminine second person.

(10) Rule no. 7 has been applied to the passive tense verbs
like (_* ) etc.
(11) In the word ((“3), the () was made sakin and then

deleted due to (xS Lad) ¢ Lozx)).

(12) In the word (O;—i‘;), the harakah of the () was
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transferred to the preceding letter, the (($) was changed to

(3) and then deleted.
(13) Rule no. 14 has been applied to all the words of

(Uil ousl), .. (i;‘f)

(J‘}Jo}l\} &5:’/15‘—/&/“:“’ RS 1E) uaﬁU
508078 o .87 2z, o8 . 3. PTG for o | -
AU PS5 (P PR (P g”‘)j-@-’gs‘pf PR (P

P O r (o2 o win BB (25N e Ny ()] e
sloTn o e OB e 3LoTe ol e 0L Lo 2e AU
//a/?eg.:/ o ¥ |/o£ o/;a o,@/}/fz//d /:./// °
3 Ol O ol A e el ol h 0Ll

oo S oo, 8 |a' & o

Oled )y o2 OW) 2 e gl uab

-

—e

Analysis

! o E 2
(I) The same changes as ( S4— _—*>) have occurred in the
active tense of this verb. The other words are affected in

the same way as (j-é:kg/ \-/93).
(2) As an exception to the rule, the rule of (:5—53) has been

applied to the word (:;b:;),
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The verbs of this category are very similar to those of

°

% \
(L;f;l <))
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Exercise 47

(a) List the detailed paradigms (j—SJl 2 2 1) of the

following verbs:

SES )
S 5 (D)

oo -

Az ()

o .o - Vo

e s (D)
o oo -
s (9)

(b) Name the word-forms (é«a) of the following verbs:

Sy
SEHm
%fi‘%jm
Ol (8)

Isdl ()

-
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In this category of verbs, the rules of (JL—) have been
applied to the (i—alSI ¢L_5) while the rules of (”2) have
been applied to the (Z\—A-LQ\ n—=). Most of the paradigms

o o - ‘ e
are similar to those of (& 2 ).
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Analysis

(1) The (9) of (H) and all the other verbs has been

deleted due to the rule of (i\x,:/).

(2) The rule of (;—A:::) has been applied to the (¢$) of

().

-

(3) The imperative (B) was constructed from (:5—25). After
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deleting the (¢ Sl L i _aMe), the last letter which is a
()l & >) was deleted. It became (&3).

a;iyjs{_;,.,.;uuy@),aﬁ@ﬂ

Lo }of/” o 87

e Al Joe ‘U\U M Ls’w J*} o WJ &
&:AZ\LJUU J\’j; uu}; L;};ifwujwsupyii’;;;ﬁ(
u’) 0\53) 653 ‘)@' J}i)\) J‘ET Oy f J‘ JJ

//)‘/

The paradigms of this category is similar to (;-u?: 6’5})
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The (9) of the verbal noun (,42—=) changed to (¢$) due to
rule no. 16. In (—y =} & Jb>) it is deleted due to
(oS L g Loz,
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Exercise 48

(a) List the detailed paradigms (j—SJl 2 2 1) of the
following verbs:
o - \ -
R QD)
\O s s e
= = (V)

P

st gy (M
Sa S ()

| o f

5o 2 ()

(b) Name the word-forms ('C;«a) of the following verbs:

55 ()
SE M
E vJ (")
ey ()

S5l (o)
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Combination of () s+¢+) and (JSM)

SR DU e Sl Daxly W sega

sty Jase oW 55 53 V3T U L BT a8 YOI Y,
JEY as

n

AN

J7

The paradigms of this verb are similar to those of (ZJ;-:L: J\é)

The rules of () seg=) have to be applied to the (5 ;*) while the
rules of (J«”M) apply to the (9). Wherever there is a conflict of
the two, the rules of (‘_}w) will be given preference. For
example, (3}};) was originally (:Bi:). It required the rule of

(:,»B) to change the (5 ) to (_&)), whereas the rules of (‘_}w)

required the transferring of the harakah to the preceding letter.
Preference was awarded to the latter.

Similarly, (ZJ)ET/) was originally (:J};T/) The rule of (;',:J)
required changing the (5;*) to (Qd\). However, the rule of
(‘_}w) of transferring the harakah was preferred. It became
(3}3\/) Thereafter, the second hamzah was changed to ( 9) due to

the rule of (é:*}i). It became (J}}T).
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This (<L) is similar to (}é.:; /CU) The above-mentioned rule has

to be considered here as well. Consequently, in the word (i\;‘é),

-

the rule of (&:-g/) is given preference to the rule of (:»B). The rule

8

of (Z\L‘T) applies to (1:3?).

The rules of () ss¢~) apply to the hamzah while the rules of

(U22Y) apply to the ().

-

S DU e Sb @865 W sege
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This paradigm is similar to (& 2 ).
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cﬁeuudﬁguuﬁau)wu}w
-0 2 V2. 2
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6TJAMAJY\)9\JAQUJAL5\JAMJJM\JJyt\.:&u.@_ﬂ\j

fg\:bfd‘;juw\ Joif Ls,\,a uu,.;sfosf

Page 276



As mentioned previously, the rule of (J::Mj) is compulsory in the

verbs of this (<L). Hereunder follow the detailed paradigms of

this verb. Since it is a very common verb and many rules have
been applied to it, it should be thoroughly learnt.
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Analysis

(1) The verb (& ) was originally (51). The rule of (_£2) is

first applied after which the (($) is changed to (<)) due to rule
no. 7. This change applies to all the word-forms except the dual
form in which only the rule of (J-‘:M;) applies. In the plural

masculine forms and the singular second person feminine, the

(<)) is deleted due to (CsS L) g Loz,

Voo
(2) In words like (¢ 2 dj), no visible change has taken place
because the (_a)l) does not accept any harakah.

(3) The (qd*) is deleted from words like (;,: ;J) because of the

(-
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@) Tn words like (5 ), the (cS) reverts in place of the (all)
because the latter cannot accept a harakah. The AL O $)
requires a (4>2) before it.

(5) In (33};5/), due to (S Ll t\-«b.-*) between the ( 9) and the
(0), and the ( 9) is not a (6-»). Therefore a (4-2) is rendered to it
to indicate the deletion of the ( 9).

(6) The imperative (;) is constructed from (655). After deleting

the (t JL'A\ L), the (&) is deleted from the end. It becomes
).

(7) The imperative (3;;) was originally (;). The (ol )
which was deleted due to a (223) now reverts. However, the
() was not capable of upholding a harakah. Hence, the (8)
which changed into (_&)) reverts so that it can carry the (d>3)
which the (L& O §) requires before it. It becomes (3;;). In (33})
and (Zﬁ,;), the (9) and (¢$) are rendered a dammah and kasrah
respectively because they are not (64w). A harakah is not

permissible on a (84). The dammah indicates the deletion of the

(9) from the original while the kasrah indicates the deletion of a
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(1) The remainder of the paradigm is similar to (}C“’ )

(2) The verb (;LI:; ;Cz) which is (S < ey eI segs) can
be from (= <L) or (cré <L). A letter from the (4> 24 >)
is present in the (M-Q\ (Y). The (5,«»{) of the (L;'pu* JM'J\) is
not visible. In the verbs before ( ) the (¢$) was changed to
(Qd\). The original of the (Qd\) could therefore be either ( ($
5 jM-iA) or (4> gs (S). The question arises as to why the verbs
from ( ) till (L:,;) have been rendered a kasrah. The answer to
this is that if this verb is from (x=" <L), the kasrah of the ( ¢l
1)) indicates the kasrah of the (2edSJ) Cxe). If this verb is
from (cﬁ% <\), the kasrah of the (adSJ) ¢13) indicates the
deleted (S) as in ((y%2).

(3) In the imperative (¢s>~) and the words affected by (» ) like
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o _ e I’ 2/ o ’g
(o= (J), the hamzah can be changed to ($). In (L&) and ( (J

8 )
Liy), the hamzah can be read as an (Qd\). The (ZLJ\ ) will
however remain and not be deleted because the hamzah is a root

letter. In ((‘)U\ ) segs) the (1l eY) is not deleted.

(4) The hamzah of (25:25) and (2;;'"-«;) cannot be changed to (¢$)
and then ((Lbbl) be applied because the (($) is an original letter.
Therefore the rule of (44l2>) cannot be applied here as this is not
a (851 ) o),

(5) The (¢8) of (29&;.&) and similar words is not changed to a
hamzah because it is a root letter. The rule of (j{\.;.lc) only applies

to a (SJ\J‘U 9) or (SJ\J‘U &$).

Exercise 49
(a) List the detailed paradigms (Sl <3 2 W) of the

following verbs:

V2. &
ELRCED!
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The Rules of (_isl.2x)

Rule 1
If there are two letters of the same type (_m\—=s) or they
are similar (- L&) and the first is (S —w), it will be

assimilated into the second letter. That is, (#L—=>)) will be

applied.
This rule applies whether the letters are in the same word
or in two separate words.

Examples of (#L£3]) in the same word
Bo - 3.
i. dde —> L (Example of [(rewsmia] letters, that is “37)
Bfo -, ?5 -,
ii. 4% —» A& (Example of [ ia] etters, that is “37)
ot o o d -
iii. V—TM —> v-?u\-& (Example of [gg)\—w]

letters, that is “>” and “<>”)

In the case of ({rv J\—:t:ﬂ), the first letter is changed into the second
letter before ((\-'931) is applied. In the above example, (2) is changed

to (<) first, and then the two (<)’s are assimilated. However, the ()

is still written, although not pronounced.

Page 286



Examples of (#l5]) in two words

.o 20 Ao 0
Ly 23] Ly 23]

-
@

S Ve — 18 Iyar
Exception

In two words, if the first word is a (o:kﬁ)l, the letters will not be

assimilated, that is, (#l&3)) will not be applied.

Example

o~ o0 ,

L

However, if the (5d—=) is in the same word, (pl—s>)) will be
applied.

Example

2P P

VVVVYyV

'A (1) is either a () preceded by a (¥i—>), a () preceded by a (s ,.—) or
a () preceded by a (a)
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Rule 2
If two letters of the same type are (iS —>=»), and the letter

preceding the first (J}T J.\E L) is also (iS —>=»), the first letter
will be made (Qf L) and then the two letters will be assimilated,

that is, (#l&2)) will be applied.

Example

-

s — @

/\W

2nd 1 letter
letter
il — ol —— @]
J \ o2
Jy s L
4 e
1" letter
i& J>L:ﬁ
2nd
letter
However, if a noun ((v-wl) has a (3\5 ) on the (Z\_Q.lgj\ ), the

letters will not be assimilated. In this case, ((\.&«JD will not apply.
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Example

e
2
® 2R

2
VVVVYV

Rule 3
If the letter preceding the first (d}T J—»E U) is (‘_'; Lw) and not a

(o:LA), the (:\f ) of the first letter will be given to its preceding letter

and then ((‘ufbi) will be applied.

Example
580 - p Fo 2. > 3.
Sy Sy SN

\\‘(JF L3 w) preceding letter
(J9)) first letter

(L}U) second letter

I
2 20 - 3 ..

);é—» IR — A (<« 2 b

L~ 0 B
o e . e

Exception

This rule does not apply to the words of (3>ks).
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Example

> (No change is made.)

VVVVYyV

Rule 4

If the preceding letter is a (03—»), without transferring the
(S ,>), the first letter will be made (Qf L_.) and both will

be assimilated, that is, ((G«JD will be applied.

Examples

-

5 (J}J.&A G’bu Ja.é)of (WLAA <L)
NN

X 1st ol

2nd

VVVVYy
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Rule 5

If after applying (#L—>3)), there is a (i—2 s-pause) due to
( J—AT), or there is a (p —-), the following are permissible in
the second letter:

i. &>® — because it is the lightest letter (0\5 ,4-\ uv-T)

ii. o J-wf — whenever any ((J'{ L) letter is rendered a harakah, it is

rendered a kasrah. The rule is (},ﬁb /ﬂi;- /iSi;- 13] :;,_{L..J\),

iii. (\f*bl :’Jﬁ —(no (\f*bl takes place).

Example

.
3 .. @

The (ikeo ol of (2 ) is:

¢

\ly\(

\ .
\(yi\

\ .

LA
If the preceding letter (J}T ‘_)_5 L) is (p so~2—), then (Ae—v>)

is also permissible.

Example

-

o800} ds. 07 & 5.0 7 Y20
Jv\.«.gvjcu\.«gr}cv\.«gvjc v\.«.gvj

When the final letter has (O ﬁw), either because of a suffix, or

because it is in the jussive case (¢ 4'.;.-\ d>) or it is the imperative
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( ,»;Y\), the two letters must be written separately, e.g. (U/B:l;) and
)}

When the final letter is (£} =) — it is vowelled — the two are
coalesced.'® This does not apply to the (*,=2») — verbal noun,
where the (&) interposes between the two final letters, e.g.
(3I2%)).

Exercise 50

(1) Which rule has been applied to the word (Z,—E) and

how?

(2) Explain the rule applied in the word (O;ﬁ Z)).
(3) Analyse the rule applied in the word (1&».’}:).

(4) Apply rule no. 4 to the word (33)).

(5) What are the different ways of reading the imperative
singular form of the following words?

e
o2 (V)
X (M)

18 « - .
joined and made into one.
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o

2 ¢ s Bo %o - P I . ds. 3.

“uj,oY\zjmj.@_e\mmujsuj.@.ﬂm I

s}oﬂ

MMJJE\JMYMYMYMYM&JUJM\

E\

JMM JL«A db J\M JLA.A dUw.A .,\M L 4\.5‘})\) JLo..o d‘-w

£ S PEPE ey
| | I el

}
[
sbe

Analysis
(1) Rule no. 2 has been applied to (i\;).

(2) In the words (A%), (Aes) and (2%2), rule no. 3 has been
applied.

z

(3) Rule no. 4 has been applied to (JLA) (JLM) and (3UT),

(4) In the imperative and prohibition (6@-25\ 9 ,&*), rule no. 5 has
been applied.

Hereunder follows the detailed paradigms of this verb.
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S asST
¢¢,5¢o
J =

S asST
4‘-)&4
J)J:.U

é)\-{el\
J =)

Sl
J}J;.U

s?”u‘
J =

& 2.0
Ao

®©
o

¢

®©
o

3

od . 507 ods. o 7 /.o(z/} /.0(3}/ o d s o d .
e | she | O | Ok | e |0y
u/:‘a/ u)‘:s/ 5/5 5}: o @ & o & -
G807 G207 L E o2 N 6 2 -
- -
o~ 0 & " oo . /.o A T o .
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Jse! g oLall
aLad) OJ.J\ &

e

f e A

Jjjvl\

J 5!

G507
.Lo.g(,_s

wﬂ/;’J

aﬁﬂ/;’J

i
@;:;’j

/.c}c/;’J

AN
AR
B
o
VJ
AR

2

o
—n

;J

°

o

'Mc;&dcdwcdw

c'wcbwcdw .L«.J A.L.a.;-\dj..s\

Sl g kel

bw‘ ay // Bé //
OM(OQU(O.@(O@
iaid) Ol e J g2 ¢ L2l
&5 Cg.dr Cw_ g ° 4
RSN (R PRCR Ve
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o

o

J}éﬁ.\ Jﬁzﬂ\
g 0).:5\ &

Sy A
g 0).:5\ &

Jses Y

Sy A Yl

owz};

@

C)w}/s

O

’/// Y g > G5
RV a1 oo 1o
@ 4 @

®©
Y

e
S

(o ©

\&
S

i(;\o

®
Y

S
°
iy

c
G o

®
S
o\

\

-

s -

o

-

2

° g5 °da. ° 6 s
cowcoﬁgca@:w\oy\@

Sy e

° 5. ° & 3% ° ¢
Oded ¢ 0ALU ¢ O

KVE RN VEPIRNVE IR W PIR VIR TSIV 6 P DR PRI

° &1 ° £ ¢ s
O ¢ 0Ll ¢ oAl ¢
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Jsed! )

g C)yj\ca

J)J:.U S5@.’3\

g C)yj\ca

Jses! &

J)J:.U S5@.’1\

@ EB

PR a8
Odes Y Odas Y da Y

®
{\n
AN

[V

%:1
Bé\n
£
A

PR PR
Ol Y Ol N

78 s 3s. od . s od s
,Y u,w\{ )Jw..g,y )JA{Y

“8.57 R EPR .2 3.

0L Y NEWAN, LS Y LY

r P

G s

—’i\

g\n
EAN

[V

AN RN

RESWRN S Y

C
C
v
£
54\
(;.\
v
\

C
ve
b
ké\

8.3 G s . s .87 s .
OdLs Y u.w}! LS Y LSy
’{@/5’ L 5.2 s,
“.a“«/g’ ﬁ,w;:’ od . 2 od s, {
Odas Y Odas Y )M\! )J\NY
Ty “yoa o ¥, o 23
BEWA NNV S Y S Y

2 g 4 s .7 & - s .7
RNV, RNV, WA S Y
%/c/a}/ y/a}ox/ o0 & /.BIO//
olsad Yy olsas Y O3S Y NEXVERN
PP %5 a7 .7 g 5%
NEVRY NEVIY NV |

®
N
\

AT

é

) Ol e Dy el g

- ./: °.‘f,;:/
ch.@&cu.@}h

Ak O gl e J a2 )

/Blco.wvcu.wﬁh
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Y ! SN el | gl el | el gl
"\5 - w o s B®o 8o ~ 25 -
Jen J)Jw.» sbe
L L e L -0 80 - L
Oldan Oldan 013 gdews BIE)
/5/// /3// :5}5}0/ :55/
VA VA O}J}JM deLﬂ
f@ - f/o S0 - f& -
8das 83 gdes asle

R OUS S RV
3 .. R ~0 8o - R @ -
Sles 1 glos <olale
i

013100

2o oo

Loles

Analysis

(1) From (033%) till the end, no (ple3)) of the first () applies
because the second radical is (Of Le).
(2) However, from (i.’);:\:o) onwards, ((\-531) applies because the

(3) and (&) are (C,ﬁd* —2,®) — close in source of
pronunciation.

(3) Rule no. 5 has been applied to (i\i-g/ FJ) etc.
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Exercise 51

(1) Conjugate the following verbs in detail:

(2) What is the word-form (4=.2) of the following words:

0%k (V)
bBiC,m‘;j(Y)

o ¥ .

&,JJZJJ/(\‘)
S ()

@ 2
22 (%)
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& Sl e aslas
dio oY) o gan sgd L oy e g e ggh Ll g e

=
w s s

ol 5§ Y i Y e iy oy [ o

3oL
paad AlR

Jad) Sl e Caslias
‘}_G_.g‘;‘//) o.i/w)o.jch.fjwjo.ﬂj-e-é‘;‘//) o‘l/w)o':ch.i/
:yﬁ/) o'::yw L";G_J\); /1 0'1 ﬁ/j c'iﬁ/’ a.lu J_,{y‘ ’\5/) o, &
ujo.}udju‘aj/)o.:y/]c.z

In this (<L), the (J—s&! =), (J s—=all —=) and ( p—!

> LIy have become similar in form but the original of
the (J—=Wl w—a) was ()l ) 5S) while the ( —!
Js2all) and (2 B vol) was () - g2ie).
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Juadll QU o asliae

o .~ o Y. o ®. 0 2. o . (P o 3. 0.8 . o
ey 3uld) A AL ae W) A g B10LLS) AT DL

¥, oos .

YR mdﬂ\gw/ TN ALGE Y ALEY as

Jladiw] G o aSLas

o i/b“}‘*/o$&_‘/c‘ "‘J’*/o} .‘4‘/15‘5"/0 /Gi/s‘
)W;M‘W;MJAYM%AJW;MW;

o
w© Z

ﬁi:b)mdjw‘z »”%}y"f:%}&":bi:yw%;@_j\j

-

Jwdl Ol e Caslias

@

£ 3. Lz 0 B @f 3 Lz 0 B
Dl e oV D0 b 13100) 200 20T g Jds 4gd 15105 Jg 25
f

¥ . o o8, ¥ @ { o o
N ane 2 LI ALT Y QS Y AT Y we gl 305

Jeadi Qb e aslias

RE . R Zo o - %8G . 8 ¥ 38 ®Y . 8 Zo o - A¥Y . 8 G .

A 5 Jgdond Ddomy Ddor 9 Sdoms g2 Ideed Ddomy ddr

’SZ\QJMQJH\ 3:&.;.5‘94;9&@.'3\)3:&.;-uf‘§[\

3., .
.
a//}/# w z3d s @ @

s 2 RS A e AT
. P .z 5 | . !
P

z3& 2
. o7 4 .
g2 e

Page 301



MLJJM‘ w:})wgﬁ_@;j‘j°.ﬁ/,:¢ﬁf¥\ﬂ.f/.:;

s 5. .8

o e

The rules of (pL—=5]) have not been applied in these two

paradigms.

el OL o aslins
Cwﬁsow&ga})Cquw&/}&&

Wherever (#L—3)) has been applied in this (2\L—), it is due

to rule no. 4.

oW Sl e aslias

3. s 28 . .8 . .8G0 s 3. s TINE R

Slate 448 13305 sUz Jj..,zs 9 sl gox I33Us5 sUsy sUss

Y . P A T - B -

Y;@Ys@}}u&i\jssmsmsmufw

3. s o -

Sl a2 LI P %]
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A Combination of (_2sL24), () segs) and (J«“M)

AT PR AT W A A A RS R IR R
oo 3 B LAY AV AE YUY we ey 0
Analysis

(1) The rules of ()s—eg=s) apply to the hamzah while the
rules of (casliz—») apply to the doubled letters ((rm—s\>is).

At the time of conflict, the rules of (casliz—=) will be given
preference.

(2) In the word (}34), the rule of (:j;) was not applied.
Rather the rule of (lil;) was given preference.
(3) After applying (pL—>]) to the word (%T), the rule of

(éb\}f) was applied whereby the hamzah changed to (). It

$s¢f

becomes (¢ 9)).

. Bo S0 - s d.s5as s 3. 4.

Sy oYl 35350 ggd 13535 3y 530y 468 15530 )

a/o$ ¢
S 29
£

SMse 0I5 35 ae 3 ) Ss;‘yi}fyi’;ywa@\)

S0 - o0 w0 B B - fﬁ/ & .. [ 3. -
J\.&J‘jﬁ Olalds 3l J\jﬁ OUJ‘}A 03 90 J‘j.ﬂ dbj.ﬂ JJAM:\.SYU
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@y e gl ST 5 0755 035 35T e il il

q:.")\gbj 9 ’.;Sj QL.{J)
Analysis
(1) The rules of (caslie— ) apply to the doubled letters
({—=e) while the rules of (J—IM) apply to the (9). At the

time of conflict, the rules of (casla—») will be given

preference.

(2) In the word (3}6), the rule of (J:u) required the (9) to be
changed to (¢$) while the rule of (caslizs) requires the

transferring of the harakah of the first (3) to the (9). The latter

has been given preference.

If there is a (05 L Os ) in one word followed any of the
letters of (O s—\s ») in another word, (pl—=>]) will be applied

to the (oS L O 8).
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Examples
(& &), (B, (£ o), () STe) and
(53 :;i \>JL5). (The tanwin is a niin sakin in reality).

If the letters are in one word, (#l—>}) will not apply, e.g.

(B3), (0500).

The (J) of the definite article (J\) becomes assimilated in
the (Aews® 2 9 ), €.8. (Lol ).
The (™ 24 ) are:

OWdbb 2 epriidrdo
It is not assimilated in the remaining letters of the

alphabet, e.g. ( 41’y

The remaining letters are called (& o8 2 3 >).

Exercise 52

(1) Conjugate the following verbs in detail:

e
A\

oA 2 ()
Je: B ()

L)

Syl (9)

°

34 (0)
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Special Meanings of Each (-l

o Y Slsls

The (4.o\>) refers to the extra meaning of a verb besides its
literal meaning, e.g. (/C;;T) means to expel. The verb is

transitive. Here (4.2\>) refers to the latter meaning, namely that

of being transitive.
The vastness of the Arabic language can be estimated from the

(&lwel>) due to the fact that one verb can have so many
different shades of meaning merely by using the verb in different

categories (<! y,T).
The (4me\>) of (2l <L)

(2\;3\-;1) — to mention a verb after (dslas L) to show that one

2% - - 7

object overpowers another, e.g. (4iaa><? ‘_};i)\ soe\>) — The

man disputed with me and I overcame him in the dispute.
The (40\) of (< y2 L)

The (42\>) of this category is also (@L;;) on condition it is

either (J1s), (Jb & s> or (b 3.

Example:
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-
}55 PN

(Sde 52 3«#; 253:\/9‘}) — I and Rashid made a mutual promise

and I was predominant in the promise.

The (-0\) of (& <)

This (<L) most often has verbs which have the meaning of

illnesses, grief, joy, colours, defects or physical forms, e.g. ((;-5-;)
— to become ill.

(O 5>) — to be grieved.

(/C ) — to become happy.

()4S) — to be blackish.

G j:c) — to be one-eyed.

(/Gb,/) — to have broad eyebrows.

This (<L) is mostly intransitive.
The (42\>) of (2 S <Y)

This (<L) is always intransitive. It refers to the natural qualities

of a person that are of a permanent nature or a temporary nature
achieved by experience.

Examples: (‘:'J:m;-) — to be handsome, (/C:B) — to be ugly,

(a2%) — to have understanding,
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The Derived Categories

The (i2>) of (Jé) L)

2R
(1) (A4x5) — to make an intransitive verb transitive and if it is
already transitive, to make it doubly transitive, e.g.

(J}J/) — to descend, (J}jf) — to send down;

(/C“/ﬂ) — to hear, (/C;:”T) — to make someone hear.

() (ZM) — to make the doer (_}¢B) or the object (J s=2)
obtain the root (,'\_,-.‘L,,) of the verbal noun ( )2«2») from which the
verb is formed, e.g. (;}12&5\ :"/5;:5«\/) — I provided the shoe with
shoelaces. The (-BL - root) is (3*;&) meaning shoelaces.

(3 - to bear fruit. The (4:Ls) is (;a5) meaning fruit.

(3) (L1 /%) — to take the object to the place of the noun (4Ls),
c.g (i‘;;.’/i) — I took it to the place of selling, that is the market.

The (d>-Ls) is (&)

“4) (U\:\-c‘r.‘ 9) — to find something described with the (JS;LA), e.g.
(4l%3T) — T found him to be stingy; (az+;S ) - I found him to be

noble; (ifl;;j) — I found him to be praiseworthy.
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(5) (45 CL) — to remove the (4> Ls) from something. This
is of two types:

[1] if the verb is intransitive, the (-1->'-L=) will be removed from

the doer e.g. (J;.-i,j\ L:M.ET) — the man removed oppression from
himself, that is, he was just.

[2] if the verb is transitive, the (-'b'—;b) will be removed from the

object e.g. (‘_};.-@,5\ :ﬂfc i:,_,.J\ST) —I removed dirt from the eye of

the man.

(6) (l;w‘ sbel) — the doer gives the object the (fb‘-‘b), e.g.

(:"- N wi) — I gave the dog a bone.
(7 (icj\é) _ the doer reaches the (4>=1s) or enters it, e.g. ( oo

P

J.;-jl\) — the man reached in the morning; (J;.-i.j\ S, — the

man reached Iraq.

(8) (5333;;0) — It has three meanings:

[1] to become the possessor of the (d=1ey, e.g. (5,4 e -

the cow became one with milk.
[2] the doer becomes the possessor of something that is described

by the (-BL), that is, it has the quality of the (fb‘-‘b), e.g. ( /u;:-f

J;r&)*) — the man became the owner of mangy'® camels.

" A skin disease affecting hairy animals that causes an itch.
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[3] the doer becomes the possessor of something in the place or
time of the (4=Ls), e.g. (B\fi».“ C_a.'e;;'-i) — the goat bore offspring

in the autumn season.

9 (8%1) — the doer becomes entitled to the (J\->'-‘L»), e.g.

R o ° s -0 £
(42 > 9;)) — Hind was entitled to be married.

(10) (35}?;;) — the doer reaches at the time of the (JS;LA), e.g.

(g);ﬁ :\;a-;-f) —the crop was ready to be harvested.

(11 (Z\}J\;;) — the meaning of the (-1->'-L=) is strengthened, either
by making the act more final or making it more intense and wider

in application, e.g. (J;ij\ ;«ﬁ) — the date palm bore much fruit;

()C:AJ\ “l) — the morning became very bright.

(12) (s193)) — the verb is initially used from (Jx3| U). This

can be of two types: either the verb is not used in its root form

sz

(> ), e.g. (JEZT) - to hasten; or the verb is used in the root form
but for another meaning, e.g. ([5.4':53) — to fear while the root form

(32%) means to be compassionate.

g

(13) (w‘/};) — to be synonymous with another verb, e.g.

-

(@oj 3 J;U\ L;;.-3) — both mean: the night spread.

-
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R -
- s 2 . . .
(14) (& jUG-ﬁ) — to mention a verb after another verb to indicate

the fact that the object has accepted the effect of the doer, e.g.
-, oz,/ 2 %o [

(sl 45 .25) — T gave him glad tidings so he became happy.

(15) (&mw) - making a relationship of something to the (4=Ls),

e.g. (‘_};.-35* :DJ-L{T) — I made a relationship of disbelief to the

man.

(16) (?‘:’JD — to make a transitive verb intransitive, e.g.
() I Xe>) - Salim praised Allah. (WU 365) - Salim was

praiseworthy.

The (<o) of (Je2&i L)
(1) (4a3) — Example: (J;.-jj\ Lvikjé) - I made the man sit.

(2) (&hw) — Example: (45 L)) :D;MB) - I removed the peel of
the fruit.

(3) (=) — Example: (;iﬂﬂ\ L;>=§) — He placed spices in the
pot.

4) (8 39 ) — Example: (;;.:':J\ ;;f) — The tree bloomed.
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(5) (¢ sb) — Example: (ool b T 55%) — The students
reached the depths of knowledge.

=
P

(("35') — He came into the tent.

(6) (4%\w) — This is of three types:

Intensity in the verb, e.g. (i:-«lﬁ\ JS;) — The student roamed a
lot.

Intensity in the doer, e.g. (Ja,\)* C_j;;) — Many camels died.
Intensity in the object, e.g. (;)\}?U\ «2l&) — She locked many

doors.

(7) (4wd) — Example: (J.;-i.j\ i:,.ii-«é) — I made a relationship of
transgression to the man.
(8) (:y@!) — to make something don the (-1->'~L=), e.g.

(4 &AU5) — 1 draped the horse with a horse cloth.?

-
Y

(9) (A% — to join the (=L to something, e.g. ( <>

;,h-:i«J\) — T applied gold to the sword.

(10) (J-Z };:5) — to make something into the (-1->'-L=) or similar to

the (-1->'~L=), e.g. (J;.-i.j\ ;:af) — He converted the man into a

" A cloth used to cover animals to protect them from the cold.

Page 312



Christian; (;\3]\ iﬁ«;—) — I made the sheet like a tent.

(1D (;43) — to abbreviate a sentence and express it by means of
a single verb, e.g. (J-Us) — to say ‘La ilaha illallah’; (/Cf:w) - to
say ‘Subhanallah’.

g

(12) (Z\B‘};) — to have a similar meaning as (> ,2), (J3] <L)

and (=& L),

Examples: (4 5 3 :\fiif) — I gave him a date.

(315 J25) — The date dried out.

=
g [ -

(5 u»if) — He used the shield.

(13) (s)4u)) — Example: (i.:i.lf ) — I spoke to him. This meaning
1S new in (M <L) because the (> ,5) of the verb means to

injure.

The (<L) of (Uslie V)

@)) (2\5 3\.::.2) — the relation or application of the act to another

person, e.g. (:.,sz) — to write; (:.,,5\5) — to write to someone, that

is, to correspond.

R s

() (w‘}:) — to have the same meaning as (3 =), (J=] OU),
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(I b and (Jerss ).

Examples: (;.é:» 9 /}L:») — He travelled.

z
}55 - 08

(Fdm] f\ﬁ./cb_/) — I distanced him.
NN (X GU;ZJ\ {.5 L&) — The two men abused one another.
(&inis y ¢ od) e Us) — T doubled the thing.
so o o T AT
(3) Ced) — e.g. (bl 13 Al Ellax ) &) LLle) — May Allah

grant you well-being.

(4) (s1451) — e.g. (30201 o0 L) — He bore this hardship. The

(> /) which is (5}1«3) means to be hard-hearted.
The (&) of (Jd] L)

(1) (5\351) — This is of four types.
(a) to make the (JS;LA), e.g. (;;af;.-l) — He made a hole.

(b) to hold, take or choose the (JS;LA), e.g. (Ll::-i) — He held
the side. /

(c) to make the object into the (-1->'-L=), e.g. (g\.fi..!\ gg:L::éi) -
He made the sheep into food. /

(d) to hold the object in the (1>1s), e.g. (tX2%]) — He held it

in his armpit.
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2) (U;ﬁ) — to attempt to achieve an act, e.g. (;;mfﬂ) — He

attempted to earn wealth.

Q) (3-:-:;3) — to do an act for oneself, e.g. (w2l J&S)) — He

measured the barley for himself.

4 (:\3}\-‘9-2) — Example: (;3.'9\3 f\fi..;_é«) — I made him grieve, so
he began grieving.

(5) (w‘/};) — Examples: (/GL? 3 /clf:\) — It became bright.

P - I

(};.;;T) >1) — He entered Hijaz.
(gsg/; 3 $25)]) — He donned the sheet.

(=] 9 OU;-jJ\ {’-:a;—l) — The two men disputed among

themselves.

9
s £0

(>Zul s “>%1) — He sought a rental.

(6) (V1)) — This is of two types.
(a) there is no (> =), e.g. (6L:Jl) — to slaughter a hungry goat.
(b) the (> ,=) has a different meaning, e.g. (;.JELD — He

kissed the stone, ((,_Ll) — He was safe.
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The (&2>) of (Jad] S

(1) (337 — to be intransitive, e.g. (;-S3) - It broke.

2) (&3’\9) — to perceive something with the senses, that is, the

acts are related to the external limbs.

3) (:\3/)\-’9-2) — Examples: (}:«-ﬁ\é i\foj;ﬂf) — I broke it, so it
broke.
GlEL LU

o0 £
B

c,_z.l.'cf) — I'locked the door and so it was locked.

4) (:\-55‘3;) — Example: (G>! (s*5. j=>]) - He reached Hijaz.

This meaning is seldom used.

(5) (') — Example: ((3U=5)) — He went away. (k) — to be

cheerful.

The (<o) of (JMed] L)

(1) (?}iﬁ) , (2\53\-;;), (OZJ) - colours and (t.g-:-;) — defects.
Examples: (i-;;-l) — It became very red.

(J5>1) — He became one-eyed.
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The (<o >) of (Ja&i <L)

L amt L
(1) (& )UM) — Example: (C)aw 4:&)4%) — I cut it into pieces and
so it became pieces.

e ~a/ S . .
2) (ullga) — to think or to represent oneself to have a certain

quality or status, e.g. (;:mz) — He represented himself as having

patience.

3) (;.ﬁ/zé) — to refrain from the (J\.>'-‘L»), e.g. (U}v) - He

refrained from sin.

4 (:,-;3) —to don the (-1->'-L=), e.g. ((;_f_;,j) — He wore a ring.
(5) () — Example: (-,205) - He used the oil.

(6) (5\351) — This is of four types.
(a) to make the (JS;LA), e.g. (}c:«-j;d/) — I made the tent.

(b) to hold, take or choose the (JS;LA), e.g. (:.,jm/.:) — He held
the side.

(c) To make the object into the (JS;LA), e.g. (;;.L;j\ :\i‘/jf) -
He used the stone as a pillow. )

(d) To hold the object in the (4=(s), e.g. (;;ias\ 1G) - He
held the child in his armpit. /
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@) (%: )1\5) — to do an act slowly and several times. This is then

of two types.
(a) It is possible to achieve the act once but the doer does it

slowly, e.g. (/ti;.d/) — He drank in sips.

(b) It is not generally possible to achieve the act once, e.g.

Lo - @

(0T A k45 — He memorized the Qur'an a little at a
time.
®) (Jw}/nf) — to become the (-1->'-L=) or similar to the (,'\_,;‘L,,)’
e.g. (;:42/5) — He became a Christian; (/Pwé j:) — He became like the
ocean.
9) (s}oj};ﬁ) — Example: (J;-;f) — He became wealthy.

R

(10) (w‘/}:) — to have the same meaning as the (335.), ( <L

Js)) and (Jrizs! OUL). Examples: (J‘} 9 L}fﬂ) — He accepted.

®

~¢) — He remained awake.

Z
//OT -
s 0 0

(T /C;;J) — He sought a need.

(11) (s'4!) — This is of two types. Either there is no (> ,£) or
there is a (> ;) but it has a different meaning.

Examples: (:Jm-i-:if) — He stood in the sun.

((;-Kf) — He spoke. ((;-15 ) — to injure.
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The (&lwel) of (JSW SU)

(1) (B)Lad) — This is similar to (3 ,Liw) of (delis o).
However, the difference between the two is that in (Z\lﬁuﬁ <),
one is mentioned as the doer (J&U) while the other is mentioned

as the object (J s=4s) while in (JsW <L), both are mentioned
as doers but in reality each one is the doer as well as the object,
e.g. (QL;-O} } OL;q; ?Cﬁ) — Rayhéan and Farhin abused each
other.

2R
2) (M) — to simulate a state or status or representing oneself

to have it, e.g. (Zj'p;\-;f) — He pretended to be sick.

3) (:\:9/)\59;) — Example: (:\-/9\-;5-'9 f\fﬁx},\_}) — I distanced him so he
was at a distance.

g

(4) (481 38) - Examples: (e 528, (JI&) - to be high;

(&;-;-’ji o= o4l — to enter the right side.

(5) (o)) — Example: (41) — Allah is most blessed.

(33;:,/) — The camel sat.
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The (<) of (Jlrdiw) SUb)

(1) (&lb) — To seek the (dxle), e.g. (1 &7 ZEL)) — T sought

forgiveness from Allah.

(2) @B 5 Bl 1o be entitled to the (4lr), e.g. (3372

;}ﬂ‘) — The clothing was entitled to a patch.

(3) (38 3\an) — (48 y\as) — Example: (i 4a3l) — T made him

stand, so he stood up.
(4) (U145 9) — Example: (2 S&w]) — 1 found him to be noble.

5) (O\.:...‘r) — to regard something as being described by the

(4L, e.g. (AZ3Zu)) — T thought him to be good.

The difference between (&1 9) and (Olow>) is that there is

certainty in the former and doubt in the latter.
* 6«' s oz . £
(6) (J ) — to become the (A> ) or to become similar to the

(4;&), e.g. (:}Zla-!\ ;;o;ﬂi) — The mud became a stone.

(7) (36)) - Example: (41 L%2) — He made India his

homeland.
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(8) (Mf‘é) — to abbreviate a phrase, e.g. (/C;J:MD —to say (4l \fi

P

©) (JWd) 5 Jadi 5 Judl 5 3 £ B ) - Examples: ( :.ﬁ.mﬁ‘

-

i';)) — to settle down, (;JL;-T 9 ;)\;g, 2 D — to reply, ( ) G i

.

’,Kf) — to be arrogant, (V.f,affci P ("‘M‘”") — to resist a temptation.

# s 0 s ° oo f
(10) (s'a)) — Example: (53l sl Je 5> L)) — He leaned over
the pillow.

The (<o) of (Jlad) L)

A
(D (e j}‘) — This verb is mostly intransitive. Sometimes it can be

transitive, e.g. (5\525}1;1) — I regarded it as sweet.

(2) (3.55\.;2) — Example: (i,b;U‘ ;_a-:fv}:-“«;\) — The land became
full of grass.

3) (3\-/9/)\59;) — Example: (L;jfj\é :\-f;fj) — I wrapped it so it was
wrapped.

R P

(4) (488 8) — Example: (aal>Zu] 5 42 J5>)) — T thought it to be

sweet.
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The (&21) of (M) L)

Like (JM=3] <L), this category also has the following four

meaning patterns:
3393, @A), (O¢) and (=)
Examples: (@u\:@-&i) — It became very white.

(JV'5>]) — He became one-eyed.

The (<2 >) of (JV 3] L)
(1) (A&s) — Example: (53.1-;1) — He ran very fast.

This category is («w2irs PSY ), that is, a word which has no (J-saf)
origin nor something similar to the origin.

There are two differences between (—Lz23)) and (s)x)). It is a
condition for («Lz:3)) that it must not be used in (5,5 L57345)
For (¢)x)), this is not a condition. Secondly, it is a condition for

(<—L233)) to be free of letters of (B\4)) and extra letters brought

for a particular meaning ((sxed 515 2 ).

An example of a letter of (3-)) is the () of the verb (Jl-:-:'l)
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which was increased to bring this verb onto the scale of (:C/}-B).
An example of a letter of (L'QM-U L1y <2 >) is the hamzah of

(65‘) which was added to the verb to render it transitive.

L

The (S5 of (Alad SU)

This category has many meaning patterns some of which are:

(D) (3-:45) — Example: (J;:»J,/) — He recited ‘Bismillah... .
2) (&QD — Example: (i\;;é:.g/) — I made him don a burqa’.

(3) (& 3Uas) — Example: (i jaxs LI (37k%) — The night hid
his sight so it became hidden.

This category is used mostly as (c?w) and (casl2s) and

sometimes as () sog4), e.g. (J37), (:f/j:ﬂ/))-

The (<o) of (& <L)

-
PRI

(1) (@3\ad) — Example: (z >4 45753) ~ T rolled it so it

began rolling.

(2) (P\ad)) - Example: (_» »¢5) — He walked conceitedly.
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(3) (:\-55‘3;) — Example: (& (™. "»J%5) — He screamed.
The (S0%) of (J3und] L)

(1 (?}i’vj) — Example: ({’3.5/}-1) — to gather.

- -
A8~ oy

(2) (3&3as) — Example: ((=2asl &%) — I made his blood

flow and so it began flowing.

The (<o) of (JUxs] L)

(1) (?}iﬁ) — Example: (i&ﬁﬁl) — to shudder.

- z -
£ 800

(2) (&3\as) — Example: (0Lbb 43UL) — I pacified him so he

was calmed.

(3) (Sla:d) — Example: (;-;.cﬁ\ i-/@-ﬁ-ﬂ) — The star shone.
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Application of the Special Meanings

Quote 1:
(&;M}ij\ R.SJ:.; L}L}j ;5..5\.5\ ald i\.l.;r-“) — excerpt from ( J},pi
seLadh

Translation: “All praises are due to Allah who raised the status of
all the believers.”

Teacher: What special meaning of (J=8| —\) is found in the
verb (L;I}T/)?

Student: The meaning of (4:4«5) — to be transitive is found in this
verb because the (> ,5) of this verb is (/34-/9) which means to be

high. This is intransitive. When it was taken to (J| <U), it

became transitive, having the meaning of ‘raising’.

Quote 2:
(rﬂgﬂj f‘ /C; ‘*a:b: /CB}/) Jl-/h/) /,ff o :\ :'J.;L/Q 1318) — excerpt from
(5 gally

Translation: “When he sees the Ka’bah, he should say ‘Allahu
Akbar’ and ‘La-ilaha illallah’...”

Teacher: What special meaning of (JM <L) is found in the

verb (/jf/f) and (;}I;B)?

Student: The meaning of ( ,~22) — to abbreviate - is found in this

verb.
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Quote 3:
(2;:5\-;-; i e NN O1's) — excerpt from (s s-all)

Translation: “If he wants, he can give charity to six poor
persons...”

Teacher: What special meaning of (J;JJ <L) is found in the
verb (32228
Student: The meaning of (¢)4x)) is found in this verb because the

(> =) 1is (23-1:@) which means ‘to speak the truth’.
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Challenging Words

A few difficult verbs of the Holy Qur’an and other verbs will be
mentioned here because the purpose of learning morphology and
syntax is to understand the meaning of the glorious Qur’an. An
explanation of these verbs generally refreshes one’s knowledge
of morphology.

The verbs will be written according to their pronunciation and
not according to their Qur’anic script so that the student can
exercise his mind in trying to figure out the original word. In the
analysis, the correct written form of the word will be provided.

2 _-
p7
o Lw,

O gau

Analysis: This is the imperative ( J-AT) of the verb (63 9), the

(42) being (o= S ds o). The original word was ( O

2
%
o 0 L@

- &), from the (<L) of (JWs)). It was constructed from the

g

word (Z)}ggf) which was originally (Zﬁ};i%). The (4e2) of the
(¢$) was transferred to the preceding letter after deleting its
harakah. Due to (0SS L) &L«Jz-\), the () which was then
changed to ( 9) was deleted. Due to the entry of the (<), the ( 8 s
J«a}*) of (\}%_?D was deleted. The final () is not (<) &Y O &)
but (46 4| O $) which enters the end of a verb between the verb

and the (("&:‘A ) to protect it from receiving a ( Jmf ). It was
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originally (253}550). The (V'&:” &) was deleted and the (3 S)
of the (4B 4l O &) was sufficed upon. This occurs very often.

Due to a (43 3), the (8 ,~5 ) is also not pronounced. It becomes

(0581,

-

-
L0 A0,

NPy

Analysis: This is similar to (O}E.?\—é). The original word
was (153}—;3‘ ). It is the imperative of the verb (——=> ),

the (<L) being (&). It is written as (O}:ﬁz\é).

Most often confusion arises in verbs where (_239) or (e )
occurs, a (3B 4 O &) is added to the end of the word and (a3 s)
is made on the (O ¢) after deleting the (("&:‘A $). The student is
perplexed to find a (<) ,£Y! O ) in spite of (Cads) or (2 )

whereas the (O §)is (&G4l O 5).

Similarly, a verb can sound confusing when the (J-sa jj\ 6 ) is

deleted from the middle of a sentence, especially when a student
is asked to identify the verb by joining the words and reading

z
o SGE

them to him, e.g. in the verse (25"”3‘ el :faﬂ\ LelL) to
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f

read it as (;le?j), in (\Bi\:}«\ &Lﬁ\ &I0), to read the verb as

o 8 S 8 o 2

(942), In (Juo.-bj\ J:;)’ to read the verb as (};9.-35) and in ( L;

O}i:.—oj\), to read the verb as (O};z-oj,).

When (\-;) or (:Y) enter the perfect tense of those verbs having
(‘_}-sa jj‘ 5 ;*), the alifs of the (L;) and (:Y) are also not pronounced
just as the (‘_}-sa jj\ 5 ;) is not pronounced. The verbs therefore
sound confusing when read as (;m‘/:;.:;), (;)/a_/i;), (;;,,_/5_25/) and
6 )}fim;). This confusion is intensified in (J\&) U) because
the entry of (V) creates the word (:;,5/) while the entry of (L)
creates the word (Z,;). The same rule applies to the word
(quJN) Besides being the (Sl x&) of (U s2all susl) from
(B}t-), it can also be (Sl &J 5 &), the tense being ( L
o236 Jse2 o2 from (Jlassi] L),

Similarly, the word (L;.’}i:a;) is from (Jlems) L),

be/ .’u,/

o £ ,/
Analysis: It was originally (o=),1518), the word-form being ( &

ol Sk, the tense (il (24 2l L;Xp\l*). It is () soge
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,ﬂ o . &
(BU*) from (bl &L). It was ((’Jbb‘)' Due to the entry of the

(<), the (e 5l 5 3) is deleted.

‘° ‘ﬂ. .‘.’S

Analysis: This verb is (<56 S ds &), the tense being ( iy

il O g ally from (i) ©U). The (J) of emphasis entered

the verb, thereby deleting the (o5l & ;).

Analysis: Due to the entry of (plgaz—wY! 8 <), the ( 6 —"
j — o) was deleted. The original word was (o an )
from (Jml <L),

Oy s

Analysis: This was originally (O}jiw). It is ( S 4= =
—>\>), the tense being (<2 g —=» ¢ sLa—). One (<) was

deleted according to the rule of (JsW& b).
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Analysis: This is from the verb (;Ju), (E— % >
&), the tense being (< 9 —=s HT). Ttis (L&)l j4 wge
S 23U 9). Due to the (9), the (J) became (S L),

After (), it is compulsory (\—:y.-j) to make the (J—A;\!\ )]

sakin. The compulsion is due to excessive usage. After

(<®), it is permissible to do so (*3*;:.—),

° -
WO

A

Analysis: This verb is from (Jus) L), Tt is (S s J>)4
SL8), the tense being (ke 39 s ¢ ,Lze). It was originally
(Lsu?f:). Due to the jussive mood ((};r‘ d>), the (¢$) at the end is
deleted. A pronoun ( s+2) was then attached to the verb which
created the scale of (J:-';) - (455/). Therefore the (&) became
(Qf L) as the Arabs tend to make the scale of (:}x;) into (:};;) as

in (i,'a:f). It is pronounced (i,'a;f).
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° °

‘*f-v

—wm

Analysis: This is the imperative (/Coj) of (Jé) U, the word-
form being (2> S ds J>|4). The pronoun was added to the
end of the verb making it (4.>.-°j). In the Qur’an, after this word,
the words (;\.;'-T/}) appear. Therefore the form of (;}:-5) - (}@-z-)
was formed, similar to (;M). The Arabs make the middle letter of
such scales also (Qf L+). Consequently, the (¢) became (Qf Le).

It becomes (:b.-oj).

Analysis: This verb is similar to (\};J), the word-form being
(S S &) of the verb (6:2/9). The tense is ( _o>W
3 9 ,2l)). It was succeeded by a (_ales)l <2 > sl ). The rule of

assimilation ((L'cs\) was applied. Therefore it became

(57 Vsoae).

& s g

L'J.A.)

=W

Analysis: The verb is (:';«5/) with (QT) attached to it. The word-

Page 332



form is ((Jg:x CA.\) while the tense is (<2 I L ,L2»). Because
of (dT) it is in the accusative case (—wadl Jl>). It is from ( <L

=) like (1:). Assimilation of both the niins has taken place.

o Fs S

=

Analysis: The verb is (Z;QU), the word-from being ( < §» &=
2\>), the tense being (<uill 3 g 2l Lsip\l\). It is from ( <L

23) like (Z,;l}). The (4Bl O4) and (r&h $) have been
attached to the end.

\
EAN
ISEN

\ h—

(‘1‘,2\
NS

Analysis: From the verb (1)), this is the (2= &g d>9)
word-form with the tense being (Cuie 29 ,xe ¢ Slze), Tt is
(;;?L"’ 236 9 () seg). Tt was originally (2,;;5). Due to the
(A& J ), the (q‘,d\ O ) was deleted. The (($), not being a

(84), was rendered a (5 S ).
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Analysis: From the verb (gs;_f), this is the ( S J—s 14

2>) word-form while the tense is ( <29 =l Lau. 1) &
& =) A (plet—N 5 ;—) and (&) have been attached

before the verb, changing it into the jussive mood ( i—Jl>

e

Analysis: This is the (JsW! o) of the verb (), from the
(< 2 <L), It was originally (;';;5\3). Changes occurred in the

word just as in (;'J-ZAB).
A second possibility is that it could be the imperative of

(LQ/L%-; L;\-g) from (i—slis L), the word-form being ( o
Pl L D)

It could also be (2> i §s d>19) of the same (<L), A (O s
&L jj‘) and (V_K:,a $) are attached to the end of the word. The

(("K‘"ﬁ ) was deleted and the (8 ) of the (MG ol O &) was
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deleted due to (22 9).

The verb is not difficult to distinguish but sometimes when a
word has a similar form in another language, confusion can arise.
This word means carpet in Urdu and Persian and could perhaps
cause confusion.

Analysis: This verb was originally (:;-\5%;) from (Jll L),
the word-form being (<5& S J» J4>|4) and the tense ( ¢ ol

236 2 4 =e). The rule of (Jx3l L) has been applied to it.

Analysis: From (Jl ©U), it was originally (oji«aou), the
word-form being (<5 S s &) and the tense ( ¢ Hlze

3 9 ,=4). The rule of (J=x3 L) has been applied to it.
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Analysis: It is (<5 S Je d>149) from (J! L), the tense
being (<2 9 =l _>UN). It was originally ((S33)). The rule of

(Jleil ©L) has been applied to it.

-
02 d .

PENE

Analysis: From (Jlxl ©U), it is (—ol> Sds x2), the

tense being (<2 3 2 ¢ L), It was originally (O}jxfi\f).

R, 08

35

Analysis: This is the verbal noun ( e yAa—s) of ( <L—

JL_x3l), originally being (—=3»). It can also be the ( —!

gl or (S B)) o).
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Analysis: From (Jdl ©U), this is the (<5 Sde d>l9)
word-form, the tense being (aslall J sg= L;Jo\l\). It was
originally (ﬁ);ia; :,;-;) The (- ol 8 3*) was deleted because of
the precedence of the (<2). The (O ) of the word (Z,;) was
rendered a (5 S ) according to the rule ( 33?;- Si;- 13 Sl

~SJU). The (<) of (Jlxil) was changed to ().

o Jo )o' -
) 2

-

Analysis: This was ((”,_f; J)}Aj'&\)\;). From (Jl &U), this is the
(o> S &) word-form, the tense being ( J sg=) L;Jp\l\
caelall). The (Jos) 3 was deleted because of the
precedence of the (L). The (<) of the (L) is not pronounced

due to (oS L) t\.«::.—\),
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\‘oj-}p’b/.

Analysis: It was originally (\}2%1@). It is (<Sl& Sds &)
from the (Jizsl L), the tense being (<23 2l LS«b\.U).The

(<) of (Jézwl) was deleted.

Analysis: It was originally (ack;«f) from (JL&éJm\ <L). The

(<) of (Jézwl) was deleted.

- -
z

Z ,0 /8

Analysis: It was originally (W) on the scale of (:;,.1;«5-3) with
(A O g). It is ((,_K:.A &) from (c:é <L), Sometimes the

(>t O ¢) is written in the form of tanwin.

or

&

Analysis: It was originally (:5_&-:5) like (25_,»;5), from ( «l—

< —=). It is permissible to delete the (($) from the end of a
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word that is (_,23U).

z oo
o 80 & S o .,

Analysis: This was originally (P.fj;) like (;.ﬂ;;). When a
pronoun is added to (;’5}), an extra (9) is first added to the verb
after the (¢). This rule applies to (;'f), (;'-fi) and (;._}( ) when
suffixed by a ().

Sometimes a (45 L ($) is suffixed to a verb that is ( &5 5o J>) g
>\>) when a pronoun is attached to it, e.g. the words of a

-

hadith, (45255 4303 ),

2 °

L;D);}?'U“

R\

Analysis: The verb is (éj'lj) from (JWdl L), A (plgiza ) 8 32)
is prefixed to the verb and the pronoun (l») is suffixed to it.
Subsequently a second pronoun (;5 ) is attached to the verb,

thereby requiring a (9) and making the (p ye24 #).
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Analysis: This is like the verb (\-f.oé-?'-), the word-form being ( &
V_K:.ﬂ) and the tense (<2 3 =l L;Jo\l\). The question that arises
here is that the (¢ ,L2») of this verb is used (Cn) ¢ see22) in the
Qur’an. Consequently, the (L;Ja\l\) supposed to be (LZ;) like

(Ld3) because the word-form is ( 22 ). The scholars of tafsir

have answered this objection by stating that this verb is used both

on the scale of (ng Ct‘) and (~22 ). In the Qur’an, the

(2 W) is used from (x* L) and the (§ Hlias) from (-25).

o - - 0

Analysis: The verb is (Cﬁ:m;@\;) from (Jlxs) L), the word-
form being (Sl &S5 J>l9) and the tense ( gs‘"m
g, The (Jos)) 8 was deleted because of the
precedence of the (<2). Because the () is succeeded by a (<), it

is pronounced as a (@)
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Analysis: This verb was originally (ZJ‘:'“:’) from (JM <L),

The final doubled letter was changed to a (Zlaj\ ) ). The
Arabs often do this.

5)).,

Analysis: It was originally (;-;U,B-;) from (C&“ <L). The word-

form is (o> S s &) and the tense is (<29 2l Ls«'a\l\).
Sometimes the Arabs delete one of the doubled letters. In this

case, the first (J) was deleted. Sometimes it is pronounced

(;»fl}é-%) after transferring the harakah of the first (J) to the ().

Analysis: According to some scholars, this verb was originally
(OS}SL). According to the previously mentioned rule, the first ()
was deleted after transferring its harakah. No need remained for

the (J«o ) 3;®). Therefore it was deleted. The word (O:E)

remains.
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¥

&

Analysis: This is the (,2l> &35 J>l9) of (Jn,; J;) from the

(& 2 <L), Itis (aslias). It was originally (ZSUSL). The rule

T s

of assimilation applies. Similar to this is the word (255-3).

Analysis: First Possibility: It is the (¢ ,L2s) of (O5) in the

accusative case (! dl>),

Second Possibility: It is ( i) < 9 2 g oles e S &
3 9 40) of (< w2 <L) It was originally (O'sS s2). The rule of
(fbu:) first applies to delete the ( 9). Then the rules of (}}th:) and

(y's2) apply to change it to (O'5S0).

Third Possibility: It is ( i) gl ool (5 Eoge ma
S 9 ,24) from ((if). Its paradigm of the perfect tense ( g;bu*

2 9 ,2l0) is as follows:
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@K S SRR

\;f\é”)

Analysis: First Possibility: Besides the common verb (\}5}\;) from
(= L), this is made up of two words (é}) and (\Sj). The
former is (3 9 o il 3 9 2l L;Jo\l\ S Sk d> ) from
(< »2) while the latter is ( i g all WY} ol STe aa

O 9 24) from (cf“ <L),

Second Possibility: The verb is (;J}-%}). Itis ( oSl S -
Bohe adl gl L;«b\i\) from the (x> L), It was
originally (\Sj};}). The rule of (J s22) was applied whereby the
harakah of the (9) was transferred to the (&) and the (9) was

changed to (_&J1). It became (V' s).

P

LYty

Analysis: From (Jtx3] U, this is (o2l e S a5

24 ,2l)), the verbal noun being (135" SN, It was originally
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(7SN like (W& 5l). The rule of (J &) was applied. The
(‘_}-sa 4 3;) was subsequently deleted due to the subsequent

letter being (3 ~=). It became (\5\5\5).

- 0o

Analysis: This is from the verb (;-uf L5;/)) from the (< 2 <L).

It is (89,20 Cadl Lol s &=). The paradigm of the

imperative is as follows:

(o br o V5n e )

o fo o

I =

Analysis: This is from the verb ();23/ & o). Ttis ( r.l.(.» &
gsﬂi PEL HE PRy C)L.'a-n). It was originally (:;::45). The rule

of (+#<) was applied and the (($) was changed to ( 9).

0 8

Lﬁ))‘)

Analysis: This is from the verb (Z;Ji'\; ¢533). It is ( ;-3»» &=
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Jelall o—1). It was originally (O};\S). The rule of () was
applied and the (¢$) was changed to (9). One () was then
deleted. It became (d}jﬁ). When (4L>)) was applied to the

pronoun (), the (O) was deleted.

\

* C‘-&\\

Analysis: From the verb (Z; ):; g};), this is the verbal noun in
the singular form. It is (O 9 20 ad)) from the (.2 <L), It
was originally (\533). The (3) was changed to (¢$) and

assimilated. It became (\;;).

(ERYO

Analysis: First Possibility: It is the imperative ( JﬁT) of (Jt»), the

word-form being ( .2\ ; e Ca’.‘) with a pronoun (\5) attached

to it.

Second Possibility: It is from the verb (;Uw; W), Tt s ( &=

Sy pa3l 2y Al oWl IS,
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o ¥ -

Lo

Analysis: This is the imperative ( J.»T) of (;Ca), the word-form
being (2> Cige JA>9) of (dslas L), It was originally

(Z;J,L:a). The rule of (#£2]) was applied.

e

Analysis: From the (JD=3] &), this is the (<5 S ds d>|4),
It was originally (& s2)) like (5223)).The rule of (J s&) was
applied. It becomes (ﬁu;\;a*) The (o5 ) is deleted. It

becomes (q;\-:b).

-

-~

Analysis: This was (&) o), from the (7 ). It is ( 4>

Sb 2y ol gage é & L;ALJ\ (.-&:»). The rule of (J1)
was applied. Due to the (4> e), the (o)l 3 >) is deleted

from the end. It becomes (;aj ;J). Subsequently, the rule of
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(J s22) is applied and the hamzas are deleted. It becomes (}:J).

Analysis: From the (JMs3)), this is ( e2W S Se a1y
Bg,ae i) By all) It was originally (J53s) like (345 ).
The rule of (J&) is first applied whereby the ( 9) changes to

(qd\) and then the rule of (3lxw) to change the ( 9) to (8).

—n

-]
ola
£

Analysis: From the (=t &\, this is ( J.»T ol STde dly

crelan 3 2 2l 24 20, Tt is like (1);3}).

°

5

-

Analysis: This is the ( 3,5 £b, 9,2 ol ol S dsly
O 9 20 Cind)) from the (led L), It was originally (is J;;f) like

(}G }-35) The rule of (<) was first applied, followed by
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deleting the (<) when constructing the imperative ( J-AT). The

(dda)l 3 ;>) was finally deleted from the end. It becomes ( +&).

Bé\

Analysis: From the (& <L), this is the ( ol ol S dsl g
09,40 (il (29,20) the verb being (gs}i; ;Sjj) It was
originally (}Si) like (:fo—i) The harakah of the ( 9) is transferred
to the (J) and the ( 9) is changed to (Qd\). The (J-sajj\ 5 ;) is

no more required. It becomes (Y).

C.i\
N

Analysis: From the (<« ~> <), this is the ( <S5 Eige &=
Sk Jf-j) Wl 5 gage 29 2l L“;Jo\l\), the verb being ( :;—;LE ol
G, 1t was originally (&;D like (:J;-z). The rule of (ples)) is

applied. It becomes (O)). The paradigm of (<29 21 ~>U) is as
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ol o

Analysis: From the (< > <L), this is the ( t)\-»ﬁz&\ (..lﬁ".» -

Caslias (24 all), the verb being (OL Of). Tt was originally
(:,JU) like (; 25). The rule of (ple3)) is applied to the (). It

becomes (OL). Then (&b & Q) is inserted before the verb ( Ol

R

OU). The rule of (pLe3]) is again applied because the two niins are

adjacent to each other while the final nlin becomes (< sg2is). It
becomes (O} O)).

s
- -

Analysis: Tt is ( Lo SLy Soall ol Csle STl usi g
ol segs) from (UM=d] L), The verb is (ﬁu;\-:a\) like
(2;1'231). The harakah of the hamzah is transferred to the

preceding letter while the (25! &) is deleted. It becomes

P
[

(< _2).
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-

OLT

Analysis: This is the (&) jsege Joz2dd) ol Sde 4:5) from
(= <L), It was originally (OULZel). The rule of () is

applied and the end is read as sakin due to (22 ).

Analysis: This word was originally (;,.:,QS), There were three
sins together which caused the word to become heavy in

pronunciation. Therefore the third (_~) was changed to ($)

which then changed to (_)\). The same rule applies to the word

(L;Jzif) which was originally (:J.'a-fﬁzif).

L -
oW, - 0
. - 5

Analysis: This word was originally (:;.:,..E;), The third (_») was
changed to () which then changed to (<)) due to the rule of
(JB). When (4 ;> (l) entered the verb, the (dal 2 >) was

deleted from the end. A (¢) was added for (22 3).
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P

Analysis: It is ( owdl  goge 29 2l w'p\l\ e Sde aw)
from (JM* <L), The verb is (! Jms) like (U< Fs) The

harakah of the hamzah is transferred to the preceding letter while

the (= 5! 3 ) is deleted. It becomes (1,05,

.

Analysis: It is ( 0w sege J 5¢=) Ls,,'pU.\ I ST Ay

Sb =8l y) from (JM\ <L). The verb is (@wkf f) like
(V-/>.=3 ,>-\). The harakah of the hamzah is transferred to the
preceding letter while the (J,; jﬂ 5 ) is deleted. Waqf is made

at the end. It becomes (;:.Jf).

SU

Analysis: It is ( L..SJU u,a_gb dj)&l\ L;pLL\ g_,j\.c ;.Lo .X:—U)

from (ielis L), The verb was (JUC). The rule of (g/;i\-f) was
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applied to change it to (65\5).

S )2

-

Analysis: Tt is ( Sb 28 gl LUl Csle STde usly
Sl s>Ls) from (dd=2 L). The verb was (;;)3). The rule

of (JB) was applied to change it to (;533).

Analysis: Tt is ( $5lg Sl Dyme ol ol Cise uxly)
from (,~2 —U). The paradigm of this verb is (Ys+ Jses JU5).
The paradigm of the ( J-AT) is as follows:

-
o0& o 4o & 0,40 &

CER R PN

2 0 2

C)j&,{

S -
Analysis: Besides the common verb (& sz <), there is a

second possibility. It could be ( cied) 39 2Ll S V.&:» NeS
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o Lo 8

& 5,42 from (» 5 <L). The paradigm of this verb is ( ye oz

\y2). The paradigm of the (2 5 2l G«b\l\) is as follows:

s}/s;s}/L;jo;// 5}//,5}/[-:/}/0 /}/‘c}/\/}//}/
(UJ‘“"(’"}"‘" el O geg O god Ugoy &g ) g | g 0o
-0 8 - & 5}/.&}5}/ s B0 &~

Lo & gos (f 5o Lo 5a)

2o o4

Analysis: This is the ( <2 s> 25 2l oW Csle i a1y
& 9 3) from the (Jx] L), It was originally (:3;},:). A (¢) was
added between the first and second letter against the rule ( <2

o).

Page 353



Appendix A

Morphology or Etymology?

What is the subject of (<2 2l »—#) called in English? Is it

Morphology or Etymology? Firstly, let us examine the
definitions of both these terms in the light of contemporary
works.

The following definition of Morphology appears in “The
Oxford Companion to the English Language”.

“In linguistics, the study of the structure of words as
opposed to syntax, the study of the arrangement of words
in the higher units of phrases, clauses, and sentences. The
two major branches are inflectional morphology (the study
of inflections) and lexical morphology (the study of word-
formation).” 21

The following has been mentioned under the term,
‘syntax’:

“The ways in which components of words are combined
into words are studied in morphology, and syntax and
morphology together are generally regarded as the major
constituents of grammar, although in one of its uses,
grammar is strictly synonymous with syntax and excludes
morphology.”22

We find the following definition in Websters Dictionary:

“2 a: a study and description of word-formation in a
language including inflection, derivation, and
compounding — distinguished from syntax.

B: the system of word-forming elements and processes in

! The Oxford Companion to the English Language, p. 670, 1992.
** Ibid, p. 1016.
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a language.” =

Encyclopaedia Britannica has the following definition:

“In philology, morphology 1is that branch of grammar
which examines the forms of words as well as the
principles of word-formation and inflection.” **

The following definition is found in the World Book:
“Morphology: the study of the formation and structure of
words.” »

As for Etymology, the following are some of the
definitions one may come across:

“Etymology: Both the study of the history of words and a
statement of the origin and history of a word, including
changes in its form and meaning.” *°

“...that branch of linguistic science which is devoted to
determining the origin of words.” 27

Websters Dictionary provides the following definition:

“The history, often including the pre-history of a linguistic
form (as a word or morpheme) as shown by tracing its
phonetic  graphic, and semantic development since its
earliest recorded occurrence in the language where it is
found, by tracing the course of its transmission from one
language to another by analysing it into the component
parts from which it was put together, by identifying its
cognates in other languages or by tracing it and its

Websters Third New International Dictionary, vol. 2, p. 1470,.
Encyclopaedia Britannica vol. 15 p. 818.
» World Book vol.18, p. 518, 1992.
The Oxford Companion to the English Language, p. 384, 1992.

Colliers Encyclopedia vol. 9 p. 378, 1971; Encyclopaedia
Britannica vol. 8 p. 804.
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cognates back to a common ancestral form in a recorded
2
or assumed ancestral language. 8

The World Book states:
“Etymology is the study of the origins and development of
words.” ¥

In Encyclopaedia Britannica, we find the following
definition:

“...that part of linguistics which is concerned with the
origin or derivation of words.” *°

The Students Encyclopedia states:

“... the study of the origins and history of words.™"!

The Universal Standard Encyclopedia has the following:
“... that branch of philology which deals with the origin
and derivation of words, and with the comparison of

words in different members of the same language

2
group.”3

Under the word, ‘morphology’ in Al-Mughni-Al-Akbar, an
English to Arabic dictionary, the meaning is given as ( r—lﬁ

® .2 1l) while under the entry ‘etymology’, the meaning

provided is (3LixaYy) le). ¥

In the An-Nafees English to Arabic Dictionary, under

28 Websters Third New International Dictionary, vol. 1, p. 782.

* World Book, vol. 18 p. 518.

Encyclopaedia Britannica, vol. 8 p. 804.

3! Students Encyclopaedia, vol. 6 p. 456, 1970.

32 Universal Standard Encyclopedia, vol. 8 p. 2930, 1956.

" Al-Mughni Al-Akbar, Hasan S. Karmi, p. 826 & p. 402, 1997.
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morphology, we find the term (<2 2l ~—s) while under

etymology, we find the term (L) ‘_)?AJ {.-Lf«).34

In the Hans Wehr Dictionary of Modern Written Arabic,
under the entry (<2 .2l v_ls«), we find the following:

“morphology (gram.).” 3

These definitions clearly indicate that Etymology deals
with the history of words whereas Morphology deals with
the subject of word-formation. Hence the most appropriate

term for (<2 e (,_l&) would be Morphology and not

Etymology as has been erroneously used in some books.

" An-Nafees, Madgi Wahbah, p. 868 & p. 381, 2000.
3 Hans Wehr Dictionary of Modern Written Arabic P.513, Third
Edition 1976.
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